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Instructions / }{dell/(Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l

(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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Alaie (Siyot) sl (Al A1 Ul sy Qs [t wea & ?
1. A2 Ys1A-L s122R g Y51l dlSs waL Gedu iy 9.
2. 3L 9514 A 5249 [Fean-u aviud digsimi >uddl wss stuall (Rock cut) i g1l €.

3. 4w 9151 yatltyu aedals uA (ambulatory) dew »idRuid visi (space divisions) 42U € % MaAH 3
ofley ugll la HlEd yart 53 .

A1 U diou [Aseu vaie sl

@: 2213 (B) WA 2 ¢4 3

(C) " 1244 3 (D) {2t 1 244 2

d21a8L (Theravada) olig AMER U Held 342 [Aydlson (Visuddhimagga) A thg 8lY gIRL
54l ugldi .......... vild QUAIHL AL,

(A) IR @-0:is

(C) wdda=s (D) Bua-il U4l s uwt Al

A1 U £y [Qanqysa [l a9 ?

(A) R[4 HEL 2 daR1dul AN s anang waRBa sy,

(B) Wil sl dAlaeayel aldlRs [l 241 23Ul 292441 51280 Uuire Mz JorRdl AU -
LIS H8 A $[A dRrenHi 24 69,

@i () (B)

(D) (A) 21 (B) s uat Al

uieug2 (Ambakut) 21 yull (Sukhi) vlawi .......... AHUSU, AN 6.
(A) 3wl (B) Aesicdldls (Chalcolithic)
@05 (Mesolithic) (D) ue UA0dldls (Middle paleolithic)

wdlldsifs (Pre-historic) sau eueid A1 WS sy (A a9 ?
@a20 A0 247 AAAls st Resu-l HS1aRL 524l S,
(B) &llm iz st s124l vid wdAlAsiRAs sou 2al Hadl .

(C) AR ueuell (gt aell uslai glrami 2udl ¢dl.

(D) Rt disil s Hiradizil 29 53 9.

A1 U4 56 A8 /Al uloy Ad AL €9 ?

Geawri (Excavation) gl

1. 8w - 2l

2. HigALL — ool (wl3din)

3. sl - g

4. 4R (Ropar) - AdAY

A2 U diou [Aseu vaie sl

(A)1,2 314 (B) 1AL 1, 2 41 3
(C) WA 2 241 3 @ 13214
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Which of the following statements is/are correct regarding Siyot Caves?
1. Siyot caves also referred as Kateshwar Buddhist Caves
2. These are the five rock cut caves located in Lakpat Taluka of Kutch district

3. The main cave has east facing sanctum, ambulatory and space divisions which suggests a Shiva
temple from the first or second century.

.1, 2and 3 (B) 2 and 3 only
(C) 1and 3 only (D) 1 and 2 only

The Visuddhimagga is the great treatise on Theravada Buddhist doctrine written by Buddhaghosa
in 5t century in

(A) India @si Lanka

(C) Thailand (D) None of the above

Which of the following statements is/are correct?
(A) Narsimha Mehta represented the Vaishnava Bhakti movement in Gujarat

(B) Premananda Bhatta may be considered as the greatest poet of Gujarat of all times on account
of the enormous variety of literacy themes and forms in his works

@soth (») and (B)
(D) Neither (A) nor (B)

Ambakut is a period site in Sukhi Valley
(A) Harappan (B) Chalcolithic
@ esolithic (D) Middle Paleolithic

Which of the following statements is correct regarding pre-historic art?
.Paleolithic and Mesolithic people practise painting

(B) Pre-historic art does not appear at the Bhimbetka caves

(C) Many figures regarding the solar system were painted

(D) The paintings depict the religious belief of the people

Which of the following pairs is/are correctly matched?

Excavation River/State

1. Harappa - Ravi

2. Mohenjadaro - Punjab (Pakistan)

3. Banwali - Rangoi

4. Ropar - Sutlej

(A)1,2,3and 4 (B) 1, 2 and 3 only
(C) 2and 3 only .1, 3 and 4 only

[ASP-1] n
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007.

008.

009.

010.

011.

012.

QA1 U4 s [l e ¢ ?

1. A - Hidst [Qleuglast opruani wvaid 9.

2. Al - Hig 5Ll Yo A ARAAHL HAUSIN g% A3 AP Sl

3. Al - Hig L AHIL Lld 245% UAAHL SldRaAHE 2ud 8,

4. A - Hig 5L HIERA L YAAAHL URAAR (Pachhtar) FUIIER i budA% vid [Rd .

[ U4 uloy [Aseu uwie 2.

(A) |2 1 244 2 (B) WA 3 ¢4 4 (C)HaA 1, 224 3 @:. 23214

dpornd-l [l (Tippani) e [dgl N2l WA s3/sn [ a8 ?
1. Rl gt e g adls nelld ©.
2. vuadi (originally) 21 deani 2eua-l sioll 2121 g1t [Ryeta wd sami 2udl dl,

3. ald, HLlHuRL (Marinara), a&:u§ , $H3, bl URL, 43U RURL (Pot drum), 223111, adusaly
ALY (percussion) ddl Sl 2 AL ded AL ASVUAAL UDAL 6.

4. 3 seusi viausHi Ansdl caus 3ol (3 21 A il 821adl 251 si2 3 % S8 a3 vinvan
8 dudl ¥,

{20 U4 diou [Asey uzig s2l.

(A) 1,2, 3214 @1 20113 (C)Wat 1, 3 %1 4 (D) WAt 2, 3 i 4

AN eaudRnH (Al A1 U 5y [A-y/sa (Al aca 69 ?

1. oSt 21 durit giRL A2d 24 anai-l das 9.

2. ‘5[A%R eaUAAH’ A Arlald equdyHL 2ucHsAL .

3. AxBl 5 GulAuel] Aganidl orndlni cunidr 54 ed.

A1 U4 wiou [dseu yie s2i.

(A) 1,24 3 (B) {1 2 41 3 @123 (D) WA 1 44 2

garil Wil (A2l A=l WA sy [Qeun/san [Qan-dl a8 ?

(A) 6.2{.-&5 Aw-Aldl ugl tlig Hs-l 2adml 2 ga-dl Hidl videdl Gevin (unearthed) $cumi
2 8,

(B) Ul BetaiHi thgell 2uainl 4R1adl »i(5a Mo (casket) Wi 484 €9,

@i (») au(B)

(D) (A) 22 (B) s um [

NIRRT ERI | DETRVE RE ) ERTRVEDTN TR TR e

1. d s s, Yad d4etes Aid-l N aldun 2192 uelid 53 9,

2. 012 [Qeix U d 2 H8IR1N AHRAULD G121 slitnul el gdl.

3. agiet vl dgdl [Qenn Hda 2 §+=51 A34+s (Indo-Saracenic) Yri:uads (revival) Aclui viiacumi
UL Sl

A0 U4 diou [Asey vaie s2i.

(A) WA 2 244 3 (B) HA 11 3 (C) Wiat 1 244 2 @: 213

Y gﬁw“i ¥HAR (The Bombay Samachar) R MUl Add (continuously) usila ag Al o
AdHIUA 6. d 18224 .......... GRL AU U A d ... i ustlad i 9.

@251 wieurt (Fardunjee Marzban), desRud)
(B) 21 Adl=ig, Wizl

(C) cuain® w3l (Byramjee Cyrusi), [8+€l
(D) Sl Qd, HASl
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Which of the following statement is correct?

1. Sapta-matruka sculptures are popular in Gujarat

2. Sapta-matruka worshipping started in Gujarat during Kshatrap time

3. Sapta-maturkas are generally carved in single panels

4. Sapta-matruka shrines are located at pachhtar, Adodar and Balej in Gujarat.
(A) 1and 2 only (B) 3 and 4 only

(C) 1,2 and 3 only @:.23and4

Which of the following statements is/are correct regarding Tippani dance of Gujarat?
1. Tippani dance is also known as Matla Dance
2. This dance was originally mastered by the Koli women of Gujarat

3. dhol, marinara, shehnai, damru, tabla, nagara, pot drum, percussion and ektaro are the
instruments involved in the dance

4. The female artists dress up in a ‘kedia’ which is a short coat, with bright broad colorful borders
and tight sleeves

(A)1,2,3and 4 .1, 2 and 3 only
(C)1,3and 4 only (D) 2, 3and 4 only

Which of the following statements is/are correct regarding Nanalal Dalaptram?
1. Pankhadio is a collection of his short stories

2. Kavishwar Dalpatram is an autobiography of Nanalal Dalpatram

3. He translated 5 Upanishads into Gujarati from Sanskrit

(A)1,2and3 (B) 2 and 3 only

.1 and 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding Devni Mori?

(A) The remains of a Buddhist monastery belonging to 3rd-4th century AD have been unearthed
from Devni Mori

(B) Excavation of the stupa brought to light an inscribed casket which contained relics of Buddha.
@soth (») and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding palaces in Gujarat?

1. Showcases beautiful Gothic arches, a majestic clock tower with a Mughal dome
2. Ranjit Vilas palace was built by Maharaja Amarsinh Ji

3. Lakshmi vilas palace at Vadodara constructed in Indo-Saracenic revival style
(A) 2 and 3 only (B) 1 and 3 only

(C)1and2only .1, 2and 3

The Bombay Samachar is the oldest continuously published newspaper in India. Established in
1822 by , itis published in

.Fardunjee Marzban, Gujarati (B) Sheth Chetichand, Parsi
(C) Byramjee Cyrusi, Hindi (D) Kavasji Lai, Marathi

[ASP-1] B
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013. A1 WAL 53 2a0/5u 20l Y4 Rasi we aella 8 ?

1. a1l 51l 2. Quuell 4le: 3. AL 2qu
{21 Y4l a0y [Aseu urie s
(A) WAt 1 [ ERER, (C) WA 2 241 3 (D) 1,213

014, DA UL s/ (A nea e ?
1. W21 (raga) ¥ du (rythm) i 2uaR-l a1 53 €.
2. dld i Al 28R oA 69,
3. *idlu olldani & uia a2 18 YR (notes) 8.
A1 U diou [Aseu vaig s

(A) 1,23 (B) WA 1 %1 3 @12 (D) WaL 2 244 3

015. sal-auat-l A USlHL sul Angi 2Adl [d12 821d 8 5 -l ula g1 wig dadl asia e ?
@-ivu zivew (B) =1 AUE (C) A0S e (D) Nlmin iucld

016. 1A~ U4 58 sau (article) S “ARELU YU HRAAAL AL 27 A0 dAL gl 1ae” wd
AoifBa e ?
(A) 2r129¢ 43 (B) 21-269¢ 47 (C) »1r129¢ 48 @-1129¢ 49

017. |t il (Aol a-u WA 5y [Qeu-y/sa (Al e 44l ?
(A) MLt 1A 2iekeiu 51l e 53 5 sl cnadlaiqu gdolly-l R 53 as.
(B) A EHIR Y5l 2 HSLeHL A wgdl-l Amnil ded quie vid [Ra-lld sl
@1 1cue e sruedl s eug ‘A 1Ay (Tinkathia) UeLE SUHE 2,
(D) VAL AUAS ERAUL AUEIR USH 2R Segeed UlSs ML i) e oA,

018. A1AML clani dl2A- UL su1 UsRU [RAss121 oA woa o ?

1. 518l (Kodis) 2. 53Uy (Karshapan)

3. [Qawws (Vishopak) 4.3us

A2 U4 dlou [Asey uzie s2l.

(A)HAA 1, 2 94 3 (B) WA 2, 34 4 (C) {1 1, 391 4 @:. 23214
019. wlistdmaA ... A 5101 ERAUT, A% 2l ARAHI 2ud 8.

@-:iid (B) awden

(C) Y3IRAHL (D) Bua-il U4l s uwt Al

020. M3 dei-i st euotd DA Ul sy [Aay/sa [Qanl aca 9 ?
1. oAH AAN UE ANH [AHID AR+ A2 b1l
2. el YgHl HPAS) JUH 195 MU AL USAL 3 15612+ AU SAY 8.
3. o390 daril AN SHAA “UlHu GuRA S s+ [3e 2uuami 2uey sd.
4. 6.4, 154940 WdUR L 5249+ UAH AQ 61Ul 2L 4ol ALl dals ey 531,
[ U uloy [Aseu uRie s2l.
(A)HA 1, 2 94 3 @1 2274 (C) {1 2, 3911 4 (D) {1 244 2

n [ASP-1] [Contd.
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013.

014.

015.

016.

017.

018.

019.

020.

Which of the following places is/are known for Mural paintings?
1. Ajanta caves 2. Lepakshi temple 3. Sanchi stupa

(A) Lonly .1 and 2 only
(C) 2and 3 only (D)1,2and 3

Which of the following statements is/are correct?

1. Raga forms the basis of Rhythm.

2. Tala becomes the basis of melody.

3. There are five swaras or notes in total in Indian music
(A)1,2and3 (B) 1 and 3 only
.1 and 2 only (D) 2 and 3 only

Which school of philosophy has a view that Salvation can be attained through acquisition of
knowledge?

.Samkhya school (B) Nyaya school

(C) Vaisheshika school (D) Mimamsa school

Which article deals with “Protection of Monuments and places and objects of National Value?
(A) Article 43 (B) Article 47

(C) Article 48 @~ rticle 49

Which of the following statements is/are incorrect regarding Mahatma Gandhi?
(A) Mahatma Gandhi established the Tolstoy Farm where families of Satyagrahis could stay.

(B) Mahatma Gandhi was invited to Champaran by Raj Kumar Shukla to look into the problems
of peasants.

.The ‘Tinkathia” was abolished after the Ahmedabad Mill workers strike
(D) During the Kheda Satyagraha Sardar Patel and Indulal Yagnik joined Mahatma Gandhi.

Which of the following types of coins were found in Chudasma Dynasty?

1. Kodis 2. Karshapan 3. Vishopak 4. Rupak

(A) 1,2and 3 only (B) 2, 3and 4 only
(C)1,3and 4 only .1, 2,3and 4

The Sharmishta Talav is considered a fine example of the period.
.Solanki (B) Vaghela

(C) Chudasama (D) None of the above

Which of the following statements is/are correct regarding rulers of Jadeja dyansty?

1. After Jam Rawal, Jam Vibhaji became King of Nawanagar

2. Jam Sataji-1 defeated Akbar’s army in the battle of Junagadh near ‘Majevadi’ village.

3. Hardhl ji the king of Jadeja dynasty was given the title of “Pashchim Bharat ko Badshah”.
4. Khengar became the 15t Rao of Kutch in AD 1549 and established Bhuj as Capital.

(A) 1,2and 3 only .1, 2 and 4 only

(C) 2,3 and 4 only (D) 1 and 2 only

[ASP-1]
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021.

022.

023.

024.

025.

026.

027.

QA U4 s Qe aca 69 ?

1. 4 agfAx a5 (Miniature painting) 21 dlsBa ag2a (miniature) oIl 215 ©.
2. ougay dlld aulde 2 euaidl TaRsmi aglaami 2 .

3. “UsR 2017 A dlsBia yaa aglasiuid »is 8.

4. %44 aglAx sl uiul nalad edl.

A1 U wiou [Aseu vaig sl

(A) WA 1 214 4 (B) W12 2 241 4

(C)WA L, 21 3 @:. 23214

H3 gou gL A NA UL 56 gld 2L 21931, g s 244 il Slasiu € ?
(A) Aesaailell (B) 2182 A AR
(C) A2 uleirsl @Gur-uia 2is ua R

AlH-naL HER [Qe Daqu Wl sy [Quysan [ wea 9 ?
1. Mg Al vau 422 21 2021 2000 oy usal RdcaHl ¢q dH Hitumi »ud 8.
2. 5.4, 64941 acaedl-l-u 2 WA 1 (Bl et sul 214 suid HE- 2euq ollof [ si-uc,

3. uldwl dast Ao 1oL ¢z-ollog 3 S, 4. 81540 Audl weaR (dl-L uLaR) (sandstone) i Guaidl s34
A quid (e eiu,

A=A WS woy [Qseu uRie s,

(A) WL 1244 2 (B) WA 2 21 3 (C) WA 1241 3 @:. 2213
AR Al ezl [Bawal .......... a3 ity €9,
@2 (B) 2™ (C) dir® (D) g (chain)

A

QR A WA saL 2uleonld g sl Al |zl 2ulzonld agar xa 2ulenld M
a<ls diami 2ud ¢ ?

(A) Rt [ Aol @2 2uonfd adar

(C) 2u=es vila (Araku Valley) 2ulgonld adaiz (D) Gur Usl 2is ua -8

HASL oA Yleuwnd asad yadl WAl A6 ......... Al wani 2dl dly,
(A) 1735 (B) 1742 @726 (D) 1826
asiol el N1 UG su1 il Wl (Trade route) il SuLd AL HILHT BHRL AT 2l ?

@:01 2l ol ol (B) Adsant-flar a-l eRuuS ol
(C) elB 2ul3st wd-l sRus ol (D) Gz A1 8-l o3l 1ol

[ASP-1] [Contd.
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022.

023.

024.
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026.

027.

Which of the following statements are correct?

1. The Mughal Miniature painting is one of the popular miniature schools.

2. Jayadeva’s Gita Govind is depicted in Basholi paintings.

3. “Akbar Hunting” is one of the popular Mughal miniatures.

4. Miniatures Painting tradition was popular in Gujarat

(A) 1and 4 only (B) 2 and 4 only

(C) 1, 2 and 3 only @:23and4

Which of the following works written by Merutunga, which is a history of Chavda, Chalukyas and
Vaghelas?

(A) Rajatarangini (B) Gurjara Rashtra Charita
(C) Gurjara Prathishta .None of the above

Which of the following statements is/are correct regarding Somanth Temple?

1. Somnath’s first temple is said to have existed 2000 years ago.

2. In 649 AD, King Maitre of Vallabhini built a second temple in place of the temple and renovated
it.

3. Pratishtha King Nag Bhatt Il constructed the temple for the third time in 815 using a red stone
(sandstone).

(A) 1and 2 only (B) 2 and 3 only

(C) 1and 3 only .1, 2and 3

The walls of Nagar style temples are known as

.Mandovar (B) Stambh

(C) Toran (D) Shrunkhala (chain)

Which of the following tribal festivals of India is considered as Asia’s biggest Tribal Festival or
Tribal Kumbh Mela?

(A) Chitra Vichitra Fair .Medaram Tribal Festival
(C) Araku Valley Tribal Festival (D) None of the above

Maratha general Pilaji Rao Gaekwad conquered Songadh from the Mughals in the year
(A) 1735 (B) 1742
@726 (D) 1826

Among trade routes, which of the following was added to the existing ones during the Gupta
period?
.Overland route to China (B) Overseas route to Alexandria

(C) Overseas route to South Africa (D) Overland route to North Russia

[ASP-1] n
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028.

029.

030.
031.

032.

033.

034.

D21 WA 53y [Qruq/san [@Qeunl >0 y3e- A8 eudn 3u A gl ?

1. R 112 Yo Aicumn 516 ustR-l HiriAiel (mansab) HogR sauHi 20dl 4 sdl.

2. qadl 2 Rz ofloay: Gur-it 85+ v vl A8

3. Rl du-u so1o dsm-it 35 [Becuil WAL 23 (Becnatl aulid (surrender) saL usL.
4. y3e- 208 W2 [l gl 2 2R e wziaiel sami 2ud sdl.

A1 U uloy [Aseu yie 521,

(A) WaL 1244 3 (B) WA 2 21 4 @ 304 (D) 1,2, 31 4
Y-l HE ALY G HEIRAH A A 5-U[S N6 ... AL V15 AU Sdl.

@ 15240 wirtasa e (B) 1844+l uaug *sull

(C) 1844+ Acy w311 4H (D) Bur-l U4l s uwt Al

D1 WAL 5y Aod 2 341G vuan Dasdl 2182ud 01 L 8 ?

(A) AdIRL @< (C) By (D) AMAYR
Hone Geotrt, U 2 Alg HAL A ... AL £6URHE HAAL L.
@ s pulde (B) §HIRWA (C) 4Ry - ofloa (D) el

A2l W 5y [Aanq/sa [Qadl w8 ?

1. e A2 HiRellui 2dlsi g1 W3 sul.

2. 9gridtenll 3siH-l [Riandu 2 wdl cursi 6.

3. Hats sl v 9.4, 74l uel dan 8Hl ugl-i yaldui acaell uea Gur wan sY.
2w WA uloy [Ase vaie s

(A) 1,23 @ 1243 (C) WA 1 (D) WA 2 241 3
Q2w 2 st UL Alnan Wil ¢uRd-l yastadl A (record) .......... alZ3 avll edl.
@: - (B) oL yrt (C) & At ol (D) gJ-a1)

&L U AL gIRL eSS el (observed) WHIDS A cuoid N1 Ul 53 (A e © ?
1. Qs yrldas-l 51 e 4 sdl.

2. G2 qaUHi usel el flary .

3. Adl nauw valad edl.

4. d UHAAL SAELAL B3AUAAL G121 AidR dld @diA, Hogdl 2l 2uadl - sdl.

[ U uloy [Aseu uRie s2l.

(A) 1,2, 3214 @ 132114 (C) A1, 294 3 (D) "= 2, 3311 4
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028. Which of the following statements was/were NOT part of Treaty of Purandar?

029.

030.

031.

032.

033.

034.

1. Shivaji’s minor son Sambhayji was not granted any mansab

2. The Mughals did not recognize the rights of Shivaji on Bijapur
3. Shiavji had to surrender 23 forts to the Mughals out of 35 forts held by him.
4. Treaty of Purandar was negotiated by Shivaji with Raja Jai Singh

(A) 1 and 3 only
.3 and 4 only

(B) 2 and 4 only
(D)1,2,3and 4

Mehtaji Durgaram Manchharam of Surat was one of the founders of

organization.
.Manav Dharma Sabha in 1844
(C) Satya Mahima Dharma in 1844

(B) Parmahansa Mandali in 1844
(D) None of the above

Which of the following states was NOT affected by Dalhousie’s policy of Lapse?

(A) Satara
(C) Jaitpur

@ouan

(D) Sambhalpur

Munzal Udagan, Sajjan and Shantu Mehata were the ministers in the court of

@ sicdnraj Jaysinh
(C) Mulraj-11

(B) Kumarapal
(D) Minal Devi

Which of the following statements is/are correct?

1. Wagjhi Ravaji introduced the telephonic communications in Morvi

2. The Junagadh rock inscriptions of Rudradaman is in Pali language
3. Maitrakas ruled the Vallabhi region in the 7t and first half of the 8t century

(A)1,2and 3
(C) lonly

.1 and 3 only
(D) 2 and 3 only

socio-religious

Among the following Chinese travellers, the first one to leave a record of his visit to India

was .
.Fa—hien
(C) Hiuen Tsang

(B) Sung Yun
(D) Hui-Chao

Which of the following are correct about the social customs as observed by Hiuen Tsang?

1. There was no custom of widow remarriage

2. There seems to have been Purdah System among the higher classes

3. The system of Sati was known

4. Inter-caste marriages were not permitted by the law makers of the time

(A)1,2,3and 4
(©)1,2and 3 only

.1, 3 and 4 only
(D) 2,3 and 4 only

[ASP-1]
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035.

036.

037.

038.

039.

040.

041.

042.

Dalu WA 53y [Qa/san [l a8 ?

1. YRHIR d2Url RAMSIHIAL 245 Aal (3321210 24 UL AUH YRl 2NBIAL Sl
2. URHIR 2l A2 YA AGSU calril A ORI SRAAL Sdll.

3. daul - oflo g1RL Yo S Sl A4 dll el sAUMT 2l edl.

A2 U4 dlou [Asey vzie sl

@: 2213 (B) {12 2 244 3 (C) WA 14 3 (D) WA 1 244 2
19354i 121 WS s idini AnaH AR [gad)l wad ugld srma sami 2udl edl ?

Lobun  2.ueer  3.6urusy 4. [G8R

A1 Y4 a0y [Aseu uris s

(A)1,2,3% 4 (B) WA 2, 3247 4 (C) Wat 1 244 3 @ 1, 324
MRAHL elA sRaUM 2l HEYA ugla-l dlou 51 suL 69 ?

1.udadlugld 2. sl gweiel 3 usiaadlugld 4. 8w (auctioning) usgld
A1 U wiou [Aseu vaig sl

@: 212143 (B)WA 12324 (C)1,3 214 (D) WA 3,2, 144 4
1561271 QWAL ERA AL YoUl 9 UR5IRHL [AMUD A ell. A WS $Y 2 AR L 8 ?

(A) went (B) -igle

(C) eiRlsL @Gy A s wa Al

D2l WA 518l 2 (A 58] “2us uul 2uusll Alds 2 A A Wl 1A d ud- 206 A2 6. AU
22 5 %+l WAl L vi3RAME gsuAcdl 9.7

(A) A% AH HISH AU (B) US4 183

@: 2. 2is Aq (D) UREIR dea™MS udd

D2l W) sien 24014 cudlu (B AU NAH A UHP UE Sl ?

NEREER @ usen-ic (C) S-geua als (D) Ul 1 %Al
A WA 56 ALl uloy d Al ) ?

Al Hu), AT AU

(A) yalle gell vun vjoumn

(B) 2us o [Ronm Ga-yes SEA6UE

@:ueia vun AR

(D) ucusd xu [as AT(2E)

slalAnL @vidl Aot oUe Haunasl Adizia sl 9L €l 244 .......... AL UH Aal Yl nL s3.

.Indian Liberal Federation 444\ Liberal Party
(B) National Party

(C) Congress Socialist Party

(D) Gu- U4l 25w [
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035. Which of the following statements is/are correct?
1. Krishnaraja one of the founders of the Parmara family was also known as Upendra
2. King Munja of Parmaras defeated Mulraja of the Chalukyas
3. Munja was defeated and killed by Tailapa Il

.1, 2and 3 (B) 2 and 3 only
(C) 1and 3 only (D) 1 and 2 only
036. In which of the following provinces, the system of Bicameralism was introduced for the first time
in 1935?
1. Bengal 2. Punjab 3. Uttar Pradesh 4. Bihar
(A)1,2,3and 4 (B) 2, 3and 4 only
(C) 1and 3 only .1, 3 and 4 only
037. What is the chronological order of the Revenue Systems in India?
1. Ryotwari System 2. Permanent Settlement
3. Mahalwari System 4. Auctioning System
@:21and3 (B) 1,2, 3and 4
(© 1,3 2and4 (D)3,2,1and 4
038. During the reign of Akbar, Gujarat Suba divided into 9 sarkars, which of the following is NOT a
Sarkar?
(A) Patan (B) Nandod
(C) Baroda .None of the above

039. Who among the following said “What we see around us today is a fallen nation — A nation whose
primitive greatness lies buried in ruins”?

(A) Raja Ram Mohan Roy (B) Jawahar Lal Nehru
.Keshab Chandra Sen (D) Sardar Vallabhai Patel
040. Who among the following presided over the first session of the All India Kisan Sabha?
(A) N G Ranga .Swami Sahajanand
(C) Indulal Yagnik (D) P C Joshi
041. Which one of the following pairs is INCORRECTLY matched?
Rulers Major Autonomous States
(A) Murshid Quli Khan Bengal
(B) Asaf Jah Nizam-ul-Mulk Hyderabad
.Saadat Khan Mysore
(D) Sawai Jai Singh Amber

042. The moderate leaders left the Congress after the Lucknow Session of the Congress and founded a
new party called

.Indian Liberal Federation or Liberal Party
(B) National Party

(C) Congress Socialist Party

(D) None of the above

[ASP-1] m
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043.

044.

045.

046.

047.

048.

HEA AU Ut AHA A2 UL $UL AHEL 2 YRAHA Adead 860 AU an (Political Force)
A5 A2A8ld vi-ul.

@ (B) %2 (C) Avuad (D) URHIR

A1 Q4L s sraui vidls aosu ol a0 or212isHl s10 gdi ?

1. ot 2. st 4o YR Uldoiy

3. afluy nidan u uldeiy 4. Aeauidl cuudl [Ast v uldoia
A0 U wiou [Aseu vrie sl

(A) WAt 1 (B) HiAL 1 244 2 (C)HA L, 2413 @: 23214

V3L ARUASAL ULULA WIRAL ... Sl

1. Al glRL el gl -l azzud as.

2. drll gIRL UEIR S AL HsLeHL Q1] A1 L AoitiAl W™ Yl
3. d-uell vigdi eun 2y 2 SR o asdls as.

4. AR 6U1E SN ULl AAS A,

A0 U wiou [Aseu vie sl

(A) 1,2, 324 @124 (C) WA 2, 321 4 (D) WA 1244 4
e Yl arRud Bul A3 ......... L U eV WASIR sl usl.
(A) elluga udal @ 02a olon (C) sal (D) 1WA

Dalu WA 5y [Qa/sun Q- a8 ?

(A) HSIRA%A AU, A5 - Aol WAL 60 A AylAni asien vid Sldrdmoinami 2u,
(B) 92 HSHE vl 9rdl2dl (gallantry) 0l uxlaui wany viid Aldzded Ruie saumi 2ue,
@i () qu(B)

(D) (A) A2 (B) 215 uaL <[

-

{12 2004 B (later) dAl2s AMASWAL A%ALA dH-L AdHLA 221 018 AL

el - | el - 11

1. v a. t1Rel, Lely 21 s13vse

2. iR b. radUlSl 244 Uguar

3.yd Higl C. 51911 124

4. 5194 d. iz ueaHi Feue

@:.22b3-c4-d (B)1-b,2-c,3-d,4-a
(©)1-d,2-a,3-b,4-c (D)1-c¢,2-d,3-a,4-b
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043. Which among the following communities organized as political force under the leadership of
Surajmal during the decline of Mughal Empire?

.Jats (B) Gurjars
(C) Shekhawats (D) Parmars

044. Which of the following were the contributions of King Jatashankar of Limbdi princely state?
1. Nashabandhi
2. Prohibition of Child Marriage
3. Ban on Begging
4. Ban on Export of cows from the state
(A) Lonly (B) 1 and 2 only
(C) 1, 2 and 3 only @:23and4

045. The significant aspects of the Kheda Satyagraha are
1. It marked the beginning of an awakening among the peasants of Gujarat.
2. It marked the beginning of Sardar Patel’s relationship with Mahatma Gandhi.
3. It led to suppression of the peasants subsequently caused much distress agriculture.
4. 1t was followed by the successful Bardoli Satyagraha

(A)1,2,3and 4 @: 2ands0nly
(C) 2,3 and 4 only (D) 1 and 4 only
046. Muhammad of Ghur’s campaigns to Gujarat encountered resistance from the forces of
(A) Bhimdev | @shimdev 11
(C) Karna (D) Kumarapal

047. Which of the following statements is/are correct?

(A) The Kirti Stambh at Vadodara was built to mark 60 years rule of Maharaja Sayajirao
Gaekwad - 111

(B) Kirti Stambh at Palanpur was constructed to commemorate the gallantry of Sher Mohammed
Khan

@soth (4) and (B)
(D) Neither (A) nor (B)

048. Match the following Later Vedic period Kingdoms and Present Locations

List-1 List-IT

1. Panchal a. Bareilly, Badayun and Farrukhabad

2. Gandhar b. Rawalpindi and Peshawar

3. Eastern Madra ¢. Near Kangra

4. Koshal d. Faizabad in Uttar Pradesh
@:.:22-053-c4-d (B)1-b,2-¢,3-d,4-a
(©)1-d,2-a,3-b,4-c (D)1-c¢,2-d,3-a,4-b

[ASP-1] E
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049.

050.

051.

052.

053.

054.

slAvseu 2 21 AsudA (regime) Qe - WS sy (At uen 2ol ?

(A) dd 3 Gz ulanui viiai ol 93 53 ydui oiruu Yl (A4 sd.
(B) dd Asd Gyl stedlell elamni Arweg 21 wnan Yl [Qdg sd.
(C) s[Ans A s1930l2ui Ai9)l vlig ulRue [RH=Ala 531 edl.

@Gy A Hiswa Al
3SEIHL U ALl 2LioLe il Riendu vtgauR la- WAl siw 24 g Al brother-in-law Sdi ?
(A) A= 9 @ o (C) 43 At (D) 1 et

D21 WA 54 2L UNDP-L [&01 204umiedl 515 (Gender Inequality Index (G11)) sl s2a He+ dloy
yleum Al ?

.Guul UL (Infant mortality)

(B) 24 61212 u™Uicl (Labour market participant)
(C) uwnr AR, (Reproductive health)

(D) Aalsa520 (Empowerment)

D2l WL suL 21 9y AAHE AUA 2 21531 2 (ARG HS i 1L €9 ?

1. Qa8 Aues 2l wiA 214a8ld s - 2ulls Adael da ardldread-l 2ea s,
2. A% 43¢ GAUlE dal dl A v5ER Vel AsA 5 Al dUIR sal.

3. [Alay 2Rl uR st [Alay Aisst wAlla sz RafFd ddl srisuid suale- sd,

4. [yean wissL wAld 2 E5L0201 asdl4 wteein yg wsd,

f2l-u WA uloy [Ase uaie s2.

(A) 1,2, 3214 (B) Wi 2, 311 4

@1 22143 (D) WA 1, 2 ¥ 4

oAl 2020-2021 WS - 25 udae (A9 DA VA 5y [Qanq/san Qe wca & ?

1. wal@s Qe @i 19l V) |ioiél ea (dropout) Hil €2 21 2001-02+1 20.50+0 AuuHRlA 2019-204i
Aquist Ad aéld 1.37 284 69,

2. Al 201940 a1 AUHE A%OUR (AR g1 5& Rl 040 AorouHiE [R5 s101 72.529% ¢l

3. HIAL A WAL ZSU0UHI 55630 AlR 3521 weudl ¢l 208 MW wrre-l 2uu-l giRl asRid e
[ulg siua s34 9.

A2 Q4 iy [Asey urie s2U.
@: 2213 (B) WA 2 11 3 (C) Wat 1 244 3 (D) Mot 1 244 2

anl 2021-2022 L ARl 2Ag1@uA tietd A WA 5y [Qay/san [l e o ?
1. a2 2noul uia an |2 31 1 am 534 AU 251 a-l an oiy seug dloi-2+4 sud s3.

2. e[Ru (BruRiri 15 [ecniin 39 digsizi- 2702 2uHui (R s 70 @ disi-u uael (s we
1012 vig Aaloll (st Aler-2-l dud 53l

3. o0l 6L arui w2519 ol [Rorl da 2auRs a2 sALUHE dlstd 4iadl 2 Qe gasia d)
UL ds Y3 wisaumi 2uql.

A0 U4 ulou [dseu vrie sl
(A) 1,243 (B) WA 2 21 3 (C) WAL 1241 3 @12
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049.

050.

051.

052.

053.

054.

Which of the following statements was INCORRECT regarding Kanishka’s rule and regime?
(A) His empire extended from Khotan in the northwest to Benares in the East

(B) His empire extended from Kashmir in North to Saurashtra and Malwa in the south

(C) Kanishka convened the 4t Buddhist Council in Kashmir

.None of the above

Who among the following was the brother-in-law of Chandragupta Maurya according to the
Junagarh rock inscription of Rudradaman-1?

(A) Vainyagupta .Pushyagupta

(C) Purugupta (D) Radhagupta

Which of the following is NOT among the dimensions used for measuring Gender Inequality
Index (G11) by UNDP?

.Infant mortality (B) Labour market participation

(C) Reproductive health (D) Empowerment

Which of the following are the important functions of Department of Economics and Statistics of
Gujarat?

1. To study the socio economic surveys and census related to various socio economic aspects.
2. To compile and prepare estimates of state domestic product and related aggregates

3. To organize regular training programmes for various statistical personnel working at different
levels

4. To provide technical guidance to the district statistical officers
(A)1,2,3and 4 (B) 2, 3and 4 only .1, 2 and 3 only (D) 1, 2 and 4 only

Which of the following statements is/are correct regarding Socio Economic Survey of Gujarat
2020-2021?

1. The dropout rate for primary education (Std 1-V) has substantially declined from 20.50 in
2001-02 to 1.37 in 2019-20

2. The share of placement to total registration during the year 2019 through employment exchanges
in Gujarat State is 72.52%

3. Gujarat has also achieved remarkable achievement by installing 208 MW plants from this 55630
solar rooftop system in a short span of only nine months

.1, 2and 3 (B) 2 and 3 only (C) 1and 3 only (D) 1 and 2 only

Which of the following statements is/are correct regarding Gujarat’s Budget for the year
2021-2022?

1. Government announced Van Bandhu Kalyan Yojana-2 with a substantial amount of Rs. 1 lakh
crore for the next five years.

2. Sagar Khedu Sarvangee Vikas Yojana-2 is announced for overall development of 70 lakh people
living in 2702 villages of 39 talukas in 15 coastal districts

3. New recruitment of 2 lakh eligible youth will be made in Government, Board Corporations and
the Local Self Government offices, in the next 2 years.

(A)1,2and 3 (B) 2 and 3 only
(C) 1and 3 only .1 and 2 only

[ASP-1]
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055.

056.

057.

058.

059.

060.

an] 2021-2022+11 oAl AELUA tiedd A WA 54 [Qaysan [l wea 9 ?
1. 91d aui-l 2iglruzlu £viRd 5l 3L 9,742 53+ AMIRL SAUHL UL B,

2. U {E1PUA UAR 588 53131l URid (surplus) 414 €9,

3. Y2d M AL vidold uin ad W2 3L 757 s Ao sami 2udl 9.
[ U Aloy [Aseu uRie 52U,

(A) WAL 2 249 3 (B) WA 1 1. 3 (C) WL 1 24A 2 @:. 22113
ogafl 2y 518 (Soil Health Card) dl= ay .......... UL g scauui sudl,
(A) 2016 @205 (C) 2017 (D) 2014

-\

siul2 25l ouotd A1 WA 5y [ 02 ¢ ?
@ 3~ 225 121 Aeuni 2 GariaHi 1A 8 1A A+l Bus (proceeds) W 3w U1 WA K B,

(B) d 5% URSIR g1 ALEAUHL 24 Guuacumi 21d €9 1 d-l Bues (proceeds) S+ A AU URIR A2
aduami »ud 69,

(C) d A% USIR GIRL ASAUHL 20d 9 27 dll Bus (proceeds) UBL A%U A5 WA S 69,
(D) BURisd WA sisur Al

2011+ azdl A g2 -l suoidi DA WS sy [Aaney/san (sl a6 ?

1. MRai azdl oadidl E[2 9rud 104 51 8.

2. 3% d M1 [ARa1R-L 5.979% (3241 414 8.

3. -l adlzA MR-l azdl- 3.82% €.

4. sidn [Feaiat ooudt [Feausini 2iua-l sustani Al 2A4ie9 2uaq 421d 8.

[ Ul dloy [Aseu uRie s2l.

(A) 1, 2,31 4 @1 2274 (C)WA L, 21 3 (D) WA 2, 3 21 4
[RRua {d (absolute terms) uAlY-l uHWUOL R4 SRS uglaziul Asdar dsiH
AvAl ... :

(A) 2a0 84 0. @0 9.

(C) adl 8. (D) Gu~u U4l s yrL &

D2 WAL 56 uotd A x12dd u gouadal =u 538 ?

1. el Aod 615 G1ARHI AL Bliw3 GISIR W3,

2. RBI uiR2Hi 8213l 5.

3. RBI 615 324i a2l $3.

4. A58 UM OJRITR (Cash Reserve Ratio) <1eig $aAHL >4,
A2 Q4 aiou [Asey uRie s2l.

(A)HAA 1, 2 94 3 (B) Wit 1 ¢ 4
@224 (D) WA 2
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055.

056.

057.

058.

059.

060.

Which of the following statements is/are correct regarding Gujarat’s Budget for the year
2021-2022?

1. There is an increase of Rs. 9,742 crores more than the last year budget proposal
2. This budget is having a surplus of approximately Rs. 588 crores
3. There is a provision of Rs.757 cr. for 5 years under Atal Bhoojal Yojana.

(A) 2 and 3 only (B) 1 and 3 only
(C) 1and 2 only .l, 2and 3
Soil Health Card scheme was launched in the year

(A) 2016 @015

(C) 2017 (D) 2014

Which of the following statements is correct regarding Corporate Tax ?

.It is levied and collected by the Central Government and its proceeds are also retained by the
Central Government.

(B) It is levied and collected by Central Government and its proceeds are shared between the
State Government and the Central Govenment.

(C) Itis levied by the State Government and proceeds are also retained by the State Government.
(D) None of the above

Which of the following statements is/are correct regarding Gujarat as per 2011 census?
1. Gujarat ranks 10t in population density in India

2. Gujarat accounts for 5.97% of area of India

3. The population of Gujarat is 3.82% of population of India

4. Dang district has minimum operation among districts of Gujarat

(A)1,2,3and 4 .1, 2 and 4 only

(C)1,2and 3 only (D) 2,3 and 4 only

In absolute terms, the number of people engaged in agricultural activities over the planning period
has

(A) Remained constant .Increased
(C) Decreased (D) None of the above

Which of the following would have inflationary effect on the economy?
1. Reserve Bank of India releasing new bonds in the market

2. RBI decreasing the repo rate

3. RBI increasing the bank rate

4. Abolition of Cash Reserve Ratio

(A) 1,2and 3 only (B) 1 and 4 only

.2 and 4 only (D) 2 only

[ASP-1] m
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061.

062.

063.

064.

065.

066.

067.

Hira (A1 yasis (Human Development Index (HDI)) tuoid 1AL WA 53 (A aca €9 ?
@5 1 wiS-2uuEsHi HDI 24 0.7 247 Al Ay €ia dl d Gl HD I s »ud 8.

(B) %A 1 uiS =2l HIUESHL HDI 24 0.6 24 dell 24191 81 dll d 1Al HDI 21 2ud 69,

(C) b (A) dl (B)

(D) (A) 2 (B) s uat -l

A2l W 56 Alori 24 Al uaH AR Al Qs YdenvaRia’ sag yad 54 ?
(A) 94 Aoyt @-c:0 win
(C) wal aiop=u (D) Gu~u WSl s urL e

@uRdAH e [@01 €2 (Child Sex Ratio) (42l A1 W4 sy [Q a8 ?

(A) e [ €2 24 0 2l 6 ani-l a oA €2 1000 AR tUNSIL HIEL tusi-] vl €9,

(B) sl e (821 €2 21 2001) Azl 21atdl- 927 $24i 2011 -l azd) 2watadlHi adld 914 qal.
@i () qu (B)

(D) (A) A2 (B) 215 uaL &

a5l W AR5 3Raysiar-u GH2A U Ysaldl Alsddld 52 AU €3 ......... a5 2oeuA 6.
(A) uRRAA $2 A2 € (B) QtIR1AL 52 ARL €2
(C) BEIR 52 AR €2 @:niic 52 AR eR

A5 - 205 211 suld azdl 2ARql (Socio - Economic and Caste Census (SECC 2011)) 4 @gil
sroldini [ARre gdi. A1 U4 56§ oustdl 21 (SECC)- [Aldre @z ¢ ?

1. d 4zl 21a) 2ARRUH 1948 viddld suHl 20l 4 ¢dl.
2. dHl s1S 1210 (QuR) -l GualalL $AUMT el A Sl

3. HUlRd 2isalld a1 da s s HI2 81 IRl (hand-held) Guaiol 531 AstA dat Gusw-l Guial
$AUML UL Sl

A=A WS wiey [Qsey uRie s,

(A) {1 1 244 2 (B) Wit 1 ¢ 3
(C) W=t 2 941 3 @ 23
cuRAlY Galall .......... L 51281 usdl (retrogression) da ¥gl (deceleration) «ll 14l $ul.

(A) sMEAA v sl
(B) 28R &=AML Airelds A51AML Azl (slackening)
(C) Aalis e m W2 v 530 il dxni waillzd oo

@curu aun

cuRdla sualo weudlHl .......... Al You 8q “osdl 2 ay umlde gl ds i edl.”
(A) 94l yuan[a dios-u (B) 1041 Yaar[ dior-u

@110 vimarila dion (D) 124 vimafla dior-u

[ASP-1] [Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


061. Which of the following statements about Human Development Index is correct?
.If the HDI index is 0.7 and above on 1 point scale, it will be considered as High HDI
(B) If the HDI index is 0.6 and below on 1 point scale, it will be considered as low HDI
(C) Both (A) and (B)
(D) Neither (A) nor (B)

062. Which of the following Plan suggested for a ‘redefinition’ of States role in the economy for the first

time?
(A) Sixth Plan @cionth Pian
(C) Ninth Plan (D) None of the above

063. Which of the following statements is correct regarding child sex ratio in India?

(A) Child sex ratio is the number of females for every 1000 males in the age group of 0-6 years
(B) National Child Sex ratio declined to 914 in 2011 census from 927 in 2001 census.

@soth (») and (B)

(D) Neither (A) nor (B)

064. The tax rate an individual would pay on one additional dollar/rupee of income. This is called

as
(A) Average Tax Rate (B) Additional Tax Rate
(C) Liberal Tax Rate .Marginal Tax Rate

065. The Socio-Economic and Caste Census (SECC 2011) was unique in many respects. Which of the
following are the special features of SECC?

1. It was not conducted under the Census Act, 1948

2. It was a paperless exercise

3. A hand-held device was used for collecting and compiling the data
(A) 1and 2 only (B) 1 and 3 only
(C) 2and 3 only .1, 2and 3

066. The Indian industry faced the process of retrogression and deceleration because of
(A) Unsatisfactory performance of agriculture
(B) Slackening of real investment in public sector
(C) Narrow market for industrial goods, especially in rural areas

.AII of the above

067. “Towards Faster and more Inclusive Growth’ was the main objective of Indian planning system

in
(A) 9t Five Year Plan (B) 10t Five Year Plan
@1 Five Year Plan (D) 12t Five Year Plan
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068.

069.

070.

071.

072.

073.

074.

viglruslla vy 24 walis vy s2di 2140 8. 20 suotdHi DA UL sy [Qarysa [l 1 & ?
(A) B2 A A 2 S8 2UA8 Sl Al R viglrula vy Be™a 6,

(B) 2UR 617RY, 5% 27 FUGERI2A W18 AR & W2 gA 2Uas 5l adfl 2 AR walisla vy
AU 6.

(C) igru-llu vusHi sl v aHlde 2 69 udg il vuaul vieruslly viddl 1udel adl
adl.

@Gue axun
911 2RA tg2 (Zero-based budget) weudl suetd Al Wl sy [Qun/san (el aea e ?

(A) 2 208URA 0132 WUAHI Uld g W 5L HISL S d HAYR ol dadld Sl 9.
@1 2uuRa a3 dlomi fas yru €iu .
(C) b (A) dl (B)

(D) (A) A2 (B) 215 uaL &

QA QAL 56 A/l cuaHi vl @a-n [Arae w2l € ?
1. Gawolldg »1-u:aw (Dereservation of the industries)

2. Gelldllg, ural-uL uad, [(Rya-t (Delicensing of industries)

3. 08 Aeflflmi atul

4. siuie astiA Aefldl

[l Q4L uloy [Aseu urie s

(A)H1AA 1, 2 94 3 (B) WA 3

(C) A 2, 324 4 @ 24

2010-11L 5[ @zl 2 HugA1R tuRAML A2 @S] sRiRA @l wldad .......... 8.
(A) 6% $2dl il (B) 6 Al 12% -l a2y

@12 N 18% ) azid (D) BuR-i Wl s uar &

§& gl Geung -l ol -l 3 Siedl el ?

(A) Alvv [A2ell A5 (B) U512 gl W a1l wilel

@ o251 wanlzs vuas (D) vutoll A5

2019-20 eRu- 22l Ardl BuaAsHT 5N 27 deil AQ0L Aol SL0UH $HU: <......... Al ©21sl 2da 8.
(A) 14.1 ulQad @65 vhaaq

(C) 18.2 uldad (D) 19.3 uldad

a1 AeHE DAu W s2/5u1 wReinl A a4 se AvH B3R HEE sUA S ?
1. 1T @=ni cuRdsl (@2l aq sl

2. w81 wawi gl

3. [Aeami aucue s2di (urdlul drsdl UMid 254 (remittances)

{121 Y4 a0y [Aseu urie s

(A) HIA 1 14 2 @ 1213

(C) " 2 241 3 (D)1,2x3
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068.

0609.

070.

071.

072.

073.

074.

Which of the following statements is/are correct regarding Budget deficit is different from Primary
deficit?

(A) Budget deficit occurs when total expenditure exceeds total receipts.

(B) Fiscal deficit occurs when total expenditure is combined with government’s market borrowings
and liabilities and both exceed the total receipts.

(C) Budget deficit includes fiscal deficit but fiscal deficit does not include budget deficit
@~ 1 of the above

Which of the following statements is/are correct regarding Zero-based Budget?
(A) In zero-based budgeting, a manager is to justify what he wants to spend.
@salance in the zero-based budgeting is zero

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following industrial policies is/are for the expansion of the private sector in India?
1. Dereservation of the industries

2. Delicensing of the industries

3. Hike in the public subsidies

4. Subsidies to the corporate sector

(A)1,2and 3only (B) 3 only

(C) 2,3 and 4 only .1, 2 and 4 only

As per the Agriculture census 2010-11, the percentage of operational holdings owned by women in
Indiais
(A) Less than 6% (B) Between 6-12%

.Between 12-18% (D) None of the above

Which of the following is NOT required while computing Gross National Product (GNP)?
(A) Net Foreign Investment (B) Purchase of goods by government
.Per capita income of citizens (D) Private Investment

During 2019-20, the contribution of Agriculture and its allied sectors to national income has
gradually declined to

(A) 14.1 per cent .16.5 per cent
(C) 18.2 per cent (D) 19.3 per cent

In the context of India, which of the following factors is/are contributor/contributors to reducing
the risk of a currency crisis?

1. The foreign currency earnings of India’s IT sector.

2. Increasing the government expenditure

3. Remittances from Indians abroad.

(A) 1and 2 only .1 and 3 only
(C) 2and 3 only (D)1,2and 3
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075. A< IR A o1oaR (Gilt-Edged Market) 214l gL 53 €9 ?
@251 o300 (B) 2215 W52
(SN EEENES (D) 2o gl R
076. “9)Ad Helr 2 2531 5[ 2uslisausly & (Gujarat Plain and Hill Agro-Climatic zone) 1 Aid U2l
ot sl Aiui [Qeumd sraumi suical 9. DAL WS su 20 wglui arulane ¢ ?
1.GuR ARee 2. Guulamyss 3. cl@a Al
QA Q4 aiou [Asey urie s3l.
@ 23 (B) WA 2 211 3
(C) WA 1 A 2 (D)W 14 3

077. [Alas usiw wssi [Qa N W4 sy [Qa-y/sa [da-dl aea e ?
1. wlas[@d (Intrusive) 2uBxga vissl 2 WrilAs visst a5 wa nella .
2. %OGd Vi3Sl A s W3Sl s8u €9,
3. 2R, A2 A saZse 2 3uidld (Metamorphic) wssi-u Gelsel €.
A2 U diou [Aseu vrig 42l
@12 (B) HAA 2 211, 3
(C) 1,243 (D) {1 1244 3

078. @uRer DA WSl 54 AU 2 AuAd: Guasl2oidlu AAni 2uad el ?
(A) dBa-ug (B) sQi25 @:1s2 (D) HEIRZ

079. it el euoid A WSl sy [Aaqysun [l a6 ?
1. o1 gL 2 2arRanl 124l 2sl2inid) Gema ©.
2. d-ll dousS 266 (3.4, € 11 ga wa U [Ad1R (catchment area) 21 8674 Al.[3.3L. 8.
3. ot ell S16ll dsl You Gurel Ry © 24 ot el el drg -l yoa Gunel vkl 1el .
4. 20 gl BuR eidlawst bt tlinanui 2uel 8.
2l-u WA uloy [Asey vaie s2.

(A) 1, 2,31 4 @214 (C)1, 24 (D) WA 2
080. A WAL 51 24 asRdni Yl L9 (Sloth bear) vucuRRUL & ?
1. 814 2. GUAIRIH 261 3. %Il 4. 61231
[ Ul uloy [Aseu uie 521,
(A) 1,2, 324 @1 2013 (C) WA 2, 3011 4 (D) WA 1244 4

081. au 20194i dAdui aRUE suoid A1 WA sy [Atu-y/su [ w8 ?
1. A2UHL SPHI Al ay a1 a4 el
2. ApuHi oflog 59 ALl ay aue aas [Feeunl wul sdl.
3. 529 [yecuni Aell 24690 au1e AUl Sdl.
4. d QuHi 9AdHl A2 1176 HIHl aue 2l gdl.
f2l-u WA uloy [Asey vaie s:u.
(A) 1,2, 324 (B) 1,241 3 (C)2,3x4 @1 2044
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075. What does Gilt-Edged Market deals in?
.Government securities (B) Stock Market
(C) Corporate bonds (D) Commodity trade

076. “Gujarat Plain and Hill Agro-climatic Zone” was divided into 7 sub-climatic zones, which of the
following is/are in the list?

1. North Saurshtra 2. North West Arid 3. South Saurashtra
.1, 2and 3 (B) 2 and 3 only
(C) 1and 2 only (D) 1 and 3 only

077. Which of the following statements is/are correct regarding different types of rocks?
1. Intrusive Igneous rocks are also known as Plutonic rocks
2. Sedimentary rocks are called stratified rocks -

3. Marble, granite and quartzite are the examples of metamorphic rocks

.1 and 2 only (B) 2and 3 only
(©)1,2and3 (D) 1 and 3 only
078. Which of the following Indian states do NOT lie entirely in the tropical zone of the earth?
(A) Tamil Nadu (B) Karnataka
.Gujarat (D) Maharashtra

079. Which of the following statements is/are correct regarding Banas River?
1. Banas River originates from Aravalli Hills, Gujarat
2. Its length is 266 km. & total catchment area is 8674 sq.km.
3. Sipu is left bank’s main tributary and Khari is right bank’s main tributary of Banas.
4. Dantiwada Dam is constructed on this river
(A)1,2,3and 4 .2 and 4 only
(©)1,2and 4 only (D) 2 only

080. Which of the following are the Sloth Bear sanctuaries in Gujarat?
1. Ratnamabhal 2. Balaram Ambaji 3. Jambughoda 4. Barda
(A)1,2,3and 4 @: 2and30nly
(C) 2,3 and 4 only (D) 1 and 4 only

081. Which of the following statements is/are correct regarding rainfall in Gujarat for the year 2019?
1. Dangs has the highest rainfall in the state
2. Valsad district has second highest rainfall in the state
3. Kutch district has the lowest rainfall
4. Gujarat had an average of 1176 MM rainfall for the year
(A)1,2,3and 4 (B) 1, 2 and 3 only
(C) 2,3 and 4 only .1, 2 and 4 only
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082.

083.

084.

085.

086.

087.

088.

089.

090.

@Rl 2011+ azdl ALl AR ARAAHL SCs AL STs +l Azl 24 d-ll & azdl-u s2en uldaa & ?
@scs o uRad 2 5.1 40 10 ulQaa- walewmi 8.

(B) STs 1 uldaid 24 20.1 2l 40 nlagid-l Hulewmi .

(C) tiA (A) a (B)

(D) (A) 218 (B) s ugL &

D2 W4 sul us 24 wildla (yedl uz-l) (terrestrial) A «efl ?

(A) 48 (B) 45

@-: (D) Gua-i U4 s uat
A U 5y [Qanqysa (Al e 4l ?

(A) [y €l [doie-u G neamidl Gema 8.

(B) Ban el 3 5194l vilamidll Ggma 8.

(C) udl ¢ [Bxaa ugadll g¢ 2s32nidl >uom ad ©.

@z e 2 Duipauid Bemd 8.

AU [Buseu v B UL AHARHL 8dl. d ......... Al a23 [Ruq 8.

@1 a3yg 24 0d) Uy (B) Adl AYg A S0 Y

(C) stflurt AYs 21 S100 AYs (D) GH= AYg 2 5100 A%

UCIL gL ity 1 sidlanflzue vid 2uddl g lRam-l vael D W4 s oaini 2uddl © ?
(A) BIRULS A AZRUAA UBA @cionou 27 Amuan

(C) ulZam vioun 24 20014 (D) MR 1A [l55w

D2l WA 5y [Qa/san [l a8 ?

(A) AR Horuvll HUeUSAHI bUoRA AddR 530 AsIA .

(B) 2124 Mol 244 24 Y uRRAlani gdrd addr 530 asu .
@i (») qu (B)

(D) (A) A2l (B) 215 uaL [

Qlalg AL AS A ... 18 Asnda 9.

@210 s (B) [S+ga i

(C) eRug Hicua (D) Bua-il dHIH

A2 W 5 ApU 2 AR ‘5[ GuuR’ als vivna & ?

(A) sai2s @ u2a (C) 2tid U2l (D) Brs1z
cuRdla [guidl Aldl ay v .......... Hi [ .

(A) sidun-l GualR (B) YUl 2Avld

@200 s (D) Guat Wl s uar &
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082.

083.

084.

085.

086.

087.

088.

089.

090.

What is the proportion of SCs and STs population in Gujarat state to its total population as per
the 2011 Census of India?

.The proportion of SCs is in the range of 5.1 to 10 percent
(B) The proportion of STs is in the range of 20.1 to 40 percent
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following planets is NOT a terrestrial planet?
(A) Mercury (B) Venus
.Jupiter (D) None of the above

Which of the following statements is/are INCORRECT?
(A) Indus river originates on the Tibet Plateau

(B) Jhelum river originates in Kasheer valley

(C) The Rave rises in the Kullu hills of Himachal Pradesh
.Sutlej originates from Pir Panjal

Sinai Peninsula is in news recently, this is located between )
.Mediterranean sea and Red sea (B) Red sea and Black sea
(C) Caspian sea and Black sea (D) Mediterranean sea and Black sea

The Uranium mines being developed by UCIL at Lambapur and Domiasiat are located in which
of the following states?

(A) Jharkhand and Arunachal Pradesh .Telengana and Meghalaya
(C) West Bengal and Assam (D) Maharashtra and Sikkim

Which of the following statements is/are correct?

(A) Pearl Millet can be cultivated under hot humid conditions

(B) Pigeon pea can be cultivated both under hot humid and hot dry condition
@soth (4) and (B)

(D) Neither (A) nor (B)

Normal cycle of erosion is associated with

.Fluvial erosion (B) Glacial erosion

(C) Marine erosion (D) All of the above

Which of the following states is called as the “Agricultural Epitome” of India?
(A) Karnataka .Uttar Pradesh

(C) Andhra pradesh (D) Bihar

Maximum number of Indian islands are located in

(A) Bay of Bengal (B) Gulf of Mannar
.Arabian sea (D) None of the above
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091. Rl AU At ALRWAS [ARelR Berell sHHI dlsadi HlA- WS sul 21451 ULU & ?
(A) A% — i ugA — G uea —oid (@RurRar — G uBe — o1 — uis uBa
(C) BTl Ugl — AYA — YA — AL UL (D) A% U2 — A% — BTi2 UL — Aar2d

092. ‘axdl [Auus idR’ Ave A .......... Hi dslad Jud 9.
@2 iy eR (B) au W]
(C) oald wa (D) $1:42 24 [Bint-51202 qzl

093. D QA 58 wHA 2 SHRdIU ciasiuul A Ad Guaiomi dani viadl el ?
(A) A-ude (B) 31+l ueaR
@ v weaz (D) 2114

094. QA VAL 56 €14 Aledl wiel xnaA (da2) (Basin) [Azair € ?
(A) arll (B) 5145\ (C) "¥eL @2

095. DA WS st usR-U Bl 2 HRAHL cloi(As Al Alell ay wldad [ 2uzssled 52 6 ?
(A) Gwa s[26idlu elogano winviR %l
@)oo sRoidlu s v Facil
(C) Bu s[26itlu 214 ALIHSIR (Semi evergreen) %Al
(D) GuR-u WSl s urL &

096. YAWRIHR Ay WRI AU A .......... a?ls ueL v €9,
(A) el (AlAgl) ary well Ao (B) 431 a=u el A8y
(C) €181 axy Well HeHUIRRY @+« (Dhumkhal) a-a el 2teuRed
097. el A0 UL s [Feel due wAvR (M, gos, si2on) Faa-dl 2ue9e--l ay (AR
4219 €9 ?
(A) %121e (B) A¥gl
@:i- (D) 0125061
098. Y- s (galaxy) U 5% $cll URGHRL 5l ARLAL AHUNOUA .......... sdald ,
(A) U512 a (B) wolvflu ay (C) wll @i dlu i

099. «Aglrl ueHi Al ¢ Bevtirl AMldd uReuni A1 Y4l s e ?
1. €l suladl (salinity) ui @eisi.
2. ¢ g UL
3. gHlnold gl 12 odl
A2 U4 diou [Aseu vrie 42l
(A) WAt 1 @203
(C) " 1241 3 (D) 1,243
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091.

092.

093.

094.

095.

096.

097.

098.

099.

Which of the following sequence is correct one, indicating states of India in the descending order
of their geographical area?

(A) Rajasthan - Andhra Pradesh - Uttar Pradesh - Gujarat
.Rajasthan - Uttar Pradesh - Gujarat - Andhra Pradesh
(C) Uttar Pradesh - Rajasthan - Gujarat - Andhra Pradesh
(D) Andhra Pradesh - Rajasthan - Uttar Pradesh - Gujarat

The term ‘Demographic gap’ signifies the difference in

.The birth rate & death rate (B) Age structure

(C) Sex ratio (D) Working & non-working population

Which one of the following materials is not used directly in the construction buildings? -
(A) Granite (B) Sandstone

.Limestone (D) Marble

Which of the following rivers have the largest Basin area?

(A) Tapi (B) Cauvery

(C) Narmada .Mahanadi

Which one of the following forest type covers highest percentage of geographical area of India?
(A) Tropical Moist Deciduous .Tropical Dry Deciduous

(C) Tropical Semi evergreen (D) None of the above

Shoolpaneshwar wildlife sanctuary is also known as
(A) Bansda (Vansda) wildlife sanctuary (B) Barda wildlife sanctuary
(C) Dahod wildlife sanctuary .Dhumkhal wildlife sanctuary

Among the following districts of Gujarat which one has larger area under dense deciduous
(moist, dry, thorn) forest cover?

(A) Junagadh (B) Narmada

.The Dangs (D) Sabarkantha

The period taken to revolve the Sun around the centre of the galaxy is called
(A) Light year (B) Astronomical year

(C) Parsee .Cosmic year

Which of the following is/are the possible consequence/s of heavy sand mining in riverbeds?
1. Decreased salinity of the river 2. Pollution of groundwater 3. Lowering of water-table

(A) Lonly .2 and 3 only
(C)1and 3 only (D)1,2and 3
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100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

2l WA s ol [Guaygidl a2 {5+ Wl (Duncan passage) [Rad ¢ ?

@: (22 2iig12un 247 UL 2tig1un (South Andaman and Little Andaman)

(B) Uil eI 21 512 [AsionR [§u Uy (Little Andaman and Car Nicobar Island)

(C) 512 [AsionR [gu UYL 214 -t [AsieuR [gu AY8 (Car Nicobar Island and Little Nicobar Island)

(D) - [AsienR [gu Uy 214 Hial [AsienR [gu Ay (Little Nicobar Island and Great Nicobar
Island)

Windows 2ut1dld 51324231 reboot sl HIE AL {ld AL WSl sul 2ue (command) UMl
219 €9 ?

@ctri + Alt + Del (B) Ctrl + Alt + Tab

(C) Ctrl + Shift + Del (D) Ctrl + Shift + Tab

g2 MR-l oi=s [Asa (Bandwidth) 5 % Alell 4y #Hdl 41 © 2 9 WS sida (Y81 d301), se1d da
515612 Lines ¥ Gualomi Aui2ud 9 d ... a3 vy 9.

(A) Bus width (B) Hyper-link

@5 roadband (D) Carrier wave (ugs d221)

qatd 2uls yeu YRRad sl s ugla = ......... AL AHIA GIRL 59 A 6.

(A) sl HvlL 244 d-l SR €

(B) 98 GIRL drll DAS10 £3U1 BUALH AR SUIL L A4 USI2UAL UldHLL 61212 HLarL HELS GIRL

(C) (A) dail (B) il AU HRALR

@2 <121 dw arsin e2run Y uisami suaru WRRAR S dal (ecosystem) Acuvii-i ul@lFus
YR gIRL

guir-2 Mg stasiani uduani D& W4 sun gl Gualol saumi suel ?

(A) PSLV-XL @:sLvvik-mn

(C) SLV-3 (D) Gu+1 U4l is uwt (&

A A ... gL HIUAUHE 21d .

(A) Hypsometer (B) Thermopile

@ryrometer (D) Gu-u WSl s urL e

w1y szl (R welld s ... 8.

(A) 42 2Bid s @210 afd e s

(C) =aini-ll ol aral (D) Bur-l U4l s uwt Al

e (Al a2l 6l 15[ AsIAA QR HdRA ... 58 8.

[ RECRCEI (B) suldzaiz (C) 2ualk (D) Al
Hira Al A UL 53 vioL Sy Gewent s2 €9 ?

(A) asd @ue i (C) yaAlis (D) Hig AidR§
SUABIA YU ... NAEETER)

@it 2n siel silisss (B) [t 211 wtislloy=t

(C) MU A $16{ LSS S (D) WA 241 2500
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100. Between which one of the following pairs of islands is Duncan passage located?
.South Andaman and Little Andaman
(B) Little Andaman and Car Nicobar Island
(C) Car Nicobar Island and Little Nicobar Island
(D) Little Nicobar Island and Great Nicobar Island

101. In general, which of the following command is given to reboot a Windows based computer?
@ctri - Alt + Del (B) Ctrl + Alt + Tab
(C) Ctrl + Shift + Del (D) Ctrl + Shift + Tab

102. Communications bandwidth that has the highest capacity and is used by microwave, Cable and
fiber optics lines is known as

(A) Bus width (B) Hyper-link
.Broadband (D) Carrier wave

103. The best method of fixing the economic value of a tree is by estimation of
(A) Timber volume and its market rate
(B) Fruits and other tree produce projected for its life time at current market rate
(C) Sum of (A) and (B)
.Commercial value of ecosystem services provided by a tree during its lifetime

104. Which launch vehicle is used to launch Chandrayan-2 mission into space?

(A) PSLV-XL @csLvvk-m
(C) SLV-3 (D) None of the above

105. The temperature of sun is measured by
(A) Hypsometer (B) Thermopile
.Pyrometer (D) None of the above

106. The function of heavy water in a nuclear reactor is to
(A) Stop the neutrons .Slow down the neutrons
(C) Increase the species of neutrons (D) None of the above

107. The distance between two consecutive compressions of a sound wave is called as

.Wavelength (B) Amplitude
(C) Frequency (D) Intensity
108. Which of the following organs of Human body produces insulin?
(A) Liver .Pancreas
(C) Kidney (D) Large Intestine
109. Biogas is primarily a mixture of .
.Methane and carbon dioxide (B) Methane and oxygen
(C) Propane and carbon dioxide (D) Propane and oxygen
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110.  sild drumin 3 el DA dd adlsadl B az wa d d ... PRETURE
(A) qaloig .35[301 (g,
(C) araue [®ag (Precipitation point) (D) arilsw [eag,
111, Brid Qo s1iamal e Asdlu (et (National Mission for Enhanced Energy Efficiency (NMEEE))
C R A A 89,
(A) uHIR), Blog -2 (B) G Glod w2
@Gues Gaiol (D) Gu-L WSl 25 et AR

112. NCCC (National Cyber Corridor Centre) d&l DFS (Directorate of Forensic Science) 2A <11 U4l
$ULHALQU 860 204 8 ?

@: iuan (B) Raw Houay
(C) [Asur 24 as-l4l Hanau (D) &2 AAR HAEY

113, DA U4 £y [Qanmysa (Al a9 ?
1 wets 2 @2l A Al Rl eAd 9.
2. UM gronan- s1RRIHIG 25 21 [@2idl- C - Gau 6.
3. 2usRHL (A2l D Al ag Hisu 24 seallumqu ainil sl 2406 52 8.
fal-u WA uloy [Asey vaie s:u.

(A) 1,243 (B) WA 2 21 3 (C) Wt 1241 3 @122
114, DA A 53 24 Alell ay sindeL qeu 41 8 ?

@S5 (B) el aiy

(C) ARSA (D) Gu~u U4l s yrL &

115. usi Asdme 0 DA UAH 56 ulzu isonadl ¢ ?
(A) Y5 Gotrtt [l H12 w2691 Glof [Aysd i 8.
@15 QoA 21 w291 Qo 3uidRa 2w & 2R Aasu 8.
(C) $16i-t 1AL S 11 WLl Yoel s W2 viRAS 2U5AS A3 2 B,
(D) s AL 20 69 A sl LSS S dal Wl iy s8R sd 9,

116. DA U4 5y [Qauny/sa Q- e e ?
(A) ag 2[R (Myopic) L vurll awoll culsaq vidotln dxuql Guaiol sai-l Aens 2w 6,
(B) 213 ¢[2 (hyperopic) -l vl cwvfl ulsan el @il Guaiol a1l A 2w 6.
@:in (») au ()
(D) (A) A2 (B) 215 uaL <[

117. yedl $d A 52l 5051 Guas 2 udl wdl el 2uH Aug S0 2 S 5 yedld susna..........
(A) 2n2el Yid? A v2uag -l (B) gl 2UsHRIA 5181 UeuAdl oA 8,
(C) Al RaR Ald 2 %33 H3uyd wd 8. @0 ol e 3A udayRiul 8.
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110. The critical temperature below which the condensation starts is known as
(A) Melting Point .Dew Point
(C) Precipitation Point (D) Condensation Point

111. National Mission for Enhanced Energy Efficiency (NMEEE) is related to
(A) Nuclear power plants (B) Thermal power plants
.Manufacturing industries (D) None of the above

112. NCCC (National Cyber Corridor Centre) and DFS (Directorate of Forensic Science) falls under
which of the following ministries?

.Ministry of Home Affairs (B) Ministry of Defence
(C) Ministry of Science and Technology (D) Ministry of Telecommunications
113.  Which of the following statements is/are correct? -

1. Spinach is a good source of vitamin A
2. One of the causes of pain in the joints is vitamin C deficiency

3. Excess Vitamin D in diet promotes low calcium absorption

(A)1,2and3 (B) 2 and 3 only
(C)1and 3 only .l and 2 only
114.  Which one of the following has the highest fuel value?
.Hyd rogen (B) Natural gas
(C) Charcoal (D) None of the above

115.  Which one of the following process involves photosynthesis?
(A) Potential energy is released to form free energy.
.Free energy is converted into potential energy and stored.
(C) Food is oxidised to release carbon dioxide and water.
(D) Oxygen is taken in, and carbon dioxide and water vapour are given out.

116. Which of the following statements is/are correct?
(A) A myopic person is advised to use concave lens.
(B) A hyperopic person is advised to use convex lens.
@soth (A) and (B)
(D) Neither (A) nor (B)

117. An artificial satellite orbiting around the earth does not fall down. This is so because the attraction
of the earth
(A) Does not exist at such distance.
(B) Is neutralised by the attraction of the moon.
(C) Provides the necessary speed for its steady motion
.Provides the necessary acceleration for its motion
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118.

119.

120.

121.

122.

123.

124,

125.

Organic Light Emitting Diodes (OLEDs) tioid 12«1 WSl 3 [Qauq/[Qanil aca ¢ ?
1. OLEDs 3 5156118 B2¢l Uldvll €id €.

2. OLEDs TV % LED TVl audai ay 3l A [H—idL (Picture contrast) 2ud €.
3. OLED TV % tu% a5l (from the side) U3€l 4l o dl u A= gaild €.

A2 U4 aiou [Asey urie s3l.

(A) WAt 1 (B) HisL 1 244 2 (C) WA 2 214 3 @: 2213
Bluetooth Hi .......... sl GualoL 4y €.

(A) Gaussian minimum shift keying .Frequency hopping spread spectrum
(C) 8 phase shift keying (D) Guaril dAHIH

Bitcoin suoid 1A Ul s [Qay/sa (el aea € ?

(A) Bitcoin AU, (address) 4212 S1SURL ulsd 2 214 518 @ulEd 5 % Bitcoin U+, (address)
414l 1Y dA Bitcoin Hisel A5 241 dril azsdl wind s34 a5 €.

(B) tinl ual s ysasllai mHl calsa-l sinvuw [Qqn 2 as .
@:in (») au ()

(D) (A) A2l (B) 15 uaL [

‘evolved Laser Interferometer Space Antenna (eLISA)’ Wy s2-l @g 2\], 9 ?
(A) 42> Al 12

@213 <wsrilu aon aaa we

(C) Rrauda 2iaa neudl-l 11512541 b w2

(D) 2uugll 2i2&9 ueudl u AR Al AU AU 5L HI2

A1 U 5y [Qanmysa [l a6 ?

(A) [Rs2 x1a35d (Near Infrared) d22u A3 g[R2 -1 GuRl et Guaiani A .
@1 (300 euR Gofarn umiedlu [Qs12l 2R Yu-lani Beut wia 8,

(C) tinl (A) aaL (B)

(D) (A) A2 (B) 215 uaL [

e WAL sul ueied 24 2D ([8 ulRmsllu) 2a3uni x1Rdc q1adl A8 ?

(A) Graphene (B) 6l 122

(C) 512514 @Gur-utia 25 ua R

D2l W 54 2 oDl [Qgla ([asR) el ?

@ (B) AdaAlay

(C) suisldlu (D) 2415 s1Seiilu

Indo-US 0ysd, [Aldre eo saud “Vajra Oahar 2021° A .......... vild 812 4 2udl.
(A) Rona, i uea @5, Ruaa uza

(C) M3, A% (D) 529, Aa3d
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118. Which of the following statements is/are correct regarding Organic Light Emitting Diodes
(OLEDs)?

1. OLEDs are as much thin as a cardboard.
2. The OLED TV provides a better picture contrast than the LED TV.

3. The OLED TV will continue to show picture even if the screen breaks from the side.

(A) L only (B) 1 and 2 only
(C) 2 and 3 only .1, 2and 3
119. The technology used in Bluetooth is
(A) Gaussian minimum shift keying .Frequency hopping spread spectrum
(C) 8 phase shift keying (D) All of the above
120. Which of the following statements is/are correct regarding Bitcoins? -
(A) Anyone with a Bitcoin address can send and receive Bitcoins from anyone else with a Bitcoin
address.

(B) Online payments can be sent without either side knowing the identity of the other.

@soth (4) and (B)
(D) Neither (A) nor (B)

121. What is the purpose of ‘evolved Laser Interferometer Space Antenna (eLISA)’ project?
(A) To detect neutrinos
.To detect gravitational waves
(C) To detect the effectiveness of missile defence system

(D) To study the effect of solar flares on our communication system

122. Which of the following statements is/are correct?
(A) Near infrared waves find application in the construction of night vision apparatuses.
.Gamma—rays are produced in high energy nuclear explosions and supernovas.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

123. Which of the following material does not exist in 2D (two dimensional) form?

(A) Graphene (B) Boron nitride
(C) Phosphorus .None of the above
124. Which of the following is NOT a genetic disorder?
.Scurvy (B) Thalassemia
(C) Haemophilia (D) Cystic fibrosis
125. Indo-US joint special forces exercise “Vajra Oahar 2021 was conducted at
(A) Vizag, Andhra Pradesh .Bakloh, Himachal Pradesh
(C) Bhatinda, Rajasthan (D) Kutchh, Gujarat
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126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

World Economic Forum -1t Global Gender Gap Report 2021 (A[us (&1 dsiad »u8aud 2021) 212
I TEX I Hi $H 20da 69,

@ +o (B) 144 (C) 148 (D) 151

WL A viddld widal v sun (A5 Woudd AUA HRAH .......... £RRULL “YiMeL yuaLsy’ -l
Goganll 531,

(A) 19 15 W, 2021 (B) 14l 15 »i[Ma, 2021

@16 N 31w, 2021 (D) 15 4 30 2\, 2021

AYsd 2 g1 AHA [Qani wld ad 7 A0 [ e [Bad adls wruaani »ud 6. 21 Q- yuu
Qe .......... 8.

(A) AdA W2 a4y iR aureaq Ruin @ 202y, ay 2z Qad Ruia
(C) dxiH M2 a1e Yel yulad [Ruiw (D) Gua-il U4l s uwt A&

Qe WAL - sul 2ed At 2 cuRaAH AL Uy AYel [@Qogtllgd A e ?

(A) ulan 3ed Ain (B) el21 3¢d i

(C) el 1 3¢d At @ 1 3ed i

SDUHL QYsAIR (Luxor)Hi 3000 Ay ol A8 Bevit sl Uy, 24 A8 AUARS WA ...
BUUAHL U,

(A) Acdrd-l Beu (Rise of Sultanate) @121 Geu (Rise of Aten)

(C) 32Ul G (Rise of Cairos) (D) Bua-il U4l syt Al

RURA tLgAIY aesdl sald “Shantir Ogroshena 20217 oL ldl. d ... vid 4l sdl.
(A) Aleist (B) S+t (C) Aoy @iccuca

QA U4 s 2 [Ga-n Al Glu Ganbala Radar Stationl 2au- 531 ?

(A) siu (B) eufla

(C) USA @Gy A9 s wa Al

na=ll M U8 Al 2iddld wRisl adl 2020-21 eRum DA WS su A%u Aldl ay dend-u
A3 [Asruaami naH e wed sy ?

@0 (B) A%sUd (C) USRI (D) Wlau sidoum

AYsa A A2 wRA B AL NAH A ... wild United Nations Food Summit 20214 »udlost
54 9.

(A) 1l Bedl @ (C) A2l (D) &4

agell vi-iazd, advanced light 8dlsiex .......... 4 MaH SsH GuRdlY A-AL gL ol vid Jsami
By,

(A) HSW-23 (B) MR-34

@1 (D) Burt Wl s uar &
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126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

According to World Economic Forum’s report Global Gender Gap Report 2021, India stands at
rank.

@ +o (B) 144

(C) 148 (D) 151

The Ministry of women and child development celebrated “Poshan Pakhwada” across India under
Poshan Abhaiyan from

(A) 1st to 15t March 2021 (B) 1st to 15" April 2021

.16th to 31st March 2021 (D) 15th to 30t April 2021

The United Nations” World Health Day is annually observed across the globe on 7t April. ___is
the theme of this year.

(A) Building a better health for everyone .Building a fairer, Healthier world

(C) Healthy environment for everyone (D) None of the above

Which of the following Railway Zone is the first fully electrified Railway zone in India?
(A) Western Railway Zone (B) Southern Railway Zone
(C) South Central Railway Zone .West Central Railway Zone

A 3000-year-old town has been excavated in the city of Luxor, Egypt. The City formally named
as

(A) Rise of Sultanate .Rise of Aten

(C) Rise of Cairos (D) None of the above

India participated in multinational military exercise “Shantir Ogroshena 2021 held in
(A) Sri Lanka (B) Indonesia

(C) Singapore .Bangladesh

Which of the following countries established world’s highest Ganbala Radar Station?
(A) France (B) Brazil

(C) USA .None of the above

Which of the following states in India bagged first rank in developing highest road length under
Pradhan Mantri Gram Sadak Yojana during the financial year 2020-21?

.Chhattisgarh (B) Gujarat
(C) Maharashtra (D) West Bengal

The United Nations Secretary General has called for first ever United Nations Food Summit 2021
to be held in

(A) New Delhi @ ork

(C) Beijing (D) Dubai

The First Unit of indigenously built advanced light helicopter introduced into Indian
Navy at Goa.

(A) HSW-23 (B) MR-34

.M K-111 (D) None of the above

[ASP-1]
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136.

137.

138.

139.

140.

141.

142.

143.

144,

145.

N e el A2 vl 1a519 229111 (Space station) 203 Sl 2L 531 8 €9,

(A) 2024 @205 (C) 2030 (D) 2035

(A= 2uRiou 24221 (World Health Organization (WHO)) ¥ A .......... el 50 MlQun sunst w2
Alus A0t Uldren AL AU $Y,

(A) 2025 @200 (C) 2035 (D) 2023

-\

Defence Research Development Organization i Olidl uild Pythan-51, vogrell udlagt
L 8.

(A) sl 1wl u-l Muda (Air-to-surface missile)
(B) Awiélell seu v+l [uda (Surface-to-air missile)
@l ccuwl FBruSa (Air-to-air missile)

(D) wellell gen v+l [Ruda (Water-to-air missile)

aRdla dsulAsizl MACS 1407 -ung Gl Guas 2uu-iR 241 @aid uldias ol (s © 2 ..........
wofle 6.

(A) &6 (B) swt (C) us1S @i

[ U4l su1 89 24 MIRdA &9 P-8l Patrol A2s12 daal Wi+l Hogdl 2uda ¢ ?

(A) A2 (B) si (C) Sxusa @usa
.......... gl Andrea Meza (2A-§lan Hon) 24 aul 2020+ (A yRad dwer wid sl

[ RERIE] (B) e\ (C) e 2ulzs (D) W5\

A Glot A (International Energy Agency (IEA)) it Global EV Outlook 2021 2A7412 ad
.......... Yl ¢uRd 2l Ay 30% SAsILs sl el

(A) 2025 (B) 2035 @030 (D) 2040

Saadanl qa vl 1saidl side (Naftali Bennett) % .......... A 51U uaL 6,

(A) Likud @ramina

(C) United Democratic (D) Bur-l U4l syt Al

e UM WAL (YY) [A8us 2021, 2 A%AUA gIRLHYR sUHT 20dd 8. 21 [A8us A .......... 4
221 Q4.

(A) drud 4 2adatdl 2ARUuH 2007 (Gujarat Freedom of Religion Act 2007)
(B) 2121 4H AL 2A[B[RuH 2005 (Gujarat Freedom of Religion Act 2005)
@: 121 43 2ada 21B[RuM 2003 (Gujarat Freedom of Religion Act 2003)
(D) Gua-it U4l s uwt Al

MRA oo A Geurt vitd [l yri: 20 sami 2uasl.
@:- (kuno) (B) da~ii3 (Wynad)
(C) UnoygR (Perambudur) (D) Bur-l U4l s uwt Al
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

Russia is set to launch its own space station by the year

(A) 2024 @2025

(C) 2030 (D) 2035

World Health organization (WHO) unveiled the Global Immunization Strategy to reach 50 million
children by the year

(A) 2025 @200

(C) 2035 (D) 2023

Defence Research Development Organization has conducted maiden trial of Python - 5 in Goa,
thisis a

(A) Air-to-Surface Missile (B) Surface-to-Air Missile

.Air-to-Air missile (D) Water-to-Air Missile

Indian Scientists developed high yielding and pest resistant seeds named MACS 1407, these are
seeds of

(A) Wheat (B) Cotton

(C) Maize .Soyabean

Which of the following countries approved the sale of six P-81 patrol aircraft to India?
(A) Russia (B) France

(C) Israel @vusa

Andrea Meza of country has crowned as Miss Universe 2020.

.Mexico (B) Brazil

(C) South Africa (D) Morocco

According to International Energy Agency (IEA)’s Global EV Outlook 2021, Electric vehicles to
make up 30% of Indian auto sales by the year

(A) 2025 (B) 2035

@030 (D) 2040

The new prime minister of Israel Naftali Bennett belonged to which political party?
(A) Likud @romina

(C) United Democratic (D) None of the above

Gujarat Freedom of Religion (Amendment) Bill 2021 was approved by the governor, this Bill will
replace the

(A) Gujarat Freedom of Religion Act 2007 (B) Gujarat Freedom of Religion Act 2005
.Gujarat Freedom of Religion Act 2003 (D) None of the above

The cheetah is to be reintroduced into India at national park.
.Kuno (B) Wynad
(C) Perambudur (D) None of the above
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146.

147.

148.

149.

150.

151.

152.

AYsd AR+ 2017-2030 L AOLAL HISHL Y8Les il adl 2030 YL B [yl .........
QHIRL Sl @ed 9.

(A) 2% @z

(C) 9% (D) 19%

RURA AURSIR UL A 2021-22 HI2 HUY BAUlEAHl ABULS UAR ... Hlelan 2l [Raila s34 6.
(A) 215 @:o7

(C) 326 (D) 410

cdld @an lu (R 2 dfRs 4l ..., syl Alel ay wgrall (Valuable) i1 .......... PRI ENE]
ooy dlHL a3 oidl.

@0 14 30 (B) 1541 41 290

(C) 32 21 1041 (D) Gu-u WSl s yrL &

DIPCOVAN-COVID 19 A-3l6iidl dw A2 ......... gl [Asnacumi »udl.

(A) HT 1 (B) Indian Institute of Science

.DRDO (D) National Institute of Virology

Aarvu (Pandemic) g2wuq [Qenellzi-l Hinls - xS dgedl W ... 3 “Dost for Life”
App-l W™ sul.

(A) NITI 2uuidl (B) AICTE

@csse (D) Bur-u Wl 25 uar S

MRA WR S buotd DA WS 5y [Qanqy/san [Qa-l a6 ?

1. MR olaReL 25 WIRsca »uu 8.

2. 544 (Article) 1141 “wRR s @ddl dmm susidini stae adaiddl Al Aued 20Ua 89,
3. HIRA Y, WIS Uikl S HIZ MIRA ARSI, A Hoausd e utlEsiR 6.

4. AR s AYSa AElHl axlae 9.

A1 Ul uloy [Aseu uie 521,

@:. 23214 (B) WA 1, 2 241 3

(C) "L 2, 3911 4 (D) W2t 1 24 4

743 vitRella YRl sneid D U4 sa [daql a8 ?

1. oituReIAL ¢UL IX A 2 283 22UA S 224U @21l 69,

2. R Ya1ud 2 el sxnidl a8l aani uRadla ad e aail we 9.

3. d uin a5 ddll ay azdl quadl axm rulaszimt aid AR eitasl gaas ydl wl 8.
4. $a¥ 243-1 viadld -waw suaioil -l s sami 2udl 6.

21 U diou [Aseu vrie sl

(A) 1,2, 3214 (B)Wa 1, 2 ¢4 3

(C) WA 2, 311 4 @1 2214

[ASP-1] [Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


146.

147.

148.

149.

150.

151.

152.

United Nations strategic plan for forests 2017-2030 has set a goal to increase forest area by
by the year 2030.

(A) 2% @z

(C) 9% (D) 19%

Government of India has set a target of approximately million tons of foodgrains
production for the crop year 2021-22.

(A) 215 @:o7

(C) 326 (D) 410

Life Insurance Corporation of India became the most valuable and strongest
Insurance brand globally.

@10t and 3+ (B) 15th and 2nd

(C) 3rd and 10t (D) None of the above

DIPCOVAN-COVID 19 antibody detection kit was developed by .
(A) IIT Madras (B) Indian Institute of Science
.DRDO (D) National Institute of Virology

has launched App “Dost for Life” for Students’ Psycho Social wellbeing during the
pandemic.

(A) NITI Aayog (B) AICTE
.CBSE (D) None of the above

Which of the following statements is/are correct regarding Citizenship in India?

1. The Constitution of India provides for single citizenship

2. Article 11 has conferred power upon Parliament to legislate on all matters of citizenship

3. Ministry of Home Affairs, Government of India is the nodal authority for acquiring citizenship
in India

4. Citizenship is listed in the Concurrent List

.1, 2,3and 4 (B) 1,2 and 3 only

(C) 2,3 and 4 only (D) 1 and 4 only

Which of the following statements are correct regarding 74t Constitutional Amendment Act?
1. Part IX A of the Constitution deals with Urban local bodies
2. Nagar Panchayat are meant for an area in transition from rural to urban area

3. Provides for constitution of Ward Committees in all municipalities with a population of
five lakhs or more

4. Provision of Finance Commission constituted under Article 243-1
(A)1,2,3and 4 (B) 1,2 and 3 only
(C) 2,3 and 4 only .1, 2 and 4 only
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153.

154.

155.

156.

157.

158.

159.

Daleu WA 53y [Qa/san [l a8 ?

(A) HRd U212 2ARRUH, 1919 (Government of India Act, 1919) iddld ®idd [Qu-rsn ay
wlalilae ) 214 Al naH [gadl siiaani 20,

(B) &uRd u2s12 w[A[RuM, 1935 (Government of India Act, 1935) A Uidl dal (Ul A%AA 254
15 all 25 g yart 54 8.

@i () qu(B)

(D) (A) 2 (B) s urt Al

oy Y

D2t U4 suL SUHE AT AHELAA AL NAH AV Vial YSIEL L 5 GIEIRBLAL UIRAOLA, HITAH] AAUE GIRL
Rl s as & ?

(A) SUasua 3u @3 2cu-ic curdl 3u
(C) Mnan R 3 (D) Gu~u WSl s yrL &

A1 Q4L suL (Bl aeawd 24 02uldd qam 53 as ?

1. A% WAlHs Al e124251

2. adl AN&1qa-i =uaHledA g2 sal

3. Al [Qraeug [@Quo

4. AuHi AlaAS daaqit ua--l aivgu

{121 Y4 a0y [Aseu urie s

(A)H1AA 1, 2 94 3 (B) WA 2,344 @ 132114 (D) 1,2, 3414

Aouwd e [Bau-dl walemi ur-a [@Q8us 3 d [Qarueud yaldaizen W ud 53 a3 ?

(A) 35 R (B) & MR+l (C) &9 (3l @:\S 2 waien e
Q- WA s oimnelly Yl vad dAlHsng se 2 disucun 4 1ol 15 Wdad Yol waillzd
548 ?

@0+ yari (B) 954l a3l (C) 934l Yl (D) 9241 YHl

AML {5 g0 uetd A WAL sy [Qaun/sun (sl aea e ?

1. d s v Ul 9 5 9 dlsusunl wmea s ueudlel 2140 9.

2. d-ll You 8g 2 M8 Heeall 6Uold UR dlesilas 98 R glRaAl HSHL 8.
3. d AUAMIA URL AL U3 6.

4. dl 9 5L HI2 LML 219 50 ARAILAL 251 slal %33 69,

A2l W) uloy [Asey wrie 52

(A) WA 1, 2 31 3 (B) WA 2, 3 241 4 @ 1274 (D)1, 2,31 4

2 WAL 5 ALl AlRlAnn s 2 wns va-i aeunidl (Aysd sami 2ud 97

(A) 182 weii-l Ul @-icix ula

(C) 28R [0 ul@ld (D) Meuysd s14EL (Delegated Legislation) u¥[d
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153.

154.

155.

156.

157.

158.

159.

(A) Under the Government of India Act, 1919, the Indian Legislature was made more representative
and for the first time bicameral.

(B) The Government of India Act, 1935, prescribed a federation taking the Provinces and the
Indian States as units.

@soth (») and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct?

In which case did the Supreme Court pronounce the judgement for the first time that the ‘basic
structure’ of the Constitution cannot be amended by Parliament?

(A) Golaknath case .Kesavananda Bharati case
(C) Minerva Mills case (D) None of the above

On which of the following issues can a Governor make recommendation to the President?
1. Dismissal of the State Council of Ministers

2. Removal of the Judges of the High Court

3. Dissolution of the State Legislative Assembly

4. Declaration of the breakdown of the Constitutional Machinery in the State

(A)1,2and 3 only (B) 2, 3and 4 only

@ 32and 40nly (D)1, 2, 3and 4

What is the time limit for Governor to return an ordinary Bill to the concerned State Legislative
Assembly for reconsideration?

(A) One month (B) Two Months
(C) Six Months @0 Time limit

Size of Council of Ministers has been restricted to 15 percent of membership of Lok Sabha, by
which of the following constitutional amendment?

.91St Amendment (B) 95t Amendment
(C) 93rd Amendment (D) 92nd Amendment

Which of the following statements is/are correct regarding Adjournment Motion?
1. It is an extraordinary procedure which sets aside the normal business of Lok Sabha

2. Its main object is to draw the attention of the House to a recent matter of urgent public
importance

3. Itis also applicable to Rajya Sabha

4. It must be supported by not less than 50 members for introduction

(A) 1, 2and 3 only (B) 2, 3and 4 only

.1, 2 and 4 only (D)1,2,3and 4

The Chairman of which of the following parliamentary committees is appointed from the members
of ruling party?

(A) Committee on Public Undertakings .Estimates Committee

(C) Public Accounts Committee (D) Committee on Delegated Legislation

[ASP-1] m
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160.

161.

162.

163.

164.

165.

166.

Sl A sl 2L ouetd DA UL s Qe e 69 ?

1. d-ll 220y iy ARl qenmeid 202 sami 2udl.
2. d CBI-L $1dl uR ewu Avig) -l

3. d HIRd A1 SIR16ULL s1a7 AR AUH] 2, 8.
A1 U diou [Aseu vaig sl

(A) WA 1 214 2 (B) HIzL 2 244 3 @113 (D) 1,24 3
19284 .......... 2 eurdly oitReHl acuHdl wiawll Gaidl.
@i 23 (B) Hidlana A3 (C) 21u 3 2l (D) YMUMRAg 6iLo

[B1221e yRa i, 2019 g1 usilRid Yds “Modi and the Reinvention of Indian Foreign Policy™il
auvis sl e ?

(A) 2 8 HA 24 aga [Hsn (B) yuig, Bruél

.?:SC{H Sld (D) 23lcu 2l 2SR (Teresita C. Schaffer)

BIM STEC ¥l ald a6 uosdi-l Wes i2en 9. 2u 21 - welds iz 2 .......... g1l 2Rani 2udl.
@ciousis ainan (B) 3L51 BB (C) Ry slmeu (D) W&l BNRL

2 WAL 53 1 vigaL (Bandung) WlRuer e [Rugidl Wdld -ll?

(A) axiH 021l delHedl 247 We Ly 20{lddin uHim 2uud,

(B) axiH 2Aldil a2 Al YAZA 5l a2 At 244 Hi2L €35 A2 HIG UMl ervad),
(C) WRRURS 2ulAs (Rl 24 2uls us 512 WiculRd s

@10 200 [0 Rl ceud] Ay sd 8 521301 Gualol 524l

eszulasAl 2zell suoid - U sy [Qan/su Q- a8 ?
1. Ul f2ellui Aue- oir 8L UHIZA 536 AUl (UL Adl HIZ AlasLd BRAAAL Al

2. A%l [ ulRug-L YRradn AU (UL Al HIZ ARSI 4RI 8 %R UHIEd s34 URAL ALsLd
CEICRIE DI

3.2 MIRL UL (AU sAHE 20y Slu UR d-it uedl 2 angula-l eellui va suual weHl
CIVETRRCEIERTE DR

A U4 uioy [aseu vaie 3.
(A) 1,243 (B) WA 2 ¢4 3
@113 (D) HiA 1 244 2

A ~

OLHIRRL AMIAL AERIL 5 FHE HIRAAL G{HURRAL HAUEL AR $UL Al ..........
(A) [l Aiue g1 WHIEd s 2 g,

@ an il w0 ueuil 6121 24 sl e sdL,

(C) AR %A gIRL UHIZA $cUH 2ien L.

(D) GuR+ll dHIH
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160.

161.

162.

163.

164.

165.

166.

Which of the following statements are correct about Central Vigilance Commission?
1. It was set up on the recommendation of Santhanam Committee

2. It does not exercise superintendence over the functioning of CBI

3. It was set up by an executive resolution of the Government of India.

(A) 1and 2 only (B) 2and 3 only

.1 and 3 only (D)1,2and 3

In 1928 raised the demand for the organisation of a Constituent Assembly of India.
.M. N. Roy (B) Motilal Nehru

(C) M. K. Gandhi (D) Subhash Chandra Bose

Who is the author of the Book “Modi and the Reinvention of Indian Foreign Policy”, published by
Bristol University Press, 2019?

(A) S.D. Muni & Rahul Mishra (B) Sudhanshu Tripati
@::n Han (D) Teresita C. Schaffer

The BIMSTEC is a regional organization comprising seven member-states. This sub-regional
organization came into being through

.Bangkok Declaration (B) Dhaka Declaration
(C) Thimphu Declaration (D) Male Declaration

Which of the options below is NOT amongst the ten principles of the Bandung conference?
(A) Respect of the sovereignty and territorial integrity of all nations

(B) Recognition of the equality among all races and of the equality among all nations, both large
and small

(C) Promotion of mutual economic interests and economic cooperation

.Use of collective defence pacts to benefit the specific interests of member-states

Which of the following statements is/are correct regarding the election of the President?

1. In the election of the President the nominated members of the both the Houses of Parliament
are not eligible to participate.

2. The elected members of the state legislative councils are eligible to participate in the election
whereas nominated members are not eligible.

3. Where an assembly is dissolved the members cease to be qualified to vote in the Presidential
election.

(A)1,2and3 (B) 2 and 3 only
.1 and 3 only (D) 1and 2 only

The members of the Constituent Assembly which drafted the Constitution of India were
(A) Nominated by the British Parliament

.Elected by the Legislative Assemblies of various provinces

(C) Nominated by the Governor General

(D) All of the above

[ASP-1] E
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167.

168.

169.

170.

171.

172.

173.

Daleu WA 53y [Qa/san [l a8 ?

1. wl3zain 5 sticcng - LR sl uaifl cudly AR s ddls 219 sa1 W2 dlasid 4ud 6.
2. il audla walRs (OCI) aurdui Rasd wilel as.

3. nauRll aurdla waRst (OCH) dlon (A um ¢uRd-l Hastd da el st 4ud 6.
A2 WS dlou [Aseu vrie 42l

(A) WAt 1 (B) WA 1 %4 2 @213 (D) 1,213
D2l WAL 53 1 44 AU 248512 8o adllgd sumi 20d € ? (sau 25 - 28)

1. 4L 2t Ggeie 3 ldsit

2. BidR ULl 1% (Conscience) A 4L cacAu-l ¥t

3. aguldiql A5ldd 2@

4, alis 12 cuotdi A4 sadl adaidl

A0 U wiou [Aseu vaie sl

@224 (B) WA 1 A 2 (C) A 1, 2 A 4 (D)1,2,3u1 4

aurdly il 56 sau (article) Ss0 ArdlU Yrau AARAN v1a 2=ialRs yrau nasll AlERuu
22aL (ARl dwi AARMAUH 9912 21 ARSI YL WAL 2UAAL 8B ASI1R 53 69 ?

(A) sau 20 (Article 20) @ 22 (Article 22)

(C) 544 24 (Article 24) (D) Guu WSl s yrL e

MIRAL YU s1aelL 28518 (Attorney General) d<ls [Rysd s2aumi 2uda uls ......... We cus sidl
AU,

(A) afl mgrada-u endla a3 fxgs wnar (@ udi=a 2eaan ndla a0s Rugls way
(C) dlSAMIAL ALK a3 F2len (D) Gu~u U4l s yrL &

A2 WA 518 suRdani Prear sase-l sA0d Rula sy ?

(A) @S Wl (Lord Mayo) (B) di$ si-ailan

@< iz 8Reou (D) &S 6145

RURAAL GIHIRRIAL MIRL - 1] (Part - 1) tloid 018 1A Al

(A) bitRRl A3 AHA AR5

(B) 52¢ll5 Alssu ulsazil 5 % uilBeingl (A ANTAR $30H 20dA 8 dudl WAR s e 51
(C) cudld Yl uRd 01812 [Raru sl s2¢lls Alssu lsaii-u AR sax 85l

@Gz U s wa Al

AUl URAAMA ... A A Sl 531 as.

[ PEORAEAICIORETER )

(B) vtg(Ad 2ld 244 A1 yRd rtomldail e x-und slsst
(C) HIS Al W12 A HA K55

(D) Gur+lL dHIH
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167. Which of the following statements is/are correct?

168.

169.

170.

171.

172.

173.

1. Citizens of Pakistan or Bangladesh are eligible to apply for Overseas Citizenship of India.
2. An Overseas Citizens of India (OCI) cardholder can buy property in India.
3. Overseas Citizens of India (OCI) are entitled to visit India even without visa.

(A) 1only
.2 and 3 only

Which of the following is/are classified under the Right to Freedom of Religion (Art. 25-28)?

(B) 1 and 2 only
(D) 1,2and3

1. Prohibition of discrimination on grounds of religion.

2. Freedom of conscience and profession of religion.

3. Protection of the culture of minorities.

4. Freedom to manage affairs of religious institution.

.2 and 4 only
(C)1,2and 4 only

(B) 1 and 2 only
(D)1,2,3and 4

‘The National Security Act’ or Maintenance of Internal Security Act or Preventive Detention Act
etc, overrules the protection provided to the citizens by which Article of the Constitution of India ?

(A) Article 20
(C) Article 24

A person to be appointed as Attorney General of India should be eligible

.Article 22

(D) None of the above

(A) To be appointed as a Judge of the High Court

.To be appointed as a Judge of the Supreme Court
(C) To be elected as a member of Lok Sabha

(D) None of the above

Who among the following created the office of District Collector in India ?

(A) Lord Mayo
.Lord Warren Hastings

(B) Lord Cornwallis
(D) Lord Bentick

PART 11 of Indian Constitution NOT deals with
(A) Citizenship at the commencement of the Constitution

(B) Rights of citizenship of certain persons who have migrated to India from Pakistan
(C) Rights of citizenship of certain persons of Indian origin residing outside India

.None of the above

Legislature of a State may make provisions related to

.The Chairperson of a Panchayat at the village level

(B) Reservation of seats for Scheduled Castes and the Scheduled Tribes

(C) Reservation of seats for women
(D) All of the above

[ASP-1]
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175.

176.

177.

178.

179.

180.

181.

182.

.......... $&H (article) IR U8 WS AAE WA 5 % AUl Al ABUAML A4 ALSAML ALS SUNLAL
6} 9l oig 8.

(A) 54 81 (Article 81) @« 79 (Article 79)

(C) sau 123 (Article 123) (D) sau 131 (Article 131)

Dau WA 5y [Qa/su Q- a8 ?

@120 ‘Look East’ A cud-i el - yd duey yd ABi-u udiol 2ol ud ussRui Yawl
52l GUR MU 35 69,

(B) &uRd-ll ‘Look East’ Il “lld-l asiman- 212a [Breidl Aol gian et sl el gl
(C) b (A) d (B)
(D) (A) 2 (B) s umt -l

N

Vs WAL 55U 20 dl d-l U 2laeuosd qvaL A 2ud d-ll Aeua- sedl?
(A) 2/3 @:.- (C) 1/3 (D) 3/4

5 lBduil 15 st Q1A & 8 i1 18 [Bauul 2134 511 u3 52 8. A d UM 2 Al3al 514 914 oL 28
dl sudld s1m sea [Bauui yg wal?

(A) 15 [Bau (B) 20 %[%qa

@0 o (D) GuRisd WS 2suat +dl

AH 2 20l g1l BHRAL JRUSIR 240 8. A Sl 2L BHR 5l AR BHRU 2 v1RW, 4 ad Fedl
At Sid di 2udl 10 ad uedl An- Gu s2dl wai?

@2 i (B) 24 4

(C) 28 aM (D) BuRisd U4l visud 1l

Y

215 400 Hl2R ditfl 24 215 ello1g1A 40 ASSHI UAIR 530 A5 9. oA 2+l 233w 98 [Sll/s5¢15 Sl dl vl
doud sedl 8a?

(A) 675.8 Hle: (B) 680.8 Hl22

@oss.c 2 (D) BuRlsd Wl 2isunt 1l

25 [Ratgi 14 audt [Rsa 214 100 (0L dity sl dl d [Magai s2an 2st divy 972
@s7.72% (B) 88.2%

(C) 86% (D) 89.71%

A 4x= 4096 $ld dl, 4x +1 g Wiy s2¢ sa?

@:- (B) 6

©7 (D)8

25 quaql awdly axsn 600 ALl Siu dl d-u [asel-l doud seel agl?

(A) 10/3 )l (B) 1042

@ 1030 (D) BuRisd WA Asunt 4l
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174.

175.

176.

177.

178.

179.

180.

181.

182.

Article says that ‘There shall be a Parliament for the Union which shall consist of President
and two Houses to be known respectively as the Council of States and the House of the People”

(A) Article 81 @~ ticle 79
(C) Article 123 (D) Article 131

Which of the following statements is/are correct?

.India’s “Look East” policy lays emphasis on improving cooperation with India’s neighbouring
south-east and East Asian countries.

(B) The “Look East” policy of India was initiated by the Prime Minister Atal Bihari Vajpayee.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

If a dice is thrown, what is the probability that the number on it is not prime?
(A) 2/3 @
(C©) 13 (D) 3/4

5 persons undertake a work and finish half work in 18 days. If at that time 2 persons left, in how
many days the remaining work will be finished?

(A) 15 days (B) 20 % days
.30 days (D) None of these

The product of present ages of Ram and Shyam is 240. If twice of Ram’s present age is more than
Shyam’s present age by 4 years, what will be Ram’s age after 10 years from now?

.22 years (B) 24 years
(C) 28 years (D) None of these

A train of length 400 meters can cross a tunnel in 40 seconds. If the speed of train is 98 kms/hour,
what is the length of tunnel?

(A) 675.8 meters (B) 680.8 meters
.688.8 meters (D) None of these

If in an alloy 14 parts are nickel and 100 parts are copper, then how many percentage of copper is
there in that alloy?

@:7.72% (B) 88.2%
(C) 86% (D) 89.71%

If 4¢ = 4096, then what is square root of 4x + 17?

A5 (B) 6

€7 (D)8

If surface area of a cube is 600 sq. meters, what is the length of its diagonal?
(A) 10/3 m (B) 10+/2 m

.10\@ m (D) None of these

[ASP-1] m
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183.

184.

185.

186.

187.

188.

189.

190.

191.

A2 WAL sul [aseu vuden si-u [Aseul squ el ud 97?
(A) Asl @i
(C) &8 (D) R

25 WHU M -l dond 29 {122 9 dan d-l eous oflog wdu N s24i 459 F2dl ay 8. dl wdu N -l doud
sedl sal?

[ PORIER (B) 21.5 123

(C) 24 Hl2r (D) GuRisd Ul visurl ]

oY nY

6] AuAALAL ARITR 4 : 569, A dH-Al OLAUL2 7SI dl AUl QUL 524l 89?

(A) 70 (B) 105

@:-0 (D) Busd WSl 2Asum 4l

A s dorniRuAl uls suogl dons 2096 g2l atiRai 2Ud di d-il AASNHL 2dL 251 AHIRlL ALl?
(A) 40% (B) 54%

(C) 400% @)Guzisa Wl visua 4l

25 3 31 30000 A5B 21 2 anl HI Y35 6. % % dZlS AR 3L 4347 HOL dl QoL €2 S2dl 8al?
(A) 5% @

(C) 7.5% (D) BuRisd U sisur ]

A2 2uua sellui 56 v oiaoiudl =4l?

3, 10, 31, 99, 301, 908

(A) 10 (B) 99

@:: (D) 301

A2 2uda uRRald W2 U512 ua Al aioy uldlza s8 sai?
uRRald- auex 2ued aHA nga uR grsindl uRRald »udl ul €.
(A) dlesifas s2158l nd sl Al

@220 acsils wufla usi Ysadl ASA

(C) disig unidR 5d ASH

(D) arug -l A d) AdA

A el viedl ugl s eal?

cecdfdf

.dfece (B) dfcec

(C) cfede (D) cdfed

A 1 oYU, 1996 1L AY UHAR 1A dl 1 AY2usl, 1997 -l A% sl AR ¢a?
@z (B) A3UR

(C) 2laar (D) YsUR
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183. Which of the following options is different than others?

(A) Tokyo .Shanghai
(C) Hanoi (D) Seoul
184. Ifthelengthofapipe Mis29metersanditis45% morethantheotherpipeN. Thenwhatisthe length of
pipe N?
.20 meters (B) 21.5 meters
(C) 24 meters (D) None of these

185. The ratio of two numbers is 4 : 5. If their H.C.F is 7 then what is their L.C.M?

(A) 70 (B) 105
.140 (D) None of these
186. If each side of a rectangle is increased by 20%, what percentage will be the increase in its area?
(A) 40% (B) 54%
(C) 400% .None of these

187. A person keeps Rs 30000 for 2 years with compound interest. If he gets Rs 4347 as interest, what
would be the rate of interest?

(A) 5% @
(C) 7.5% (D) None of these

188. Which of the number does not fit in the following series?
3,10, 31, 99, 301, 908
(A) 10 (B) 99
@:: (D) 301
189. What will be the appropriate course of action by the Government for given situation?
Situation - Due to lack of rain the whole area is under condition of drought.
(A) Emergency should be declared immediately
.Immediate financial assistance should be given to the affected
(C) People should be shifted
(D) Should wait for rain

190. What are missing terms in the following series?

cecdfdf
.dfece (B) dfcec
(C) cfede (D) cdfed
191. If January 1, 1996, was Monday, what day of the week was January 1, 1997?
.Wednesday (B) Thursday
(C) Sunday (D) Friday

[ASP-1] m
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192.

193.

194.

195.

196.

197.

-\

25 allun uld sas 5 [MAe 3y u 6. 4 d 1R 8.00 515 WAL AHA HNAAHE 2044 Sid di d o [Bad
A 8.00 A5 d S UMY tlad $o?

@z 7.00 (B) 1A 6.55
(C) A4 6.50 (D) BURisd Ul »isur ]

-\

25 5IMEIR 10% 151 WA d-ll WA AU 9. % 4@l d 20% 2] [3Hd wAlel 31 10 a4R @ AUl €ld, dl
A" 40% -5l Ald. dl d WAl wile [Bua 24l sal?

(A) Rs. 200 (B) Rs. 400

@rs. 500 (D) Rs. 600

N

s 3ed s uR 2lawsu Aimen 50 W2l id 8. di s 45 BHl/sausdl 23U odl 21 g1
4 $ALSHL AL S2EL AIMAL YAIR $AUML 20997

(A) 3600 @:co:

(C) 3700 (D) 3701

Y =\ =\

6L AUQLUAL URAVU 15 69 24 AL AU UGN 113 69, dl d WE WIS Avai-l 8 S2al 49?

(A) 343 (B) 502
@-:2 (D) 729
faleu wlls@mi (7) 4 yeu seq aa?
3ﬂ + 6§+(?) = 52+3ﬂ

9 5 3 5
A 11 B) Z14

45 45
(€ —=2 @250 1A Asun )
45

(R : .-, 197-198) 1A »uda (A2l Al 21001 53 vuden -l W 2y [Asey uie s3.

P*Quled Pl Q «u QL €.
P-QucdPAu Qe e.
P+Qed Pl Q -l wa e,
P#Qu2d P4 Q -l oud 8.

B+D*M#N®Hi M3l B su o4l Al ©9?

(A) 42 (B) Al
(C) €€l @5 >
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192.

193.

194,

195.

196.

197.

Aclock loses 5 minutes every hour. If it is set at correct time on 8.00 a.m. what time it will show on
8.00 p.m. on same day?

.7.00 p.m. (B) 6.55 p.m.
(C) 6.50 p.m. (D) None of these

A shopkeeper sells his goods at a profit of 10%. If he had purchased it at 20% less and sells it at
rupees 10 more, he had a gain of 40%. What is the Cost Price of the goods?

(A) Rs 200 (B) Rs 400
@~ 500 (D) Rs 600

Telegraph poles on a rail road are 50 meters apart. How many such poles will be passed by a train
running at 45 kms/hr in 4 hours?

(A) 3600 @:qo1
(C) 3700 (D) 3701

The sum of two numbers is 15 and sum of their squares is 113 then what is the cube of large
number among them?

(A) 343 (B) 502
@::2 (D) 729
What will be the value of (?) in the following expression?
3i + 6g+(?) = 53+3i

9 5 3 5
A 11 () ~14

45 45
(C) - 214 @\ one of the above
45

(Directions : Q. No. 197-198) Study the information below and choose appropriate option for
given questions.

P * Q means P is father of Q
P - Q means P is sister of Q

P + Q means P is mother of Q
P # Q means P is brother of Q

INB+D*M#N, how M is related with B?
(A) Son (B) Daughter
(C) Grandmother .Grandson or Granddaughter

[ASP-1] E
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198.

199.

200.

A2 WA sul [Aseu eaid © 5 J A F AL YA 97

(A)JI#R-T*F (B)J-R#T*F

(C)J*R-TH#F @-vud s wa )

([Rg2n : WA, 199-200) UL Hi 2is [Aair 249 61 ARBUL | 24 11 20ucumi 2L 89, dHiR [Qaiqui 2uua

AmtH, [ ll uerandl 69, 244 o1 Rl AR, 53 2 [Reld s 6 5 d WA s deil [Qau-iud
2004 (A1 dlEs d 24AR 8. dHIRL BT 2 Yartt 2l

(A) % HIA ARRL | AL (B) A HIA dlR8L 11 A4 €9
(C) %A drReL | AL ] AU 8 (D) %A =& 1 5 11 g2 .
EETEE

agu [Asmella 2aimi s2dl ol A4 118 axdlatil 24 sua-uRl Badid ulRgaes a-ur 8.
QIR

I elammi [Asiuella sall adl asadl aig 289 14l

1. [asella gai-l a5 1S du-u dlsid Griu il @an 2uud veL Hes4 Asl.

(A) A HIA AURW | AZU O @ v e 2R B
(C) A dreL | AL ] AU 8 (D) %A e 1 5 11 g2 .
ELTER

A 5 2Rl WA s160a 24 0.0l 2u2.90 Bl 2o Aw-ABl 9, 9di As1ASIRIAN @ W2
8.3\, su-ll W2 2101 A2 vio-Al-) 1io Gell 234 €9,

CIETTE

I 2082l su-dlai-i wsudla [Basld susad A0 2uasd, 2df¥l x4 dlasid 1ol 4 6.
1. 8 208.8l. SU-DloUHE A51A 5L ASIASIRAA AHBU AL WIS 83 HNAL.

@ o e g (B) 2 HIA AR 1 PR &

(C) A cIRRL | A2 11 A4AR € (D) A AR 1 5 11 Al el
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198.

199.

200.

Which of the following option indicates that J is Son of F?
(A)JI#R-T*F (B)J-R#T*F
(C)JI*R-T#F .None of the above

(Directions : Q. No. 199-200) In each question below is given a statement followed by two
conclusions I and I1. You have to assume everything in the statement to be true, then consider
the two conclusions and decide which of them logically follows from the information given in the
statement.

(A) If only conclusion | follows (B) If only conclusion 11 follows
(C) If either I or 11 follows (D) If neither I nor 11 follows
Statement :

Population increase coupled with depleting resources is going to be the scenario of many developing
countries in days to come.

Conclusions:
I. The population of developing countries will not continue to increase in future.

I1. It will be very difficult for the governments of developing countries to provide its people decent
quality of life.

(A) If only conclusion I follows .If only conclusion 11 follows
(C) If either 1 or 11 follows (D) If neither I nor 11 follows
Statements:

Although we have rating agencies like Crisil, ICRA, there is demand to have a separate rating
agency for IT companies to protect investors.

Conclusions:

I. Assessment of financial worth of IT companies calls for separate set of skills, insight and
competencies.

I1. Now the investors investing in IT companies will get protection of their investment.
.If only conclusion I follows (B) If only conclusion 11 follows
(C) If either 1 or 11 follows (D) If neither I nor 11 follows

[ASP-1] a
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Which of the following Table of Schedule | to the Companies Act, 2013 contains the provisions
relating to Calls-in-Advance & Calls-in-Arrears?

@ ravieF (B) Table A
(C) Table C (D) Table G

In case of issue of debentures, the rate of underwriting commission paid or agreed to be paid shall
not exceed:

(A) 2.5% of the issue price.

(B) A rate authorized by the articles.

(C) 2.5% of the issue price or a rate authorized by the articles, whichever is more.
.2.5% of the issue price or a rate authorized by the articles, whichever is less.

If closing balance of general reserve of subsidiary is less than the opening balance of general
reserve, then it can be concluded that

(A) Pre-acquisition dividend is declared by the subsidiary company.
.Bonus share capital issued by the subsidiary company.

(C) Some profit must have been transferred to general reserve by debiting profit and loss account
by the subsidiary company.

(D) Capital profits are credited to the General Reserve Account.

Which of the following method of buyback is allowed under the Companies Act, 2013?
I. Buyback from the existing shareholders or security holders on a proportionate basis.
I1. Buyback from the promoters of the company only on selective basis.

I11. Buyback from the open market.

Select the correct answer from the options given below.

(A) () only (B) (1) and (1) only

.(I) and (111) only (D) (D, (1) and (111)

Which of the following is Level-11 enterprise?
I. Listed enterprises outside India.

I1. All commercial, industrial and business reporting enterprises, whose turnover for the
immediately preceding accounting period exceeds Rs. 50 Crore.

I11. Financial institutions

IV. Enterprises carrying on insurance business.

Select the correct answer from the options given below.

(A) (I) and (111) (B) (1) and (1V)

(C) (111) only @) ony

Which of the following statements is correct?

(A) The trial balance is prepared after preparing the profit and loss account.
(B) The trial balance shows only balances of assets and liabilities.

(C) The trial balance shows only nominal account balances.

.The trial balance has no statutory importance from the point of view of law.

[ASP-2] n
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QA VA s usi-l sudlad widin [Rauen visa.oll 202,244, (XBRL)AL HIML UHIBL EIHE $c

u3 €97

. GuRAHL A Su-dl-l e sudlai
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Which of the following types of company is required to file their accounts in Extensible Business
Reporting Language (XBRL) format?

I. Subsidiary of Indian Listed Company

I1. Companies which are required to prepare their financial statements in accordance with the
Companies (Indian Accounting Standards) Rules, 2015

I11. Private company having turnover of Rs.99 Crore.

IV. Public companies having paid-up capital of Rs.3 Crore.

Select the correct answer from the options given below

.(I) and (1) (B) (1) and (1V) (C) (1) and (111) (D) (D), (1) and (111)

As per Section 62(2) of the Companies Act 2013, a company can offer shares to employees under a
scheme of employees’ stock option by passing-

(A) Board Resolution .Special Resolution

(C) Ordinary Resolution (D) Extraordinary Resolution

The main objective of the Ind AS -10 is:

.When an entity should adjust its financial statements for events after reporting period.
(B) To prescribe the accounting treatment for income taxes.

(C) To prescribe the criteria for selecting and changing accounting policies.

(D) To prescribe for lessee and lessor, the appropriate accounting policies.

In case of companies’ depreciation on assets are provided on the basis of-
(A) Life of the asset as given in Schedule IV.

(B) Rate of depreciation as given in Schedule I11.

.Life of the asset as given in Schedule I1.

(D) Rate of depreciation as given in Schedule V.

Which of the following statements about bank reconciliations are correct?

I. A difference between the cash book and the bank passbook must be corrected by means of
journal entry.

Il. In preparing a bank reconciliation, lodgements recorded before date in the cash book but
credited by the bank after date should reduce an overdrawn balance in the passbook.

I11. Bank charges not yet entered in the cash book should be dealt with by an adjustment in the
bank reconciliation.

IV. If a cheque received from a customer is dishonoured after date, a credit entry in the cash book
is required.

@) andv) (B) (1) and (1V) (C) (1) and (111) (D) (1) and (111)

Which of the following statements is not correct?

(A) Under or overcasting of a subsidiary book is an example of errors of commission.

(B) A tallied trial balance will not reveal compensating errors.

.Rectification of errors is necessary to tally the trial balance.

(D) If the amount is posted in the wrong account or it is written on the wrong side of an account,

it is called an error of commission.
[ASP-2] B
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Statement I: Net Asset Method can be fairly used to value shares when the firm is liquidated.
Statement I1: This method does not give any weight to earning capacity of the company.
Select the correct answer from the options given below:

(A) Statement I is correct, but Statement Il is incorrect.

(B) Statement I is incorrect, but Statement 11 is correct.

(C) Both Statements | and Statement Il are incorrect.

.Both Statement I and Statement 11 are correct.

In case of compulsory liquidation, the petitioner must file a copy of the order with the Registrar
of Companies-

.Within one month of passing the order for winding up
(B) Within three months of passing the order for winding up
(C) Within six months of passing the order for winding up
(D) Within one year of passing the order for winding up

Public notice of retirement must be given:

(A) Only by the retiring partner

(B) Only by any partner other than retiring partner.
.By retiring partner or any of the other partners
(D) None of the above

Materiality Principle is an exception to the-
(A) Consistency Principle (B) Accounting Period Assumption
(C) Cost Concept .Full Disclosure Principle

The accounting data should be definite, verifiable, and free from the personal bias in
accordance with-

(A) Full Disclosure Principle (B) Consistency Principle
(C) Accounting Period Assumption .Objectivity Principle

Which of the following statements is not correct?

(A) The amount of share of goodwill contributed by the new partner is to be shared by old partners
in their sacrifice ratio.

(B) Memorandum Revaluation Account is prepared to record the effects of revaluation of assets
and liabilities without making any change in the book value.

(C) If new partner’s capital is not given directly, it can be found out proportionately, taking revised
combined capital of the old partners.

.At the time of admission, additional bad debts provision required is debited to debtor’s account.

A standard on Auditing differs from audit procedure. Procedures are relating to
(A) Audit assumptions made by the auditor

.Acts to be performed by the auditor

(C) Quiality criterion

(D) Methods of work

[ASP-2]
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(A) 3% AR 518 Al3arl vudl oo u [Angs 53 6.
(B) su-lui 6ils 215 3522 518 ulza-l vudl orour uz [Augys 53 8.
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(A) 2182 S0 ulan Sl 201R YR s
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(A) AL AHIHE AL §R ST 204 8,
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@10 Ad 2 5200 W2 3w w5 Hogdl %3 D,
(D) 6l 2Ais (3352 2idlerA g2 53 a3 9.
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2iLdlex-l [Angs ..........
(A) 5+% uBIR 53 89,
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(C) alis m- Acuul Su-dl- Acul [Agiy s1q yA1R s34 53 9.
@ 12au Reins 213 weidvi udlas (CAG) 82 8.

026. % 516 Albad AulRs 2ile: a3 [Rugs sa e i aRHl 2ud 8. di d-l Wi ..........
@: v o004 (912) hu (Securities of the company)
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020. An auditor should study and evaluate internal control to-
(A) Determine whether assets are safeguarded
(B) Suggest improvements in internal control
.Plan audit procedures
(D) Express an opinion on Internal Control

021. Which of the following is not an inherent limitation of internal control system?
(A) Management override
(B) Collusion among employees
.Inefficiency of internal auditor
(D) None of the given

022. When at an Annual General Meeting of a company no auditor is appointed or reappointed. -
In that case

(A) The Central Government appoints a person to fill the vacancy.

(B) The board of directors appoints a person to fill the vacancy.

(C) The managing director of the company appoints a person to fill the vacancy.
.The existing auditor shall continue to be its auditor as per Section 139(10).

023. Which of the following is not an advantage of the preparation of working paper?
(A) To provide a basis for review of audit work.
(B) To provide a basis for subsequent audits.
(C) To ensure audit work is being carried out as per programmed.
.To advise another client on similar issues.

024. Which of the following statement is correct regarding removal of Auditor before expiry of the
term?

(A) He is removed at a general meeting.

(B) The shareholders are authorised to remove the auditor.

.The approval of the Central Government is required for such removal.
(D) Board of Directors can remove the auditor.

025. Statutory auditor of a company in which the Central Government holds 49% and a government
company holds 19% of the paid-up share capital of the company, shall be appointed by the-

(A) Central Government

(B) Members of the company in the AGM by passing ordinary resolution
(C) Members of the company in the AGM by passing a special resolution
.By the Controller and Auditor General of India.

026. A person is disqualified from being appointed as a statutory auditor if he holds
.Securities of the Company (B) Has given loan to company
(C) Debentures in the company (D) All of the given

[ASP-2] n
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The remuneration of first auditor of the company shall be fixed by

(A) First Directors (B) First AGM by shareholders
(C) Audit Committee .Board of Directors
is empowered to make an order for reopening of accounts under Section 130.
(A) The Court (B) The Tribunal
.The Court or/and the Tribunal (D) The Central Government

A sum of Rs. 15,000 per month has been paid as remuneration to a Director, who is not in whole-
time employment of the Company. Is the payment valid?

(A) Valid provided payment got approved by shareholders

.Valid provided payment got approved by Central Government.
(C) Invalid, payment in excess of remuneration specified in schedule.
(D) Both (A) and (B)

Which of the following is not an advantage of independent audit?
(A) Settlement of Taxes

(B) Protection of Interest of Stakeholders

.Guarantee as to future viability of the entity

(D) Moral Check on employees

Which of the following is correct?

.To maintain an adequate accounting system incorporating various controls is the responsibility
of Management

(B) The term independence implies that the auditor should respect the confidentiality of client
information.

(C) An unqualified opinion in audit report is guarantee as to the future viability of the company
(D) The audit engagement letter is sent by the client to auditor

In which of the following companies, auditor is required to report on matters specified under
Companies Auditor’s Report Order (CARO), 20207

.Foreign Company (B) Small Company
(C) One Person Company (D) None of the given

Auditor appointed under Companies Act, 2013 cannot render which of the following services?
.Actuarial Services

(B) Tax Audit

(C) Review of Interim Financial Statements

(D) Examination of Prospective Financial Statements

Which of the following statement is correct?

(A) Communication relating to General meeting need not be forwarded to the auditor of the
company

(B) Auditor has discretion to attend the general meeting
.Auditor shall have a right to be heard at general meeting

(D) None of the given
[ASP-2] n
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21412 Andauani, o Qi AR 282 sAHL 20y, ¢ d ARl SUL AFMLHE 2UUUHL
20 97

(A) AAgH-e-l gl

(B) 2ldua

@1 Coua 2igen0 w2l 2u

(D) »iidl22) Fatieisl

w2 22 .......... HI2 59U ¢,

@RE 2 504 sl (B) AlFe sada Galoil

(C) el o Sulil (D) &itll o Bewgs su-lail

254l [Acudt gl Bs’H 210064l Ysaa s siug R53 Hisda . wsE wudler .......... NERIE]
sl auid 20y .

(A) Wl 22 (B) 512l 24132

(C) 221l 2 225 »ilRRe @-::0:14 >0k

.......... 3Rl 9l - Suui 2322 5% U511 W sl %32 ©.

(A) 20 @ 3[R (B) 20 vt 3[QuL 244 d-uefl ay

(C) 1 5313 3R @ 52\ 3R A d-ull ay
Asedlud 2xidled .......... a5 uRL 2L 20d 8.

(A) uRnsly 2z @11 wan 2042 (Compliance Audit)
(C) usar 2dle (D) 2a 2iidle

Add 22 2450 DA-unidll 53 (e a2 42l)?

(A) d [Raf@d vidpani saHi 2ud 9.

(B) d 2[5 QI8 g1 4ReuMi »ud 8.

@212 2z A w0 2idRs 2ig2 ugli Slu cu? 4 ¥3A 8.

(D) d Hig ¢,

% VEIAUA AN LA HEID A51-7 52U vl 1 st uAANF AU A D d ... a5 i 6.
(A) 53 HHerrua @<2d) vigrzpua

(C) uRad-ala vigiorua (D) AL g1yt

% VELWUAHL FAUAEIR Svgrll AAAS €35 0¥ Uglt 11 g H{E1d wald 4oy sad) 2uaus 8.
d 2elUA ......... sSuMi 20d 8.

(A) neulasiod sigwesuat @1 >uRa ieous
(C) ucludl ig1oruat (D) 511203 2ig1o0ua
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In audit report, a description that audit was performed in accordance with standards on Auditing
is given in which section?

(A) Management’s responsibility

(B) Opinion

.Basis for Opinion Section

(D) Auditor’s responsibility

Cost Audit is compulsory for
.Specified entities

(B) Specified industries

(C) All companies

(D) All manufacturing companies

The Income Tax Department has sent Mr. Z double refund of advance tax. The Government
Auditor detected this while conducting

(A) Audit of expenditure (B) Performance audit

(C) Audit of stores and stock .Audit of receipts
Auditor needs to report to Central Government in case of fraud involving

(A) 20 lakh rupees. (B) 20 lakh rupees and more.
(C) 1 crore rupees. .1 crore rupees and more.

Secretarial audit is also known as-
(A) Financial audit .Compliance audit
(C) Cost audit (D) Tax audit

Which of the following statements is not true about continuous audit?

(A) It is conducted at regular interval.

(B) It may be carried out on daily basis.

.It is needed when the organization has a good internal control system.

(D) It is expensive.

The budget which usually takes the form of budgeted profit and loss account and balance sheet is
known as-

(A) Cash budget .Master budget

(C) Flexible budget (D) Sales budget

A budget in which a responsibility centre manger must justify each planned activity and its
budgeted total cost is called-

(A) Traditional budget .Zero—based budget
(C) Master budget (D) Functional budget

[ASP-2] m
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u3sdz [Qauell @ie-1 - Gea e ...
(A) uRlamA xAs-ls0, s1all, aduell 244 uHida

(B) &mdld, [Ralel

@21 uas dudl

(D) ugad uRasn vl Ruie

aRdla su-l Ry, 2013 4L ... saH udd-u [Sue-ll Aai- 2108l il Hoiltq .

(A) 5au 158 @ 148 (C) 544 168 (D) $@H 139

A AHIL 6l USEU RALAHE Al 1A WU X Ay, USEU X AV AdHIA YU U y 5L aY 69, udg,
usey y «l 2idlR5 ANAR €2 USEU X 5L AY 8, dl dAH.......... uRie sl

(A) useu y [ JECTY

(C) ui=u 518 Usey (D) BuRlis Hid) visu ]

Aeuadi-ga [Qedug L siv Gualol R o A 8. FAIR A5 sl xuan .......... AL 2,
(A) AHAU Al A (B) AUH Y

@10uB u u cumi Assuasll Aoifia (D) RfEdd 8w

[Alad ansa xldamn, FlEa ansa uRen (CE Factro) gel-%el adl HI2 ..........
(A) i Ad a8 B, [ SIDEIRCER
(C) A= {d Aun 2 69, (D) GuRlisa Hid) visua =l

YR 4oiAd useinidl e scnl 2ud U, B USQUHL ..........
(A) Al Al YA 20U AHA S1U d e 1 69,

(B) A2l ay, Alvv adHin Heu Slu d ude wd 6.

@)=l o551l v puu unu Sl d urie wu B,

(D) agrH Hél udd sl d ude wu 8.

sy [Qaun Aduaslu (el (Management Accountant) -l &Rsig, £t aei- 53 €97
(A) da1a5lu [Ranerdla A e Aendla uaast duir 2 69,

@-iuafu Rauerla direumi Relu darll nEan w0 orud 8.

(C) duadlu [Boi-la Aeumi you [Relul 4 .

(D) dnalu [Baoila yneyd Ad wlsdl Aussdal 9.

3L

2l WA sul/su usaR [u0ll uglanl 8g/8qil 4ell?

i, usdr [Raike ii. dat [3ud sl sl

iii. u3dR g iv. U3dR 821dl

(A) | (iii) (B) WAt (iv)

(C) WAt (if) AR (iv) @Guzisa WA 215 wa R
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The objective of Cost Accounting Standard-1 is —

(A) Collection, allocation apportionment and absorption of overheads.
(B) Determination of capacity.

.Preparation of cost statement.

(D) Determination of average/equalized transportation cost.

Which section of the Indian Companies Act, 2013 deals with audit of cost accounting records-
(A) Section 158 @scction 148
(C) Section 168 (D) Section 139

If you are considering two projects namely, Project X and Project Y; Net Present Value of the
Project X is higher than Project Y but Internal Rate of Return of Project Y is greater than Project
X then you will select-

(A) Project Y .Project X
(C) Some other project (D) None of the above

Probability-tree analysis is best used when cash flows are expected to be:
(A) Independent over time

(B) Risk-free

.Related to the cash flows in previous periods

(D) Known with certainty

In Certainty Equivalent Approach, the CE Factors for different years are:
(A) Generally increasing .Generally decreasing
(C) Generally same (D) None of the given

When choosing among mutually exclusive projects, the project with-
(A) Longest payback is preferred (B) Higher NPV get selected
.Quickest payback is preferred (D) Lower cost of capital will be selected

Which statement best describes the role of the management accountant?

(A) Management accountants prepare the financial statements for an organization.
.Management accountants facilitate the decision making process within an organization.
(C) Management accountants make the principal decisions within an organization.

(D) Management accountants are basically information collectors.

Which of the following is/are not an objective of Cost Accounting?

i. Ascertainment of Cost

ii. Determination of Selling Price

iii. Cost Control

iv. Cost reduction

(A) Only (iii) (B) Only (iv)

(C) Only (ii) and (iv) .None of the above

[ASP-2] E
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051. =i [Qai-in Luqui «l.
i, BRAIRL 5 Uil 8213 9; ddl d Riginl 3tld S8,
ii. cd g3, ALY wAGERLAINE B218l 2 srlella ydui amRimi uRad 8.
iii. WReuMs Aot Ass unsarwi st ououni 4l sty dan ASIA-AL A 21 €.
iv. Bl S[3al 224l 3uidr i3I0 NS UAsHI gvIa 8.
v. 101 Uit @igion atian M2 Alvea A5l Hist [Be-2053 vl GHRaAmE 2ud €.
A2 2uden [Aseu nidl viier [da-l uie 2.

(A) (i), (i), (iv) 2t (v) (B) (i), (i), (iv) AL (v)
@) (iv) > (v) (D) (ii), (iii) 2 (iv)
052. 1AL A3sL AL
el | agl 1
i usdr [Rauefl ugla 1. sraelle HAwi 32812
i, G130 Ul Uty 2. d Gewg, AR 211 [daerl [Bud Aoildd 8
iii. A5 NS UAS 3. -ugudla [deduudl Hea-dl ugld €.
iv. dellnr [Qedual 4. A58 - A3 UHSE
A2 2uuan [Qseu uid il g udie s
(A)i-4ii-3iii-2,iv-1 @ -2ii-1iii-4iv-3
(C)i-4,ii-3,iii-1,iv-2 (D)i-3,ii-4,iii-2,iv-1

053. 1A UA 53y [t 1Y 8.
I Swdredlui 5120l 03], AU 28 WA 21 1Y, SIHHE VA WA WHE B,
1. Saredl i siaellea Y- 2is cua 69,
1. Slr2 1l wleal HI2 AHAU HIAHL AHIAA AL 6.

(A) 1, 11244 111 (B) 11 > 11 (©) 127 111 @ 1
054. % su-fl Wil Aldd usd: a2idl a5 du ia dl NA-u U 54 Axdl as?

(A) s10ud UL a8, uHqe [Big aual. (B) s1ug uHi a2, uxde [Big a2l

@ oud waww and, wuqge Big a2, (D) $10u umweL a2dl, unq2 Big audl.,

055. U3 vl (R vial e el a1 WA sy [t 0 ©.
(A) 20 vig L 2442 YRl a1 HI2 AR SUMT 20d 8.
(B) vl dMIM 6Usd 21 VILAHE FHL SAUML 204, 6,
(C) 0 vl 6l A drm [Bit-cal5aoid vl & uu0l eald 8.
@Guzisa salda amn
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051. Consider the following statements.
i. Depreciation reduces tax liability; hence it is a source of funds.
ii. Decrease in current liabilities during the year results in an increase in working capital.
iii. The term cash equivalents include short term marketable investments.
iv. Conversion of debentures into equity shares appears in fund flow statement.
v. Only non-cash expenses are added to net profit to find out funds from Operation.
Select the incorrect statements from the options given below.

(A) (i), (iii), (iv) and (v) (B) (i), (i), (iv) and (v)
.(i), (iv) and (v) (D) (ii), (iii) and (iv)
052. Match the following.
List | List 11
i. Cost Accounting 1. Changes in working Capital
ii. Fund flow Statement 2. Deals with the cost of production, selling & distribution.
iii. Cash flow Statement 3. Is an important technique of financial analysis.
iv. Ratio analysis 4. Cash and Cash Equivalents
Select the correct answer from the options given below:
(A)i-4,ii-3iii-2,iv-1 .i-2,ii-1,iii-4,iv-3
(C)i-4,ii-3,iii-1,iv-2 (D)i-3,ii-4,iii-2,iv-1

053. Which of the following statements are correct?
I. Inventory includes raw materials, finished goods and work-in-progress.
Il. Inventory is a part of the working capital.
I11. Inventory includes goods likely to be purchased.
(A) I, Il and 11 (B) Iland 1
(C) 1and 11 @ and i

054. Which of the following would take place if a company is able to reduce its variable cost?
(A) Contribution Margin Increase; Break-Even Point Increase
(B) Contribution Margin Decrease; Break-Even Point Decrease
.Contribution Margin Increase; Break-Even Point Decrease

(D) Contribution Margin Decrease; Break-Even Point Increase

055. Which of the following statements is correct in relation to Cost Ledger Control Account?
(A) This account is made to complete double entry.
(B) All items of expenditure are credited to this account.
(C) Balance in this account represents the net total of all the balances of the impersonal accounts.

@~ of the above
[ASP-2]
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s018ll ugla 601, HogR $018ll €2 HUAUH] U4 ...
@1 i sineiRiql vayaRAe SIMERIA v

(B) 69141, 21en S1MEIR1AL AvAyA3 L ATl R+l Avl

(C) e AL SIHERIAL AvA1/A3 AL QWOUAL SIHERIAL v
(D) GURlsd saldd daum

A WA sul v 2idRS d1 e (ITC) W2 Wiatdl 41 697
(A) saoi-l ueu 5l (B) sHALA 20U Adrt Ul ASd
(C) Hsd-M2 )3 adda wd @Guzisa Wd 25 ua 1

215 UG 9Ly AUHE HHL 5 6. 21 A1 YA ABUHL % A -l Y vpAl 4R1d 8. GST S1ueL

Horor 9ol [Alas auvnil w2 UdlaA ... -8l (Registration) -it12 ddl ussl.

(A) AA-AAIL (B) ¥i5 %

@~ >1aa (B) WA uriesl yorut (D) (A) 212l (B) GST sMRai-- 31 Hosot
BUR ... AR HIA YL WSHIR gIRL GHIR [A4) qrauni »ud 6.

(A) MAdni ay A2 qdnami 2l §iu
(B) M1 Mt S22 HIA U Hisel iU

g

@250 wat dRL s et AL @dnami uedl giu

-

(D) UL WM 21dd Wi Gy H1adl Siu

Sl e 2 Acu AU SWEL -2017 (CGST Act-2017) AGAIR $UWA vl drgil 244 AuiiA [Afdy
AssU udd (518) 2l dd aollsze saumi 2uy 9, B Quiudy Rieyn Au-sdaz (HSNY
A5 (513) 58 9. U HSN A3d-ll BeMa 2 (A5t simlL g1 scUu el

(A) qRarll GST s16[~ua (B) HSN/SAC $is aulald
@2 si-viuan s16lua vils tlepun (D) Busd Wl 25 um R

A1 UL s (320 AqYsd Yrasl (Composite Supply) 2LRLUH 2ua9?
i 25 UAdIRS Sl2d gL Y3 WMl 2iad AR [Bau 2 A9 A3 U B ACUSIR AHA 69,

ii. 215, aldun, wile, U 4ysd Us o1 215 WA 512 dls elauni 2ieal Sl 24 215 o [(Bud yu
YI3ALHE UL S,

iii. 5322 HAHA Al U 512U %33 GUL YR WAL AHIDL A €9,
iv. SURL A2 U v 2l Al FH NAHAL AHd A 9.

(A) (i), (i) 21 (iv) @) > i)

(C) (i), (iii) 21 (iv) (D) (ii), (iii) 21 (iv)
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In a Replacement method, Labour turnover is measured by

.Number of workers replaced/Average number of workers

(B) Number of workers left / Number in the beginning plus number at the end
(C) Number of workers joining / Number in the beginning of the period

(D) All of the above

Which of the following expenditures is eligible for Input Tax Credit as per GST Act in India?

(A) Membership fee of a Club

(B) Home Travel Concession extended to employees

(C) Goods given as free gifts
.None of the above

One firm Operates its business in Gujarat with multiple branches in Gujarat itself. The firm can
take registration number under GST Act for the multiple branches in Gujarat.

(A) Separate
(B) Single

.Either (A) or (B), at the choice of firm
(D) Either (A) or (B), as per the Instruction of GST Commissioner

Debit note is issued by the supplier of goods when

(A) Tax charged in the invoice is excessive.

(B) The goods are returned by the recipient.
.Tax charged is less than the tax Payable.

(D) The goods supplied are deficient.

Goods and services to be supplied chargeable under the CGST Act-2017 have been classified
under different specified code Number/s which are known as Harmonized System Nomenclature
(HSN) Codes. These HSN Codes have been evolved and developed by

(A) GST Council of India
(B) HSN/SAC Codes Committee

.Customs Cooperation Council of Belgium

(D) None of the above

Which of the following cases constitute as Composite Supply?

i. A five Star hotel provides four days and three-night package with breakfast.
ii. Combo packs of Tie, Watch, Wallet, Pen bundled as a Kit and supplied for a single price.

iii. Repair Service of Computer along with requisite parts.

iv. Supply of lectures at Coaching Centre with an excursion trip.

(A) (i), (i) and (iv)
(C) (i), (iii) and (iv)

@) and Giii)

(D) (i), (iii) and (iv)

[ASP-2]
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oU13 Vg dHigriL Ul S8 F528H YW © 5 % GST Ssu Aladdl 8. R GST ysaarll gaieigd
si-l €97

(A) dHigiL wirt AR+l @10 o vidola vidle-uz-l

(C) viga-l (D) GuRisd U4l 416 ua -l

Y Y =\

CGST Act-2017 AdAR WHAA Al5azil UL sUl USIR 2dl & 5 % AUy Al (Composition
Scheme) W12 WiAtdL 4R1d, €97

@212 211 sus 32Ro A YA wsuRwil
(B) lAd (Notified) Hia-u Geurg s

(C) [Br-2la1 512 a3

(D) 2uaRs suat ulzd

2l WS sl 2AidR AU (Inter-State) Yasl €97

(A) A YR WSUR AHELUE Rad 8 2 Wa vy s, 2an SEZHL S, % [edl [Rad ©.

(B) HIA YR WIR HHELALE [32d €9 i Hid A 5aL] 220 AUYR 6.

(C) HI& YU WUR YR [Rad 9 i e A sl 20 SEZ ([Agn 2uls &) 8, 2 oy Rad 9.
@Guzisa s

AslAd e 14 A AL (IGST) WRL-2017 Yased A1 WSl 5y [Qeun wig 97
(A) IGST 2 iid2 A% (Inter State) YA5L U AUEAUHL 24 €9,

(B) d H&U CGST a1R1- 2017 -l $a4-15 21412 [AlRd scumi 2ud €.

(C) IGST 8641 aydldl s+l HTIH £ 40% €.

@122 (Inter State) Yrasii 2uaid-l #Hda adl 9.

URAML GST il Ae™ s3/51 [Qaun/[Qunl iy 97
(A) At o1 R E-Way [Bia 24 wasll 8282 w2 v 4.

(B) ¥i% auid E-Way (0141 o1l glan ugdl dui s15 eet 2491 52512 1 516 21asia A2l 9did d si-icar
24 seusll vig2 28 s3I ASU B,

(C) E-Way [Braqd aid d2efl avid aug- -ie12 018 sl asu o,
@)Gurisa salda amn

XYZ [af2s 1 died nau-i-l ueiai-i Gewes 9, % A Uelal A5 e 215 o UseHi yd uld 8. 21
Us2Hi 8 2USA (GST €3 18 %); UREYH (GST €2 28%) A1 siusl (GST €2 12%). U5 Userll [3Hd
31. 800 (52 Ricun) 8. su-ll gi1 245 WAHD 21l 500 Us2 YA ULSAUHT UL 9. U Hddld YRasil SR
21 drg 21 Adl 52 (GST) 1l 254 g 4 d weual?

(A) Aysd yrasl, GST 3. 1,12,000. (B) ysd yasl, GST 3L. 48,000.

@ yras), GST 3. 1,12,000. (D) (A8 yRasl, GST 3. 48,000.
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When Agriculturist supplies tobacco leaves to a factory, registered under GST, the liability to pay
GSTison...

(A) Tobacco leaves seller .The buyer under reverse charge
(C) The Agriculturist (D) None of them

Which of the categories of registered persons who are being eligible for the composition scheme
under the CGST Act-2017.

.Supplier of the restaurant and Outdoor catering Services
(B) Manufacturer of notified goods.

(C) Non-Resident Taxable Person

(D) Casual Taxable Person

Which of the following is an inter-state Supply?

(A) Supplier of goods located in Ahmedabad and place of supply of goods SEZ. (Special Economic
Zone) located in Delhi.

(B) Supplier of goods located in Ahmedabad and place of supply of goods in Jaipur.
(C) Supplier of goods located in Jaipur and Place of supply of goods SEZ located in Jaipur.

@~ 1 of the above.

Which one of the following statement is incorrect as regards to IGST Act-20177?
(A) IGST is imposed on Inter State Supply.

(B) Value is determined as per Section 15 of CGST Act, 2017.

(C) The maximum rate of levy under IGST is 40%.

.Inter State supply does not include import.

Which of the following Statement/s is/are true with reference to GST in India?
(A) E-way bill is not valid for movement of goods without vehicle number on it.

(B) Once E-way bill is generated, it cannot be edited for any mistake. However, it can be cancelled
within 24 hours of generation.

(C) E-way bill may be updated with Vehicle number any number of times.
@~ of the above.

XYZ Ltd. is a manufacturer of Cosmetic products supplied in a package consisting of hair oil
(GST Rate 18%), Perfume (GST rate 28%), and Comb (GST rate 12%). The price per package
is Rs. 800 (exclusive of taxes). In a month, 500 such packages were supplied by the company.
What is the nature of Supply and the amount of GST in this case?

(A) Composite Supply, GST Rs. 1,12,000.
(B) Composite Supply, GST Rs. 48,000.
.Mixed Supply, GST Rs. 1,12,000.

(D) Mixed Supply, GST Rs. 48,000.

[ASP-2] m
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RURAML g, L AL 52 (GST) Ae™ 53y [Aun w2 «ell?
(A) ‘W ui A3 21 A2 Rl €35 Fou Masarl amda i 6.
@ ue’ i s 217 a0 wa wmde au 8.

(C) ‘W’ Hi Goll sue, a dar ol A AstuAdl 2dl dHH agai-l dde A 89 5 B Yasl
UUAL USAL 5 YRASL 2UUALAL 5A 86U STUUML 218,

(D) ‘ML HI gldL AI2Y w55 (Actionable claims) Al wRL axudg i 8. (WRE 111 214 sau 7 -1 s2eus
pucgid 2u8-).

D2l Wl wize (Aot gt Y wsaumi suadl 56 Al s235d 87

(A) 143 vize (B) wized @an dlui
(C) iatu wrla e @)Guisa Wl 25 un ]
GST $SIUEL AFAIR 518 YN oAld Higll AR $is2A (TCS) s, $1d 54 %33 697
@S-zl viuier (B) 21-uulé viluder
(C) %ot as (D) 2idRs A [Ade1 sal

GST 86t el ul3dild 2idle sal A 514 97

i. CGST sz / SGST s[@aR

ii. 515 uL 2B 5 B amea S ALssU uzAdl CGST/SGST sMAR glL At 2uuaHi 2ud)l Sl
iii. HSYA 2adl 52 [Aeuor- 212 AAq

(A) WAt (i) @) > Gi)

(C) (i) 1 (iii) (D) (i), (ii) @A (iii)

GST adR §3 L 241812 HI2 Adl WA SirL gIRL YsAAULA o1 €97

(A) [RAs 211 werdv udlas (CAG) (B) §-2dleye viis WS is18r2-2 vis Sl
@:~ 22 (D) GuRsd WA A1 R

MIRAA 21a5dRL HR-1961 $QH2(24) AR 2uasHl 1AL WS A A 97

i, S1-2UR2la ALRAUE G121 d-l AU 018 G501 HHL g1R1L AN 5L 5 AR

ii. Sl- Sy ulelA) 20 ol Adld Mol 84,

@i ) > i) (B) Hu= (i)

(C) WA (ii) (D) (i) 21 (ii) cinigl »is uw .
MIRALA HUA5ARL HIRA-1961 AR AL USL $ULL $UL5L 2UASHT AHAL Adl 2fl?
(A) srailuidl 234 2uas

(B) 2uslRus »uas

@201 2430 whie @iz 3 % 31 25, 000 Assui wild B,

(D) AR, 434 HIlA a5
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068. Which one of the following statements is not correct with reference to GST in India?
(A) “Goods’ means every kind of moveable property except money and securities.
.‘Goods’ does include money and securities.

(C) “Goods’ includes growing crops which are agreed to be severed before supply or under a
contract of supply.

(D) “Goods’ includes actionable claims. (Subject to certain exceptions u/s 7 and schedule I11).

069. Which of the following services provided by Department of Post are exempt from GST?

(A) Speed Post (B) Postal Life Insurance
(C) Express Parcel Posts .None of the above
070. Who must perform the function of Tax Collection at Source (TCS) under GST?
.E-commerce Operator (B) Transport Operator
(C) Job Workers (D) Input Service Distributor

071. Who is authorised to undertake the audit of a registered person under GST?
i. The Commissioner of CGST / Commissioner of SGST.

ii. Any officer authorised by Commissioner of CGST/ Commissioner of SGST by way of a
general or a specific order.

iii. Principal Secretary of revenue/Tax department.
(A) Only (i) .Either (i) or (ii)
(C) Either (i) or (iii) (D) Either (i), (ii) or (iii)

072. The Audit Expenditure incurred for audit of GST Compensation Fund is payable by....
(A) Comptroller and Auditor General of India
(B) Institute of Chartered Accountants of India
.Central Government
(D) None of the above

073. “Income” u/s 2 (24) of Indian Income Tax Act-1961 includes....
i. The Profits and gains of a banking business carried on by a cooperative society with its members.
ii. For Keymen Insurance Policy-received amount with Bonus.
Choose the correct option with reference to above statements.
.Both (i) and (ii) (B) Only (i)
(C) Only (ii) (D) Neither (i) nor (ii)

074. Which of the following is not included in Taxable Income as per Indian Income Tax Act- 19617
(A) Income from smuggling activity.
(B) Casual Income
.Gifts of 25,000 received in cash of personal nature.

(D) Income received in kind
[ASP-2] E
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075.

076.

077.

078.

079.

MuRAHL % [Asddl s Al Uereq ded Aue 30 HAdl 2uas 5 % MuRdHl e id da
A5l AU 1A dl A 2UAsARU ... €2 ael.

@0 (B) 15% (C) 20% (D) 30%

glHin ‘A’ A MURA ARSI GIRL 5131 vild [AMEs 2uuml udl € 244 d2al dilvi: 31-03-2021 L A

N3

Y2 Al AHA WAL AN £ SAIHL % UL 8. MIRA ARSI AHA S3IHE % 3L 50 AV UUR Y5l 8
21 d BURAd 3L 12 AL AAAAL A H22N2AL URL A1 SHSIHE % Ysudd 6.

Al Al GuRisd WUl uRdl Al WA sy [Arq 2 ©.

(A) UUR, M2l A AAAdl HIRAML $u1aL Al $18L 5 dl [B1r1-2812 €9 2 dHEl MR G18IR d¥-il
Al HIS YRR UL 534 69,

(B) 3L 62 AIUIAL ULIR, M2AL A AAAAL MURAHL 53Ul A8l
@zt 50 il wouR FURAHL suLL 1), AH E9ATU AL 2 H2AL MIRAUE 53U A9 R,
(D) BuRisd U4l »is urL 1l

A2 2 (e A4 sy (A e 697

(A) AL AU HULAL UIUR 53450 8.

@: 220401 dennid adl 2uas swa 8.

(C) 15 [AznallA [Qrualri 2000 woia 31. 30,000 WL Al L 31. 6,000 $UL2A OLRUSL.

(D) [8+€l Y2eiswit Auis 35 AR A5 MR 31 50,000 v UAH SrUH UL 2415 RN,

cuRdla 2uas A 9111961 2idold 2usRell au-2021-22 Hi2 Y, 2l ‘A’- Birdlarl g4 2uasHl x4 52
2{90fl grauote 1Al ol 52l avid - WA sul st HaawA efl?

(A) B1AIR vid-l dudl wsi Basa-dl 2uas aadl quid aix alls yearu 30% Avi suid.

@ 00 5@ 2uas 31 4,40,000 2100 Ysaarust sauid wadl 3u. 9,500 L 52 £92 (64 87 A ds01).
(C) aell gL neunHAAl AU AL SIMHL AWAA E1AL 2000 HAdl suld.

(D) osd 618 1R1L WL sAUHL 2UdA NRO 14d, Uil YR dRlld Hold ey 31 suld.

cuRdla 2uas A2 w1-19614 sau 139 (5) vigAR DA U4 su Re-A Yl asu 9?2
i. 544 139 (1) 60 MR& 2uas Red

i. 5 139 (4) S0 M4 [Qclbia Red

iii. 544 139 (3) 861 M3a wied Re

AUAL FAUCL YRAE §3U:

(A) =L (i) (B) WA (i) 1A (i)

(C) W2 (i) 241 (i) @) (i) A (i)

[ASP-2] [Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


075.

076.

077.

078.

079.

Income by the way of royalty in respect of a patent developer and registered in India in respect of
a person who is resident in India is chargeable to Income tax at rate of.....

@102 (B) 15%
(C) 20% (D) 30%
Mr. ‘A’ is posted to Canada by Govt. of India and He is in Canada throughout the previous years

ends on 31-03-2021. Govt. of India pays him Salary of Rs. 50 lakhs in Canada and also Perquisites
and allowances of Rs. 12 lakhs in Canada.

Which of the following statements is correct as per above information of Mr. *A’?

(A) Salary, Allowances and perquisites are not taxable in India since he is non-resident and receives
salary for his services outside India.

(B) Salary, Allowances and perquisites of Rs. 62 lakhs are taxable in India.

.Salary of Rs. 50 lakhs is taxable in India. However, perquisites and allowances of Rs. 12 lakhs
are not taxable in India.

(D) None of the above

Which of the following Statement is correct?
(A) Salary received by a member of Parliament is exempted.
.Income from Smuggling Business is Taxable.

(C) Out of the Scholarship of Rs. 30, 000 received by a student Rs. 6,000 is saved and hence it is
considered taxable.

(D) First Prize of Rs. 50,000 received from Central Government by an Author for writing a book
in Hindi is a Taxable Income.

Which of the following benefits are not allowable to Ms. ‘A’, a non- resident, while computing her
total income and tax liability for A.Y. 2021-22 under the Income-tax Act, 1961?

(A) Deduction of 30% of gross annual value while computing her income from house property in
Bangalore.

.Tax rebate of (u/s 87 A) Rs. 9,500 from tax payable on her total income of Rs. 4,40,000.
(C) Deduction for donation made by her to Prime Minister’s National Relief Fund.

(D) Deduction for interest earned by her on NRO savings account permitted to be maintained
by RBI.

Which of the following returns can be revised under Section 139(5) Of Indian Income Tax
Act-19617?

i. A return of income filed u/s 139(1)

ii. A belated return of income filed u/s 139(4)

iii. A return of loss filed u/s 139(3)

Choose the correct answer:

(A) Only (i) (B) Only (i) and (ii)
(C) Only (i) and (iii) .(i), (i) and (iii)

[ASP-2] E
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080.

081.

082.

083.

084.

M X7, 2612 A4 41l dl. 01-04-2018 i o i ulellil-i wisan u ddlu: 31-03-2021 L A 3L
4,50,000 HOAAUUIA AUR €9, 1 Wl W2 dlHL 54 31 4 At © 24 Al BlRam 31 1,25,000 €.
g 27, 1A dHal dl. 01-10-2012 - A lfa wiell- wisar u dilv: 01-10-2020 -t A% 3L
95,000 HotaulaL AR 69, 24 wieflAl w2 e 254 31 90,000 8 244 cauldls BlFam 31. 10,000 9.

UASARU HIRA AFAIR $2 UL 5 19 20Ul ALY 20Ul

(A) gt X 21 gl <27 A wiedll s 2400 wadl 251l 52 sl o3Ruid weua ©.
@020t A RN wise 25 wod) 251l 52 sruaudl w3RuU yuu 8.

(C) gl <27 A wielAl wisan 210l uandl 544l 52 stuadl o 3[Ruid geun .

(D) AlHin X 2t gl 27 A ulelil wisan 000 wadl 5uuiall 52 stuandl siS or3Rud geudl .

#lHiA ‘S’ gRL PM 32 §3 Hi 31 50,000 2 A2 Uil 5163241 31 20,000 Asell Aviad U2 »uy
AL 2L 8. dHEl 215 ulbas AAN2ed 2221 3L 10,000 -l Aviad sl s23¢ 6. MuRAlA 2UA5dAU
q121-1961 L sau 80 (G) 8601 2us100 ayl: 2021-22 Hi2 diiA S2dl 254 sUld )3 HYR HaAwA 69,

(A) 3L. 80,000 (B) 3L. 70,000
L. 60, L. 35,
3L 60,000 (D) 3L. 35,000

Al ‘R7 A wegal an: 2020-21 Hi A4+l H4IML 3L 4,00,000 iz A1 €. L % UM adHi swAdl
A2 U4 58 2ua8 1A AL 20 vz viza 30 a5?

i, azoli-l Haumiddl suAdd 3L 1 Al sl

ii. Al daidl 2da 31 2 Al aiow dusuHl {dl st

iii. 3L 1 @l wour-l 2uas

(A) usal (i) 21 ReE (i); sudl-l vile sui W) dl ASHL.

(B) usau (i) 41 cuens (i) 211 (iii)

(C) uaH (i) Hidl 2 e (iii); cufl-l viie 2u10 vl ol A,
@2 (i) wisd 247 wReue (ii); oudl- vie wuoin Wai) o) A,

cuRAlY UasdRL Q11-1961 601 1AL WS 5 2nasa Wdl-l 2uas A8 aami »ud?
(A) tllor=u danamidl adl »uas

@01 2uuia 6ol Asndr geini adl 2uas

(C) dUes L HELL HI2 b1 USIRY, Bl GoudlA d-iL d2nal 2uas

-

(D) %ara-l orHln uR a2 GloIA €918 A9l UL ARNAAL HIS £92 AU BLEQ AYAA 51

os1R $Usll Uldifl Ul Yold L Slu dal sxni Aelan Sl 4ral HIE MRl ds-L8) a4 (11T) 15
A 45, di 2 viddld Sudlz 3sda 51 w2 Sudld s2dl 54 vy wadl?

(A) 3L 5,00,000 (100%) (B) 3L. 6,25,000 (125%)
(C) 3L 10,50,000 (175%) @):.. 7.50,000 (150%)
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081.

082.

083.

084.

Mr. X, a resident, is due to receive Rs. 4.50 lakhs on 31.3.2021, towards maturity proceeds of LIC
policy taken on 1.4.2018, for which the sum assured is Rs. 4 lakhs and the annual premium is
Rs. 1,25,000. Mr. Z, a resident, is due to receive Rs. 95,000 on 1.10.2020 towards maturity proceeds
of LIC policy taken on 1.10.2012 for which the sum assured is Rs. 90,000 and the annual premium
is Rs. 10,000. What is your opinion about tax to be deducted as per Income tax Act?

(A) Tax is required to be deducted on income comprised in maturity proceeds payable to
Mr. X and Mr. Z

.Tax is required to be deducted on income comprised in maturity proceeds payable to Mr. X
(C) Tax is required to be deducted on income comprised in maturity proceeds payable to Mr. Z

(D) No tax is required to be deducted on income comprised in maturity proceeds payable to either
Mr. X or Mr. Z

Mr. ‘S’ made a donation of Rs. 50,000 to PM Cares Fund and Rs. 20,000 to Rajiv Gandhi
Foundation by cheque. He made a cash donation of Rs. 10,000 to a public charitable trust. The
deduction allowable to him under section 80G of Income Tax Act-1961 for A.Y.2021-22 is -

(A) Rs. 80,000 (B) Rs. 70,000
@rs. 60,000 (D) Rs. 35,000

Mr. ‘R’ incurred loss of Rs. 4 lakh in the P.Y. 2020-21 in leather business. Against which of the
following incomes earned during the same year, can he set off such loss?

i. Profit of Rs. 1 lakh from apparel business

ii. Long-term capital gains of Rs. 2 lakhs on sale of jewellery

iii. Salary income of Rs. 1 lakh

Choose the correct answer:

(A) First from (ii) and thereafter from (i); the remaining loss has to be carried forward.
(B) First from (i) and thereafter from (ii) and (iii)

(C) First from (i) and thereafter from (iii); the remaining loss has to be carried forward
.First from (i) and thereafter from (ii); the remaining loss has to be carried forward

Which of the following incomes will not be treated as agricultural income under the Income Tax
Act, 1961:

(A) Income derived from sale of seeds

.Income from sale of forest trees of spontaneous growth

(C) Income derived by growing special type of grass required for creating golf course.
(D) Fees collected for allowing cattle to graze on forest lands of spontaneous growth

When a company paid Rs. 5 lakhs to Indian Institute of Technology to carry on research in a
field unrelated to the activity of the company, the amount eligible for deduction paid by company
would be...

(A) Rs. 5,00,000 (100%) (B) Rs. 6,25,000 (125%)

(C) Rs. 10,50,000 (175%) .Rs. 7,50,000 (150%0)
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085.

086.

087.

088.

089.

090.

091.

s AL 21 usdlse Qiell-11 (ICDS- 1) .......... AR ul g,
(A) Rauell Al (B) liusiu-l $2AR (C) Guoge 2uient @<= yeisn

M3 2UE M5 [Rasd 2000 D 2004 U8 20U A dl G 2uul.

Ry[A[Rua 2usiell Yoo e 31. 60,0005 24U ol sug 31. 68,000; 32 5214 252 S50 21788 A72-
3L. 62,000- awlils HAQ @ - 3L 65,000. Masad A alis yea asl ........

(A) 3L. 68,000 (B) 3L. 62,000 @:.. 65,000 (D) 3L. 60,000

52 Al e DA Ul 534 w1/ 697

i d 2lEamui elaael 9.

i, 52 noltt-l uvunellui dg swiax wallzd .

iii. d-uell Gemadl ™ 25t 2uon Yyl AlRd siu 8.

iv. dell Yoo BB 52 FAUMER] B213arL €.

(A) (i), (i) 21 (iii) (B) (i) 2 (ii) @) - (iv) (D) (ii), (iii) 2 (iv)
2[521(A) A X LY Ul [Rudziviadl gais 21 2is s2dtag giadl, YU X  urdl  [RudRivia-dl
RIS A5 scL eIl UL,

51281 (R): 61 (R 2ieit oSl -l RITR Heas v Aueiyrl s A 8.

BuRAsd MUl uell Al Fuet UAE $3U.

@~ 211 (R) vid 8. (B) (A) i 8, uid (R) 3 4.

(C) (A) i el, uig (R) i . (D) 6iA (A) 21 (R) 2 AL,

s g [Ad 3 2ul AHidR Hsll Bud vare x4 ogasdl gauul Hedd gy 6. d [Qdad
PRETUNSE

(A) [d Qe @ Qnna ) Raza

(C) 282 [auHdL v [ddel (D) GuRlsd Y4l 15 v -

AulRHl 2da glg-il a9 €2 ARt e audl A oy w2 56 97
(A) AHIdR HUS (B) WeuRe @: i weus (D) SRAHS HES

R ulzar-u avssy A 2uden .

R B asissiA saiadl DA [Aseuinidl il dl ulzunl a1l su saladi [[Asey uaie s
i. Wl [Aequa

ii. ARl [Rzua

iii. WSl 22 524

iv. A4 AUIR sl

v. HUR AL elge

(A) (@), (i), (iii), (iv), (v) (B) (i), (i), (iii), (iv), (v)

(C) (iii), (i), (ii), (iv), (v) @i G, (), (v), (iv)
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085.

086.

087.

088.

089.

090.

091.

Income Computation and Disclosure Standards-11 (ICDS- 11) stands for
(A) Accounting policies (B) Construction Contract
(C) Revenue recognition .Valuation of inventories

Consider the following problem relating to a let-out house property and answer it : Municipal
value — Rs. 60,000 Fair rent — Rs. 68,000 Standard rent under the Rent Control Act — Rs. 62,000
Annual Rent received — Rs. 65,000. The Gross Annual Value of the property will be

(A) Rs. 68,000 (B) Rs. 62,000
S. 65, S. by,
@rs. 65,000 (D) Rs. 60,000

Which of the following are true in tax planning?

i. Itis futuristic in its approach.

ii. It has limited scope compared to tax management.

iii. The benefits arising from it are limited particularly in the short run.

iv. Its main objective is to reduce the tax liability.

(A) (i), (i) and (iii) (B) (i) and (ii)

.(i) and (iv) (D) (i), (iii) and (iv)

Assertion (A): If regression coefficient of X on Y is greater than one, regression coefficient of Y on
X must be less than one.

Reason (R): The geometric mean between two regression coefficients is the coefficient of correlation.
On the basis of the above, choose the appropriate answer:

.(A) and (R) are correct. (B) (A) is correct, but (R) is not correct.

(C) (A) is not correct, but (R) is correct. (D) Both (A) and (R) are not correct.

A distribution, where the value of arithmetic mean is maximum as compared to median and
mode, is

(A) Normal distribution .Positively—skewed distribution
(C) Negatively-skewed distribution (D) None of these

The most appropriate average to be used to compute the average rate of growth in
population is....

(A) Arithmetic mean (B) Median
.Geometric mean (D) Harmonic mean

The steps in data processing are given below:

i. Data Analysis

ii. Data Presentation

iii. Data Capture

iv. Report Generation

v. Data Interpretation

Choose the correct sequence of steps in data processing from the following options:
(A) (@), (i), (iii), (iv), (v) (B) (i), (i), (iii), (iv), (v)

(C) (iii), (i), (i), (iv), (v) @i, i), (). (v). ()

[ASP-2] m
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092. Rl [Agdumt Aeel 20Ul wEl 14 el 1108 wiou Ad Asl.

el | gl 11

i, auelsdirll sa AufRA neag gedl o sl d a. [Real neus

ii. (Reel [Qaag v [daan b. wadl

iii. AHMR qaag aein 52 dd Avasly yeu C.USIR | e

iv. i[d d [QdaRa uul d. nHuldid M

(A)i-d,ii-c,iii-a,iv-b .i-c,ii-d,iii-b,iv-a

(C)i-c ii-b,iii-d,iv-a (D)i-d,ii-b,iii-c,iv-a
093. W% [Asu-ini Aenaq We xtissiuAla Als 2l A1 S Axde i 6.,

(A) SPSS (B) STATA (C) MiniTab @Guisa iy
094. [Real 2a-umi -l xda a6,

i. [Regl 2isu

ii. [Reeld se

iii. Au[R2Al us1R

iv. 2d wgl

v. Regtn ulza
A=A WS sul sH 2wl 97

(A) (), (i), (i), (iv), (v) (B) (iii), (iv), (i), (ii), (V)
@i, (), (v), (i), (v) (D) (iii), (v), (i), (iv), (ii)
095. @art [Rals wAHL YAs 2Aisl J”AUHL $UL G LUAHE G €97
(A) 1R M (B) w2ubit ¢ua (C) U318 *ua @25 cua

096. ot-lel Naet L Ae UL AL UL /51 @yl vigpie 97
i, €35 UM o AG[dad uRuml i 69, i usndl’ (p) 2= [rsnar’ (g) 6.
ii. 51O ULl UL W12 ASNAL] AManL ‘p’ UM W 695
iii. [Alas nactiq ulRenul 21issieusly dd ad=t sia 6.
(A) W (i) 21 (ii) (B) H1=t (i) 2 (iii)
(C) WAt (i) @Guisa i a6 R

097. Y3uL 2l HIG 25 A1 (Rl B A1 a3, AR AL Sid) AL
i. YreuvullRid sqasl [Qda
ii. 14 W2 Asleus sl
iii. A4 215 ollon A8 Aid-ALIAA A Sial A4,
iv. A8 HallBd 244 2ulls uRami saldl asa da gian Ad¢
BuRlisd WSl sy [Qauy/la-l uloy 97
(A) $54. (i) 241 (i) (B) 5 (ii) 2 (iii)
@: 5 G, (i) >4 (iv) (D) 854 (i), (i) 241 (iii)
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092. Match the items in List-1 with items in List-11 related to analysis of Data.

List—1 List—11
i. Level of significance is equal to population mean a. Sample mean
ii. Standard deviation of sampling distribution b. Parameters
iii. Numerical value that describes the characteristic of the population c. Type-1 error
iv. Normally distributed population d. Standard error
(A)i-d,ii-c,iii-a,iv-b .i-c,ii-d,iii-b,iv-a
(C)i-c,ii-b,iii-d,iv-a (D)i-d,ii-b,iii-c,iv-a

093. Statistical software packages for research in social sciences include.....
(A) SPSS (B) STATA
(C) MiniTab @~ of the above

094. Sample design involves the following:
i. Sampling unit
ii. Size of samples
iii. Type of universe
iv. Source list
v. Sampling procedure
Which one of the following sequences is correct?

(A) (i), (i), (iii), (iv), (V) (B) (iii), (iv), (i), (i), (v)
@ii). (). (v, (i), (v) (D) (iii), (v), (i), (iv), (i)

095. Which Price is considered in the formation of the Cost of living Index number?
(A) Market Price (B) Wholesale Price
(C) Average Price .Retail Price

096. Which statement/s is/are incorrect out of following statements with reference to ‘Bernoulli trials’?
i. each trial has two possible outcomes, viz. a ‘success’ (p) and a “failure’ (q);
ii. the probability of success, p, is the same for any trial;
iii the outcomes of different trials are statistically independent.
(A) Only (i) and (ii) (B) Only (ii) and (iii)
(C) Only (ii) .None of the above

097. For linear programming to be an effective decision tool, four conditions must exist:
i. well-defined objective function
ii. alternative courses of action
iii. variables should not be interrelated
iv. resources must be finite and economically quantifiable
Which of the above statement/s is/are correct?
(A) Only (i) and (ii) (B) Only (ii) and (iii)
.Only (i), (i) and (iv) (D) Only (i), (ii) and (iii)
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098.

099.

100.

101.

102.

XBRL (52 [Ru01a Bz RuilZo dadoy) [Qal A 2udan [Qandl Lunui @l
i. (R XBRL Al 22%1d i [0l Hieiui $2512+ 51301 9,
ii. XBRL -l %15 Hi2l $14el A 8 5 d wusld uAsi-l da-tlersdid Ues 20l 8.

iii. XBRL ctus WHIRHE GUALIHI Slal 69di, XBRL Yidld Ai52dR [Asd s2-uR ulgedz [QAzdii-l
v vyor wallzd €.

iv. XBRL 1l BUalol $3 4 RUSA Arcllouil, S+l oirsl 241 U510 Al Al M Us1R-L [Ruu-s1iA
Hasly e A 1 530 asiy 6.

BuRlsd WAL s3/sun [Qan/Qsunl /2 97

(A) A2 (i), (i) 24 (iii) (B) = (i) ¢4 (iv)

(C) A (i), (iii) 21 (iv) @~ (i) 211 (iv)
vieraRad 01l (Data) A suul 3uidRd saidl Al wlzu i al.

i wlRdl

ii. oyl ouoll [Rela

iii. Su-

iv. oyfg 2 <[

v. 3l (Data)

(A) (i), (i), (iii), (iv), (V) (B) (iii), (iv), (ii), (v), (i)
@), (), Gv), i), (i) (D) (v), (i), (iv), (iii), (ii)

2dl-ERP 9.00 i wdlel %222 Al W2 53 udlg Aguunl 2ud 87

(A) Gateway of Tally — Display — Sales Register

(B) Gateway of Tally — Account Books — Sales Register

.Gateway of Tally — Display — Account Books — Purchase Register
(D) Gateway of Tally — Registers — Purchase Register

Dauniddl sy vl ysa sHeldl usd-l adl sadg YA 872

(A)k,=D/P+g B)k,=ky(1-T)(1-C)

@« -«0-1n@e-0 (D) k, =Kkyg(1-T-C)

oul, K, = vl y3a suelll ugdr, D = 212€ls Sldls=s, P = 2k€ls Alvwll 2uas, g= ddls~s alg €2,
Kg = gl wdr, K, = 6328l 248l usdz, T = dusid aw) usdl qlHid 2 €,
C = s[Raq 24 sendl v esiadlui

YAl usaui NAnigd) 595 usd-l uHA A 97
(A) 4 2 qUld v1ad AYsd UsdR

(B) @l usar 2 HildsilAs usd

(C) U2 U3dR 2 AUGd U3dR

@Guzisa aun
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098.

099.

100.

101.

102.

Consider the following given statements about the XBRL (extensible Business Reporting language).
i. Introduction of XBRL in India causes the changes in the Accounting Standards.

ii. One of the major advantages of XBRL is that it promotes the comparability of the financial
statements.

iii. Though XBRL is in wide spread use, there are very limited number of software vendors
developing the XBRL compatible software.

iv. XBRL can be used for business reporting to all types of regulators including tax and financial
authorities, central banks and governments.

Which of the above statements are correct?
(A) Only (i), (ii) and (iii) (B) Only (i) and (iv)
(C) Only (ii), (iii) and (iv) .Only (i) and (iv)

Consider the following process of converting raw data into Knowledge.
i. Information

ii. Intelligent Decision

iii. Knowledge

iv. Intelligence and Vision

v. Data

The Correct sequence will be...

(A) (i), (i), (iii), (iv), (v) (B) (iii), (iv), (i), (v), (i)
@ ). (). ). i), (i) (D) (v), (i), (iv), (iii), (i)
Which step is followed to view Purchase Register in Tally- ERP 9.00?
(A) Gateway of Tally — Display — Sales Register

(B) Gateway of Tally — Account Books — Sales Register

.Gateway of Tally — Display — Account Books — Purchase Register
(D) Gateway of Tally — Registers — Purchase Register

Which one of the following is the formula to calculate the cost of retained earnings?

(A)k,=D/P+g B ki=kq(1-T)(1-C)
@« -xc-nae-o (D) k =ks(1-T-C)
where,

k.= cost of retained earnings ; D = dividend per share; P = net proceeds per share
g = growth rate in dividend ; k4 = cost of debt ; k. = cost of equity share capital;
T = marginal tax rate applicable to shareholders;

C = commission & brokerage cost in terms of percentage

Which of the following cost(s) is/are included in cost of capital?
(A) Overall or composite or combined cost (B) Future cost and historical cost
(C) Explicit cost and implicit cost .AII of the above

[ASP-2] E
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103, HA-l ugd 231 Al [Qan-l Lu-ui al,

. 512030 2Aoil8a 2dl Ss0, YL usdR 21 Ad vARd €9 5 U2 Uldirl ASBI U 442U sHIAdL
U3dl €YTH AR € €9, A12d 3 d viglwd MUl AssuasU adHiyeun [RalRd s2dl avid Gu
ARIHL Adldl a2idHl €2 AUBd 9.

11 2ufs ouoidl ds0, YA usdr i2d YR useu w2 330 uufu ¢igin 6ef sl usdar .
d eigindl dsleus ugdz, (B €2 Ssn 22d 5 ¢iding Gi8R A5 5L 2AQ 2UEA sl
AU UL A 89, BURsd ol (At 2utR, NA-unidl sul [Asey il 97

@:in el i 8. (B) viqt [Qeu-l wial 8.

(C) [Atnn-1 01 © 2t Q-1 vig 9. (D) [Atnn-1 vig & 2 [Qsun-11 004 9.
104. YJR-1 -l [Qotdl 202 yR-11 A [dordi-l Ho 21,

YRA-1 n[@am QRA-11 YA

x. ls=s Bua vl@an i. E/P

y. Qdlss Bua an glg 21l@Ham i. D/P+g

z. (Bud swell 1[G iii.D/P

oul, E =2els suell, P = 2els Alvell 211a5/28ls v Y, D = fdls-s /a2els sHell 241
g = dldls~s al& €2
(A) X -,y -ii, z - iii (B) x - ii, y - iiii, - i
.x-iii,y-ii,z-i (D) x-ii,y-i,z-iii
105. 2w (sl s Al
I. 2014 Masd-l ag sangidlai u-l asRl 21 aivell siella 34 ads 2invna 8.
1. s1d2lle HdAL AU 27 A0 GualaL gIRL 5L sHIAAH) aHdL ladl Yosa o 8.
BUASd o [t Aeedul, NA-unil sui [Qsey il 97
(A) oA [t 202 6. (B) ti [Atui viie 69,
@1 203 O 24 Qa1 vl 9. (D) [Qsut-1 vig 8 A [Qan-11 1 ©.

106. A WA su1 Al a1 alad siila yd-u 0d 2?2
@51 20Dl ysel v y:GulolL s2al.
(B) auRil AAdrcnS ¢l
(C) A8 Al
(D) AuiR (B0 27, 1= ysaellua

107, A-uuiddl sd/su sidalla yd-u [Ruiks 92
(A) 4l aww-lla
(B) 151, de
(C) 4l 2 Bewrg-lld 5 21 234
@Gucisa salda amn
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103.

104.

105.

106.

107.

Consider the following statements regarding cost of capital.

I. Under operational terms, cost of capital is defined as the minimum rate of return which a firm
must earn on its investment i.e. it refers to the discount rate which is used while determining the
present value of estimated future cash flows.

I1. Under economic terms, cost of capital is the cost of raising funds required in order to finance
the proposed project i.e. it is the borrowing rate of the firm. It also refers to opportunity cost of
funds, in terms of lending rate i.e. the expected earnings by investing funds outside.

Based on the above two statements, which one of the following options is correct?
.Both the statements are correct

(B) Both the statements are incorrect

(C) Statement | is correct & statement 11 is incorrect

(D) Statement 1 is incorrect & statement 11 is correct

Match the items of List-1 with those of List-11 & indicate the correct option.

List-1 - Approach List-11 - Formula
X. Dividend Price Approach i.E/P

y. Dividend Price plus Growth Approach ii.D/P+g

z. Earning Price Approach iii.D/P

where E is earning per share; P is net proceeds per share/current market price per share; D is
dividend/earning per share and g is growth rate in dividend

(A) x-i,y-ii, z-iii (B) x -ii, y-iii,z-i

.x-iii,y-ii,z-i (D) x-ii,y-1i,z-iii

Consider the following statements:

I. Excess of current assets over current liabilities is known as net working capital.

I1. It becomes difficult to ascertain the profit-earning capacity from the application and proper
utilization of working capital.

In light of the above two statements, which of the following options is correct?
(A) Both the statements are correct

(B) Both the statements are incorrect

.Statement I is correct & statement 11 is incorrect

(D) Statement | is incorrect & statement Il is correct

Which one of the following is not a source of seasonal or variable working capital?
.Retention or ploughing back of profit (B) Provision for depreciation
(C) Public deposit (D) Trade credit and other payables

Which of the following is /are determinant(s) of working capital?
(A) Credit policy of the firm

(B) Profit element

(C) Nature and size of business & production policy

@~ of the above
[ASP-2] E
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108. 2w [t LuqHi Al
I. GlEALAL LA R 8601, Ul [Alan u2sl d siella Yo agam 2 andl v 2uagus ©.
1. g Rasd siSu a2sd A5 3uid s W &9 ol 28 HiA-l unu 33 9.
BuRlsd ol (Al 2umwi ]l , DA-unidd il [asey wrie 53

(A) birl [Qa-dl i 8. @i Qe viay 8.
(C) [Atun-1 0 9 A [Qaq-11wig 8. (D) [Qtun-1 vilg & x4 [Aan-11 0y 8.
109. €35 Udly aul eRa g Masadl AfEd agan 50 anadl s % ... a5 HneuA 8. 20 s
Add a3 s1d 52 6 3 dell g FMaasdl d-uell DA a2 $uu o3 ).
(A) 381y 1y Masdl

(B) deauMdl qaan x50 Ay Masdl
@:1v1 214 Masdl (hardcore current assets)
(D) 52l 1y [Resdl

110, olsfBRua-u Rumnd 2iga s e, Da-unidl 5§ aFMa ()l 2aru- sami 2udl ¢dl?

(A) el Al (B) asadl ulld
(C) w161 Al @Gurisa caida awm
111, AD2Aumiedl sal ySrunvsl Resia d)?
(A) vl 5110013 2uas ul@an (B) waulasiond [atuia 2ildam
(C) Hifodla-)-far wldam @:iiv+D usaz ko
112, DA-unidl s3 48 v a3y dl?
@15 (s scuvieidli yal (B) S5l AR 241 A5 AR biAHl Yel
(C) S35l AR 241 [36i-4 il YEL (D) $[3a2l 2R, Us- AR 1 36112 Y&l
113, e 24l ig2d-l zualdil 97?
@s-3,7.2,8.1,9.0,ERPY (B) 540, 611, 723, 826
(C) Al, B2, C3, D8, J9 (D) BuRlSsd dHIM

114. AIS ¥2d ..........
(A) Accountancy Information Scheme (B) Accounts Information System
.Accounting Information System (D) Accounting Information Scheme

115, GURAHL -IRU R (Money Market) ¥4 §3 [Ruuq sla 53 697
(A) cudla Axd ols
(B) -usu {4y
@12 ulcyd 247 [QRw 6ilS (SEBI)
(D) sl Al (el
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108.

109.

110.

111.

112.

113.

114.

115.

Consider the following statements:

I. Under changing price level, a firm must maintain a lower level of working capital with its
various components.

I1. Time required for ultimate conversion of any component of current assets into cash is six to
eight months.

With regard to the above two statements, choose the correct option from below:
(A) Both the statements are correct

.Both the statements are incorrect

(C) Statement | is correct & statement 11 is incorrect

(D) Statement | is incorrect & statement 11 is correct

Every firm has to maintain a certain minimum amount of current assets throughout a year

which is known as and it serves as the signal below which the current asset level is never
allowed to fall.

(A) Conservative current assets (B) Hedging or matching current assets
.Hardcore current assets (D) Circulating current assets

In order to control the regulation of bank finance, which of the following committee(s) was /
were set up?

(A) Dehejia Committee (B) Chakraborty Committee

(C) Marathe Committee .AII of the above

Which one of the following is not a theory of capital structure?

(A) Net Operating Income Approach (B) Traditional Theory Approach
(C) Modigliani-Miller Approach .Net Expense Approach

Which one of the following is not a pattern of capital structure?
.The issue of contingent liability

(B) The issue of both equity shares and preference shares

(C) The issue of both equity shares and debentures

(D) The issue of equity shares, preference shares and debentures

are the versions of Tally software.

@53 72.81,90ERPY (B) 540, 611, 723, 826

(C)AL, B2, C3, D8, J9 (D) All of the above

AIS stands for —

(A) Accountancy Information Scheme (B) Accounts Information System
.Accounting Information System (D) Accounting Information Scheme

Who regulates money market mutual funds in India?
(A) Reserve Bank of India (RBI)

(B) Ministry of Finance

.Securities and Exchange Board of India (SEBI)

(D) Department of Financial Services
[ASP-2]
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116.

117.

118.

119.

120.

121.

122.

A2 2uud [Qauinied sy [Qan ) 92

(A) 21008 HI o4l Auidl Gisl el 9.

(B) 21202Uad eu sl il osd ols weared) .
@201 -uvu eronui 22l Gls werlla .

(D) 1823 -l 1l A 518 Hvllil Heueluil €.

A2 2uia Ul 5y 2is wals aileld) 92

(A) 2Udcami 28A Ul G121 t1812 W3AIHi sadl oi-aR,

(B) udlu Aoxd 6ls (RBI) A Yri: a21d W2 29 sl 2044 A-[Bre,

(C) vRacaui 28 & Udl-L AR P+l AUIR 6ll3s] 2215 54+ (BSE) Hi AU 69,
@112 (05 082 e2vud (IPO) 6121 G18I1R WM 2L IR,

AURAHE GuRAlA Uldeyld 2 [@RHA 6l (SEBI) 8 526l v [Raie 2i-il (Credit rating agency)

A 69 ?

(A) 3 (B) 4 (C)5 @

RURAL AR 2R (AN DA-unidl 53 25 [ vig 97

(A) 6l 2218 Ay (BSE) 24 HAd 221s a1 (NSE) Hi AUl 2Aans a6,

@0 2215 vimd-or (BSE) uda Aaind 22is viad-ar (NSE) 2anu-u 4 ¢d.

(C) il 2215 viaAy (BSE) walis sronui widledn diui ualdr »uy .

(D) A2l (NIFTY) 241 A-A54 (SENSEX) s Aa-d 221s e (NSE) 241 6llao] 2215 A8~y
(BSE) i 4usisi €.

aluniddl 54 245 weu sl w8 ell?

(A) 223l [Bre (T Bills) (B) simf3lua dur
(C) siuRiua [Bra @i

A1 U4 5y [Qens/lQan-l =)/ —edl?

. S1SUR Azl o Heu Siu 8 Gualdllal yeu 24 [ARua yeu

1. Guailiidl Heu v2d o gRow

1. GuALBidl yeu - Sla 9di argHi [ARHa yeu 81 a3

IV. [ARHU Y& A Sl 69di azgui Guaidlla yeu €I a5

2udal [Aseu widd e [Aseu )l uziedll 2.

(A) (1) 24 (1V) @0 (C) (1) 24 (1V) (D) 54 (1V)

oL (gl DA-nwidl 53/ sun Qs (el 2 9. 1A 2utenmiddl i [@seudl wrieoll 5
1. 1oL L wdle Alsd 24 Ysasll sradl S291 gL anfda dyazgll S« 8.

1. |ioL 2 516 2oy argrll S0 6.

[, Hiowl Han Aloyag- Hia AL AeEH 2l s 20d .

IV, 518 2o azgaii-l |iowaen wRewidl neuldd aa 9.

.(I), )& (1V)  (B) (1) 24 (111) (C) 854 (1) (D) (11) 244 (1V)
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116. Which one of the following statements is correct?
(A) Commercial banks are intermediaries in informal capital market.
(B) Reserve Bank of India (RBI) is an intermediary in informal money market.
.Indigenous bankers are intermediaries in informal money market.
(D) Cooperative societies are intermediaries in informal money market.

117.  Which one of the following is a primary security?
(A) Debentures issued by an existing firm
(B) T-bills which are given to Reserve Bank of India (RBI) for rediscounting
(C) Shares of existing company traded in Bombay Stock Exchange (BSE)
.Shares of new company floated under Initial Public Offer (IPO)

118. How many credit rating agencies in India are registered with Securities and Exchange Board of
India (SEBI)?

(A)3 (B) 4 (C)5 @
119. Which one of the following statements about stock markets in India is false?
(A) Trading in Bombay Stock Exchange (BSE) and National Stock Exchange (NSE) is done online.
.National Stock Exchange (NSE) was established before Bombay Stock Exchange (BSE).
(C) Bombay Stock Exchange (BSE) imparts liquidity to stocks purchased in the primary market.

(D) NIFTY and SENSEX are stock market indices of National Stock Exchange (NSE) and Bombay
Stock Exchange (BSE) respectively.

120. Which one of the following is not an instrument of money market?
(A) Treasury bills (B) Commercial paper
(C) Commercial bill .Debenture

121. Which of the following statement(s) is/are not correct? Choose the correct option from those given
below the statements.

I. there are two values of a commodity—value-in-use and value-in-exchange.
I1. value-in-use of a commodity is the same as its utility.

I11. a commodity can have value-in-exchange without having value-in-use.
IV. a commodity can have value-in-use without having value-in-exchange.
(A) (1) and (V) @) onty

(C) (1) and (1V) (D) (1V) only

122. Which of the following statement(s) about demand is/are correct?
Choose the correct option from those given below the statements.
I. Demand is desire for a commodity backed by purchasing power and willingness to pay.
I1. Demand is simply desire for a commodity.
I11. Demand is always discussed with reference to price of a commodity.
IV. Demand for a commodity is affected by many factors.
.(I), (11 & (1v) (B) (I) & (111)
(C) (1) only (D) (1) & (1V)
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123.

124,

125.

126.

127.

et v (31 [Qa DA-umiddl sd/san [QaqylQaql i/ 97 [Qudil D2 2uda [@sauniddl w
(Aseu-l uaieoll s

I Y&t 3 A0 21 [BHd 24 [Rus vaa ©

1. o) o 1oy Argati-il YUl s % und adl v adl a5 ©

1. 215 % uud ol o 20l arg2ll BHAHE A81RL 217 82180 4 wsdl el

IV, yeu Al vaie 2L ugld 018 300 6 a1l [31d A v weudla ugld e yiod 6

(A) (1) 244 (11) (B) (11) 21 (111) @) »iav) (D) (111) 24 (1V)
D2 wiell 53 215 nun asll i 1 vienasd [Gua 8.

(A) 5143 Gelloidl 4515125l UR ddn atiu-dl 244

(B) w12 Y swarl 2Ua1d $aUHL 2Ud UR sWAHL MLl YR U3dl 4R,

@ oucu-u eui a21sidl cuRd-L LS @anHiRRL UL 2R

(D) $12+1l 1121 YR WieE A Alvis-il cuani aaRi-dl 12

1R AlBduil visollon W Aldla 53 6 2 i [l 1A 2004 8.
o 20U 1 SIRAAL AARAAL 5129 20 A MRAHE 2Us glEl €2 Uil 6.
o 215012 ¢ (AL MM 2 SIR1AL AAA A 5180 Uldsn w12 28 8.

o sl ¢ SIRAHL AURA L 5128 % HEL 20l O, dr ugiAl anan w2 (- 2aHl w521 A [Agd
A sl A 2ru-udl .

o RS § Mg ¢ 5 wdAd HelHidl 61812 claal ASRIM 1[5 HOeLd 2uas dlo-u (UBI) @y
sl oA

A2 2uden [Asediniall d @ulsd A vl 2 [Rde ugelas 8.

(A) A% (B) 25612 (C) wirall @R

A8 2091 51200 2400 DA uniell sa/sun [QaiyQanl wejuu ©.

A 2 [seuinioll e [asey Al urigai] s:i.

I ugradl o) o or3(Raudl suu A asdl 44l

I, Mirddld aten Guaiorl Agedui cuR s uAgoll sau-l 289 dl.

[, e -l aigandl o3 .

IV, A8l 1en s atidl asidl .

@:s ) (B) (11) 241, (111) (C) 54 (1V) (D) (1), (1) 21 (1V)
120 2a3u (A8 DA-unid) sa/san @yl /6. A1 2uden [Qseuinifl wan [Qsen )
uell s

I. 222uat [dsun 9 L sou -,

1. 2ieueat sou 69 uat [dsun ).

I, 2i2uest Ayet (- € i1 son v e,

IV. 222025 Allds ol B4 yel [dauq € 214 sty e,

(A) (), (1ID) 24 (1V)  (B) (1) 244 (1V) @::0n) (D) 854 (1V)
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123.

124,

125.

126.

127.

Which of the following statement(s) about value and price is/are correct?

Choose the correct option from the given below statements.

I. Value is relative and price is absolute concept.

I1. Values of all commodities can rise and fall at the same time.

I11. Prices of all commaodities cannot rise and fall at the same time.

IV. The concept of value is relevant in barter and that of price in monetary system.
(A) (1) & (1) (B) (1) & (111)

@) and (v (D) (111) & (1V)

Which one of the following is a topic of study in macroeconomics?

(A) The effect of increase in wages on the profitability of textile industry.

(B) The effect on cotton prices when more cotton is imported.

.The effect of a decreasing rate of inflation on living standards of people in India.
(D) The effect of an increase in price of steel and iron on the demand for cars.

Four persons converse with each other. Their statements are given below.
* Ajay : This year economic growth rate in India is low due to corona virus.
» Akbar : All countries of the world have been adversely affected due to corona virus.

» Anthony : Governments across the globe have adopted expansionary fiscal policy to fight corona
induced recession.

* Amar Singh : | believe that governments should implement Universal Basic Income (UBI) scheme
to lift economies out of recession.

From the options given below, identify the person whose statement is normative.
(A) Ajay (B) Akbar
(C) Anthony .Amar Singh

Which of the following statement(s) is/are true due to resource scarcity?
Choose the correct option from those given below the statements.

I. All human wants can never be satisfied

I1. Humanity will never have to make any choice with respect to resource use
I11. There is no need to discover new resources

IV. Quantity of resources can never be increased

@) oniy (B) (1) & (111)

(C) (1V) only (D) (1), (1) & (1V)

Which of the following statement(s) about the nature of economics is/are correct?
Choose the correct option from those given below the statements.

I. Economics is a science but not an art.

I1. Economics is an art but not a science.

I11. Economics is an imperfect science and also an art.

IV. Economics is a perfect science like physics and also an art.

(A) (1), (1) & (1V) (B) (1) & (IV)

@) ony (D) (IV) only
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128.

129.

130.

131.

132.

133.

Bist argil [Agl DA-unidl s2/50 [Qamy/lQanql zju 1l? A 2uden [@Qseulnisll i [aseu -
uRigofl 43U

I. Big azgii-l wio v 4 gl gl 6.

1. Big argil 2dl bl argil ©, % Hidru [Run-l ¢ioL 53 8.

1. Big axgil w218l aqail 8.

IV, 61l e dl azgil Pig azgil ©.

@) =i (v (B) (1) 2+ (1)

(C) (1) 24 (111) (D) (1) 241, (1V)

oA A sl sl ARl 2 5120 530 Hiow adl A dl g sél asw ...

@0 2vu 21l s oA 529 (B) wioL 3uut 3100l azs A 524

(C) HidL v uR Al drs 2uld a9l (D) HidL 3wl UR Buz-l drs Auld 3l

yasi-l Yeu Aiadil AecHi DaA-umioll 53 245 [Qan 2] 92

(A) % Gewet Hi2 33 At A0 Hofl 28 dl YasL YU U sl

(B) it [Rulorsl Gewet atRalg, R wigdl dauiR ¢l dl Yasidl yeaiadl 21l sal.

(C) 2518 arg il ARvUHBIHI Ueldd ARl Al Yasl AUIR Y& AUE Slu ©.

@ Gewet aiar 519 Gaug vlu 4uim ARl i dl yRastd yermadl 208 ¢4,

A 518 azgril yrasidl yeriadl si-id sid di DA sudan Hidl sy [Qan ue) sa?
(A) 21 gl Yast uu Gell sal.

@ gl y2asid v 2udl sdl.

(C) 1 azgrll yrast Juw xAMA4IRA 4.

(D) 1 azgrll Yast i 28R glu-l sl

A8 (B 244 Ao gl yRast a2 Aol fuqui vl DA-unidl sy [ 0 92
(A) 4 [3Hd 211 dlyagiii yrast-l aza si6 Aqeiy dl.

@1 B 219 Doyargii-u yrasidl a2 cazd Aoin 8.

(C) At [3Hd 2 Alyargii-i yrasi-l a3 Alul 2ivi .

(D) A4t [3Hd wi 3251290 Mogazgril yRast u 2142 adl .

DAnHiell 53 (At 2 9. (il A 2udcniodl i [Aseu-dl uieoll 21
1. yRast vl u-l ould yasimi [Adel 24 dsian yad 8

11. yRasl el ould yasini asirl »adn s2isl yad 8

11, 2% yRasi-l wu el d2s oUld 52 di d Yasiui a2isl yad 8

IV, yRastdl vt uR GuHl drg-l auld yrasi-i geuni a2isi yad

@) () (B) (11) 244 (111)

(C) (1), (11) 244 (111) (D) (11), (111) 244 (1V)
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128.

129.

130.

131.

132.

133.

Which of the following statement(s) about Giffen goods is/are incorrect?
Choose the correct option from those given below the statements.

I. Demand curve for Giffen goods is positively sloped

I1. Giffen goods are those inferior goods which violate law of demand
I11. Giffen goods are speculative goods

IV. All inferior goods are Giffen goods

@0y B) (1) & (1)

(©) (1) & (1) (D) (1) & (1V)

If demand for mangoes increases due to an increase in the income of consumers then it can be
said that

.the demand curve will shift to the right.

(B) the demand curve will shift to the left.

(C) there will be downward movement on the demand curve.

(D) there will be an upward movement on the demand curve.

Which one of the following statements with respect to price elasticity of supply is correct?
(A) If inputs required for production are easily available then supply will be inelastic

(B) If entrepreneurs are willing to take risk of higher output, the supply will be less elastic
(C) Perishable goods are relatively more elastic in supply than durable goods

.Supply will be less elastic in case increase in production causes a substantial increase in the
cost of production

If price elasticity of supply of a commodity is infinite, which one of the following statement will
hold out to be true?

(A) supply curve of such a product will be vertical.
.supply curve of such a product will be horizontal.

(C) supply curve of such a product will be indeterminate.

(D) supply curve of such a product will be downward sloping.

Which one of the following statements is true with respect to the relationship between factor prices
and supply of commodity?

(A) there is no relationship between factor prices and supply of a commodity
.factor prices and supply of a commaodity are inversely related

(C) factor prices and supply of a commodity are directly related

(D) change in factor prices do not affect supply of a commodity

Which of the following statement(s) is/are correct? Choose the correct option from those given
below the statements.

I. Movement along the supply curve depicts expansion and contraction of Supply.
I1. Shift of supply curve depicts increase or decrease in supply

I11. Rightward shift of supply curve indicates decrease in supply

IV. Upward movement on the supply curve indicates decrease in quantity supplied

@) s (B) (11) & (111) (©) (), (11) & (111) (D) (1), (111) & (1V)
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134.

135.

136.

137.

138.

A2 WA su s 1okl 2uoudl W vissiula uglazil 2y awani 2ud 97 [Qa-l 0

sy [aseuinidl = [Aseu-ll vigoll s2i

1. tissin=lla uglaxil AaulAs €.

1. 2Ais312uA1 uglautl alsaaalae Ysq 6.

1. 2is312u-02 uglail calzaasl .

IV, wtissiausll wglail [sudi A ddeal v 2uaRdq 69,

(A) (1) 244 (1) (B) 5 (11) .(I) 214 (11) (D) (1) 24 (1V)

A2 2uia Qe widl sy [Qaq 2 972
@5 o azgi X 21 Y yRs B, dl X A Braui aszl acudl Y w2 womi a2 adl.

-

(B) A 6l gl X 21 Y 425 69, dl X L (Buani atuRl 2 Y el womi asiri g9

(C) %L 6l ARG X A1 Y 2142 69, dll X il [EHani atul aaidl Y -l Hiowmi a2usi a9
(D) A X &5l A Sid dl A5 -l 205 atdl X Hie-l HIHE a L A3l.

HioL L 2u0ul A oty DA-unisdl 54/ sun Qe [ e 697
e [Asedinisfl e [Aseudl wieoll s

1. Zstouou-l 1ol 2uudl Youd Ay-oiRiog-u [Rela dan i 3 9.

1. @iow onon-l Wl uoudl Youed ygicns [Rela dar i ¥3< 9.

11, Hiowl 2uoudl-l Br-atissieu-lu uglazil 2nissienAla uglazil s2qi ay [Quadlu ©.
IV. #ioLfl 2u0udlHl 3¢5l ugla [Rveudi-u sicua uR 2uRd .

(A) () 2 (1V) (B) (1) » (1V)

(C) (1), (1) 2L (1) @), 0, n(v)
yeraall 212212 4 @dldl D2 (-l Hidl sy [Qan vwig 87

(A) yaraall e Yl Rigid als ua sinvna 9.

(B) Azmasl vieauani alZaui-l 208 adgs-l A0 sc0Hi 20d 9.
@:oua-dl i vicu yenasl sl sami 2ud 8.

(D) 2i2iHienS A Gelldtrll AsIS1R Scllrll AARAA YEHAE AAWRAHL SAUHL 204 9,

-\

yasi- [Ratusi-u ded A2 2uda [Qanmiddl si/sa [Qamy/faa vigre 82 [Qansd D2 2ude

[Aseuimid) = [Aseu-dl urigall s2i

I. asl wald yast auR €.

1. 582l uR6IL 245 ALssAU Aogagiiol Y61 UR HUR UL 8.

1. Geug st HOLdl A0 Al Yasl U ASIRAHS AU U3 .

IV. uRd& dAHE ARl Yast uR [Qudld 2142 52 .

(A) 854 (1) (B) (11) 24 (111)

(C) (111) 244 (1V) @Guzisa 1A 215 wa R
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134. Statistical methods are considered superior for demand forecasting for which of the following
reasons? Choose the correct option from those given below statements.

I. statistical methods are scientific

I1. statistical methods are free from subjectivity

I11. statistical methods are subjective

IV. statistical methods are based on opinions of experts

(A) (1) and (111) (B) (1) only
.(I) & (1) both (D) (1) & (1V) both

135. Which one of the following statements is true?
.If two goods X and Y are complementary, then increase in price of X will decrease the demand

-
(B) If two goods X and Y are complementary, then increase in price of X will increase the demand
for.

(C) If two goods X and Y are substitutes, then increase in price of X will decrease the demand
for.

(D) If good X is inferior good then with an increase in income of consumer its demand will increase.

136. Which one of the following statement(s) regarding demand forecasting is/are true?
Choose the correct option from those given below the statements.

I. Short term demand forecasting is necessary mainly for taking day-to-day decisions
I1. Long term demand forecasting is necessary mainly for taking strategic decisions
I11. Non-statistical methods of demand forecasting are more reliable than statistical methods
I1V. Delphi method of demand forecasting is based on the opinion of experts.
(A) (1) & (1V) (B) (1) & (1V)
(©) (D), (1) & (111) .(I), (1) & (1V)

137. Which one of the following statements regarding microeconomics is incorrect?
(A) Microeconomics is also known as value theory
(B) Microeconomics studies the economic behavior of individuals
.Microeconomics studies the problem of inflation
(D) Profitability of automobile industry is studied in microeconomics

138. Which of the following statement(s) is/are not true with respect to supply determinants? Choose
the correct option from those given below statements.

I. Technological progress increases supply

I1. Natural factors have impact on supply of certain commodities
I11. Subsidies to producers have positive impact on supply

IV. Increase in indirect taxes adversely impacts supply

(A) Only (1) (B) (1) & (111)
(©) (111) & (IV) @ \one of these

[ASP-2] E
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139, HidL L [Ruw qieu Yoo DA W4 su uRew RaR 28 97
(A) 2042 241 Y25 Argii-l [5Hd (B) wsi-l 2048
(C) s si-Nl urigoNlail @Guzisa W8 aum

140. A 2uda [Qal widd sy 0 92

@ulis axguidl Bua eacasi 2ud 8, 51203 21694 dRaddl AaE-iql Guaiol 2udl axgii- G
LE-HE SRaAUHL 20d 6.

(B) telust-l cuy oL Hall2d 6.
(C) yaraall Ao A AHAAE] 21221201 isoilond] AyLiul ad-1 €.
(D) crdagll 21duzat 24 sl 2Renal U 2uHRd 9 deal ur &,

141, AidAIA [@As1 A8 (IDA) Aoilfd 1A 2uden [@Qanl 2u-ui Al
I. 2AldRANU (A1 0181 24 (A2 6ls oga-u “Als2 din [[A=51 a5 2iinvuy 8.
1. 2idRAE1A (A5 o8 2l g2l Al Yo dirt 2l Aol aaisami Hee 52 8.
1, a3 [t A28 il 22 AGe Y3 Wl 8 5 ¢ 2i6dl2 sardl anueldl s o
A 2uuan [Asey widdl i [Qseurll urigoll 521,
@i e Qe e 8.
(B) [t (1) viig € 2 [t (11) 2 (1) w2 8.
(C) 85a [Aauq (111) Y 8.
(D) [t (1) 247 (1) 0 8 1 [Qsun (1) wig 6.

142, AidRglu v @it (IMF) [l DA Hiddl 53 [Qaq vig 97
@:iic220u uvu cigion A e ad 194240 1S ¢dl.
(B) HidRA)U AURUHIIN AGA 22U, ALY, VlLALAL AASIRL HIS AR YA U3l HIS L UELA 53 69,
(C) 190 22U AU LR G101 AL AU 69,
(D) [al3re Guis 85 tided)u - sly eision ol 2ot .

143, Al 2uda WA 53/5u1 2dRARGU AURAY/AL ARSIUELOIRSIUEL €97
(A) YAl L 51201 BeMmadl anzuil
(B) [Al2rdl5201 21 srdamami ail
(C) s 2aell ollon 2ami 2ulds [Qay o sua
@~ »11 () vid
144. 1A 204 widl su gl R 21 [Qa R Aqos (WTO) $u2-L &L Al?
(A) AidR01A RIS (B) $usl A1 5143
(C) Ailas Aul 2R/ 550 @i o s e adl
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139.

140.

141.

142.

143.

144,

Law of demand assumes which of the following factor(s) to remain constant?
(A) Price of substitute and complementary goods

(B) Income of consumers

(C) Tastes and preferences of consumers

@~ of the above

Which one of the following statements is true?

.Economic goods are priced because scarce resources are used to produce them.
(B) Scope of economics is very much limited.

(C) Microeconomics and macroeconomics are completely independent of each other.
(D) Positive economics is based on opinions of economists and not on facts.

Consider the following statements regarding International Development Association (IDA):

I. International Development Association (IDA) is known as soft loan window of the World Bank
Group.

I1. International Development Association (IDA) helps the poor countries to reduce poverty by
providing interest = free loans.

I11. International Development Association (IDA) provides grants to countries having severe debt
problems.

Choose the correct answer from the options given below:
.AII the statements are correct

(B) Statement I is incorrect & Statements 11 & 111 are correct
(C) Only statement 111 is correct

(D) Statements | & Il are correct & Statement I11 is incorrect

Which one of the following statements about International Monetary Fund (IMF) is false?
.International Monetary Fund (IMF) was established in 1942.

(B) International Monetary Fund (IMF) provides loans to member-countries to finance current
account transactions.

(C) 190 countries are members of International Monetary Fund (IMF).
(D) Special Drawing Rights (SDRs) is related to the International Monetary Fund (IMF).

Which of the following is/are the disadvantage(s) of international trade?

(A) Problems arising out of dependence

(B) Specialization and increased efficiency

(C) Transmission of economic disturbances from one country to the other

@soth (A) and (C)

Trade in which one of the following areas is not a part of World Trade Organization (WTO)
agreement?

(A) International investment (B) Clothing and textile

(C) Intellectual property rights .None of these

[ASP-2]
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145.

146.

147.

148.

149.

150.

151.

152.

153.

RuRd- [Ag e a1 AeHHE 2 AlssUU $EL AS1A 5 19911 YHIRA GUE AR - GDPIRITR .........

(A) Ruz 28l 8. (B) a2l 8. @ 5. (D) 2uMis A5 ua AR,
sdR5l ARl drigil geil suL vidmi R 2ud 6

@-v4 vud (B) 34l viig, (C) -ueudla vig (D) 2528 vug
ARl dat-it g vl vl o d sam 3l vidimi ........... HRAGIR SIAU 6.

(A) gL @i (C) AuMdal (D) 58 54l 1 us

SIDETRCETEIRITEINCIN
I 2Rl wRusl [Rorm Geurg Sl dey [Bid Gaue Sl S il Hi2 N8R Astrll AU QI UEIA 52 69,
1. [Q% 615 o2 i Azl a3d 9,

1, 81 Yrt: [Ruie 241 (s el xid2ndl oivs (IBRD) 1L 22us ueaimisll 45 8. ¢irdn 1
ol ABnsyl2a 35221 6ll$Hl sl 2 s1rami 2u .

A2 2ugcn [aseuimidl 2 ool wrigoll 51

(A) st [Qau-l e 69,

@t (1) v B 2 [Qa (1) 27 (1) 220 8.
(C) situ [Qau-il wiar 69,

(D) [t (1) 247 (1) = 8 2 [Qsun (1) wig 6.

2 daqui-2 6ls (ADB) 4 ag Has sul eani Rad 69?

(A) MU1Rd (B) tidenal (C) A @G s

a3u 21 [Bau-l gl2at vualo A anaouo efaud airdnl (gl caw (gl Aladazd sé) as 5
K A

@ ay o (B) &<ls3uL 2y &

(C) uanad @ & (D) SRl 2 qui 8.

auRda-dl sia-l [Q2ell camr Ald sai Yol donaus 92

(A) B4 2021 (B) e 2021 @2 2021 (D) AR 2021

cuRadl dugaidl gl g, vidMl e $id dl AiRdld 3R yeu uR d-l g xR aadl deua-
QuIR 897?

@ (B) yeuaH- (C) 81 $2s12 AR wa (D) 5l sy R

A2 2utien [Qa-inidl sy (Qanq 2 92

(A) Aaigadl el vue a2isan 12 ez oixs [drdd usudla Dld 2u-iadl AdA.
@z g vua raisa w2 vz 63 AgRA uudla AR 2u-iad) A,

(C) Aaigal el vugr a2isal 1S e ixs AUl wusla Dld 2u-iadl A4,

(D) Awgrirl el viier a2isan Hie Heae oi-3 [Ruam 2usRd weufla Dld 2ru-iadl A1,
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145.

146.

147.

148.

149.

150.

151.

152.

153.

In the context of India’s foreign trade it can certainly be said that after the reforms of 1991, trade
to GDP ratio has

(A) remained stagnant (B) decreased
.increased (D) none of these

Unilateral payments are recorded in which account of the balance of payments?
.Current account  (B) Capital account (C) Financial account (D) Unilateral account

Deficit in the current account of the balance of payments will always equal in the capital
account.

(A) Deficit @surpius (C) Equilibrium (D) Difficult to tell
Consider the following statements

I. International Finance Corporation (IFC) provides loans to public sector enterprises for
productive as well as unproductive purposes

1. World Bank group consists of five institutions

I11. India is one of the founder members of the International Bank for Reconstruction and
Development (IBRD). It has been allotted a permanent place in the Board of Executive
Directors of the Bank.

Choose the correct answer from the options given below:

(A) All the statements are correct

.Statement I is incorrect & Statement 11 & 111 are correct
(C) All the statements are incorrect

(D) Statement | & Il are correct & Statement 111 is incorrect

The headquarter of Asian Development Bank (ADB) is located in which country?
(A) India (B) Bangladesh (C) China @-nilippines

Over the period of planning in terms of composition & direction, it can conclusively be said of
India’s foreign trade that it has

.Become diversified (B) Become concentrated
(C) Remained the same (D) Been monopolized

The latest foreign trade policy of India has been extended till when?
(A) April 2021 (B) July 2021 @scptember 2021 (D) December 2021

If there is a deficit in current account of balance of payments of India what is more likely to
happen to the value of Indian rupee?

.Depreciation (B) Appreciation (C) No change (D) Cannot say

Which one of the following statements is correct?

(A) In order to reduce deficit in balance of payments the central bank should adopt expansionary
monetary policy

In order to reduce deficit in balance of payments the central bank should adopt contractionary
monetary policy

(C) In order to reduce deficit in balance of payments the central bank should adopt flat monetary
policy.
(D) In order to reduce deficit in balance of payments the central bank should adopt rule-based

monetary policy.
[ASP-2] m
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154.

155.

156.

157.

158.

159.

23054 (EXIM) ol [Agl 1A »udan [Qan-imisdl sy/sa [Qay/faaq =i 8 Qa4 2udea
[ascuiniddl a2 [asey Hl waigoll s2i.

1. 2[5pu sl 2auu-u au 19824 48 dl.

1. 19814 UUR AAAL AsAULE SHUIE 6ivs 2is Slsar 2is2 d6n wi[Zom 615+l 2eu-u sl 2udl gdl.
1. 2iZosu oisN 511208 cudla Rad 615 - dad giL Aauldd €.

IV. 2U[5oH 6ls [RsiasRia wal 2uuad wde 52 8 snaidasrit 4l

@) 2 () (B) (11) 24 (111) (C) (1) 211 (1V) (D) (1) 24 (1V)
anl 1991 udan tuRd-l (22 carwr -ad NAMiG/Mi $3/5U1 He /M8l ARSI Sd/SdlL.
(A) 2Ad A2 40 (B) 2uld ¥igall

(C) yal s ulasis @~ 211 (B) vid

RURARE HAHT Ysddl 2uud Gerdlsrul AUl 2iol Dal-unioll 53 vis [Quq w2 972
(A) 19519 »naid Gerdlsl Alld awdy seaumi »udl.

(B) 2uld Gerdl sl Al St 2ua1d sqi2t AHAHE U Sl
@>vua Gard sl la 1980 #l 2iHani 2ud) sdl.

(D) udld vRat-ustl 2id Geidlsadl Hlldd necad qam ¢d.

(A2 iR e (WTO) [Agh Al [l aun v al

1. [ w2 {2+ (WTO) -l 2eu-it 1 2y, 1955+ 2% sl 24tdl el 24 srqui 190 sal (4
dWIR 2SI UL 8.

1. [ R s 1 2Ll AG~3+l Al 4 ulReun ©

Bu 2uudl [Qau-i-u Ageiui DAL sul [Aseu 0l 9.

(A) i [Qannl 0 69,

(B) [atunt (1) vilg € 2t [t (11) 3 €.

@:in Rl via 8.

(D) [t (1) 0 8 i [QtunL (1) wig 8.

A2 (el Luq R @l

I GURA Yoo 2uatd ¢HlleiRl A, 18R, UAE, 1168l 21610 14 Racdrs 8.

1. R Yo [Asia qelleRl UAE, 21Rst [Riony 244 Al

[, 2uAEl uel (A2 AMRHE IR GIRL Al AR 46i8] 24 A2l 221[0d A 9

Gur 2uua [Am-iwidl sy/su (@l e 8. Al 2kar [@sainifl e gl
uigoll s

(A) =2 (1) (B) *u= (11) (C) (1) 24 (11) i @), (4 any
(A2 cuuwr s (WTO) - [Rudl sigaR 5[ aadl awn 1e=ldl ¢ cnurd 21adl a3 ©. df
aolls2e su1 eliaHl sl 2ud €97

@)=z (Amber) (B) dleu

(C) angull (D) swu
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154. Which of the following statement(s) about EXIM Bank is/are true? Select the correct option from

155.

156.

157.

158.

159.

the alternatives given below statements.

I. EXIM Bank was established in 1982.

I1. EXIM Bank was set up under the Export Import Bank of India Act passed in 1981.
I11. The operations of EXIM Bank are governed by the Governor of the RBI.

IV. EXIM Bank prefers giving finance to exporters and not importers.

@z (B) (11) & (1) (©) (1) & (1V) (D) (1) & (1V)

Which of the following was/were important feature(s) of India’s foreign trade policy before 1991?
(A) Import substitution (B) Import controls

(C) Total export prohibition .Both (A) and (B)

Which one of the following statements is true about import liberalization policy implemented in
India?

(A) Import liberalization policy was implemented since 1951.

(B) Under import liberalization policy import quotas were brought in force.

.Import liberalization policy was implemented since 1980s.

(D) Import licensing was an important feature of import liberalization policy.

Consider the following statements about the World Trade Organization (WTO):

I. The World Trade Organization (WTQ) was established on 1st January, 1955 and presently 190
countries are members of WTO.

Il. The World Trade Organization (WTO) is the result of the Tokyo round of discussions.
Which of the following options is correct with respect to the above given statements?

(A) Both the statements are correct

(B) Statement I is incorrect & Statement Il is correct

.Both the statements are incorrect

(D) Statement I is correct & Statement 11 is incorrect

Consider the following statements:
I. India’s main import partners are China, USA, UAE, Saudi Arabia and Switzerland
I1. India’s main export partners are UAE, USA, Singapore and China

I11. After independence, new trade relationships and policies were established by India in
foreign trade

Which of the statement(s) given above is/are correct? Select the correct answers from the
options given below:

(A) Only (1) (B) Only (I1)
(C) Both (1) & (11) @) anyand (1)

According to World Trade Organization (WTO) rules, all subsidies to the agriculture sector which
are supposed to restrict trade fall into which box?

.Amber (B) Green
(C) Blue (D) Black

[ASP-2] m
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160.

161.

162.

163.

164.

165.

166.

167.

2015-2020 uRaxl Al [A2 2 iz Alld 2431 DA-unidll 53 [Qaq vig 97

(A) 1l AUl 5% axgil 21 Al tid-l [Rs aarad ©.

(B) d sl u0dl (Ease of doing business) U2 ULl &air Sl 53 €9,

(C) el Alld vidola 8 21 1525 Azl [AsuA Aot 2iual uarai dami i 8.
@10 [ i g 2022 Yl [z cwrnui il R0 [ e 109 YA atRard 8.

AIRAT AdHIT 576 ARSI AR HALAAHE QL A% UL 5181 697
(A) Ry A @110 s152
(C) %u2isR (D) AlZasiva 1

w2 HelHidll etz draal w2 eurdly Rad 6s (RBI) 1A U4 g 539 a5 97
(A) 2l 32 214 Raad Jul 32 wewdl

(B) vieal t1oul 12513 Ll wileal.

(C) 53 AUHA UM (CRR) 241 AAS A53dL (SLR) UHMHE B2Lsl 290,
@Gurisa salda amn

Dauniddl 54 245 3o walfs vuan s Ad cavalid 52 97
(A) walis vug = o2 vl — euor ysaslluil

(B) wa®is v = Hdyd vigl — cuor Ysanfll

@ vue = % sillu vue - s ysaellzi

(D) Wwal@s vue = A sidla via + e ysasilail

5% USIR UL MM AU A1 6] 2151 217 vl e s WS SR FUGER 97
(A) e H-il (B) aldiosu 3-{l
(C) iz H:Al @i 21w R0l udlas (CAG)

SPIRRIAL 58 SAHUL 55 AR AUEA i AL UHA 2iEUFd 2nas 214 WA AL alls weusly [Rdeq
U sl U 53 €9,

@2 (B) 114 (C) 115 (D) 116

cURAHE RSl Alldrl 83dR 2 AHA HIE ... FAUALIR €9 A HIRAHI A% S DAl 43dR 2
VHA HLS ..., FAHEIR ¢,

(A) weuH=Al, cudly Rad 6is (B) uxzuld, w3l

(C) neutH=A, weus-Al @12 Rosed 6, -waus-

A2l W 54 aositfla Al a 4e?

(A) 82 84 @15 vuma wua

(C) Ut $421 (D) A8 W
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160.

161.

162.

163.

164.

165.

166.

167.

Which one of the following statements is incorrect regarding India’s new Foreign Trade Policy of
2015-2020?

(A) The focus of the new policy is to increase exports of both goods and services.
(B) It also focuses on improving the ‘ease of doing business’.

(C) Under the new policy, measures have been taken to give a boost to exports of defense and
hi-tech items.

.The policy aims to increase India’s share in world trade to 10% by 2022.

Who is the Minister of State in the Finance Ministry of the current Central Government of India?
(A) Nirmala Sitharaman .Anurag Singh Thakur
(C) Jay Shankar (D) Shaktikanta Das

To lift the economy out of recession what can the Reserve Bank of India (RBI) do?
(A) Decrease repo rate and reverse repo rate

(B) Purchase government securities in the open market

(C) Decrease Cash Reserve Ratio (CRR) and Statutory Liquidity Ratio (SLR)

@~ 1 of the above

Which one of the following formula best defines primary deficit?

(A) Primary deficit = Budget deficit — interest payments

(B) Primary deficit = Revenue deficit — interest payments

.Primary deficit = Fiscal deficit — interest payments

(D) Primary deficit = Fiscal deficit + interest payments

Which authority is responsible for auditing all receipts and expenditure of the Central Government
and all State Governments?

(A) Finance Minister (B) Commerce Minister

(C) Audit Minister .Comptroller & Auditor General of India

Which Article of the Constitution requires the Central Government to lay an annual financial
statement of estimated receipts and expenditure before both Houses of Parliament?

@2 (B) 114 (C) 115 (D) 116

is responsible for designing and implementing monetary policy in India and is
responsible for designing and implementing fiscal policy in India.

(A) Finance Ministry, Reserve Bank of India
(B) President, Prime Minister

(C) Prime Minister, Finance Minister
.Reserve Bank of India, Finance Minister

Which one of the following is not an instrument of fiscal policy?
(A) Public debt .Cash Reserve Ratio (CRR)
(C) Direct taxes (D) Public expenditure
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168. uRdly Rad cisl -uvudla Alla Aulald (Monetary Policy Committee)di .......... ARAL 89,
(A) 2 (B) 3 @:- (D)9

169. QA-uuisl sy/sun weudla Ala-w wRnmeucs aas Rua-l 97
(A) v HuoiH) (B) 615 €
(C) viecu o1oa Al Al @) 1 (©) vin

170. edAq Helidl o112 alaal e AsR 1A 2uial [Aseuinidl g 5297
(A) $ARA UL QIR 27 Uldl-l WAL "21381
@220 £2ui v216l 27 vldru vidui auRl
(C) $4RAU £ A Ullll WA siui aIRd
(D) $2ARAL € A Uil W oidHi 821l

a

171, suRdla Rad sl Aeudla Dla-u Aecini DA WA 54 245 [ 0 82

AN A

@:oucun igami a w2 curdla Rad 6ls 3ul 324l ARl 539 1A w51 020 vyea
o 2ARHU] A

(B) souci 2igani Avial W curdly Rosd 6ig ul 324l 8218l 528 w1 125131 al-olldlain vicea
024 wRledl.

(C) g2ucA igani AviaL w2 cudlu Rad

'\\‘\ =\

Yl 22 atirgl 214 Rax ul 32 g2134l.

-

o5 2
(D) gouaiA HigaHi vt W2 turdl Rosd 6ls uiR2 82139l 244 [Rad ul 22 auiral.

172. GIRAHL 7% AR 0182 5181 dUIR 52 697

(A) aldiosy {4, HIRd AR (B) -UBW HALEY, HIRd AR

@15 cnotdig Honay, curd w81 (D) tA%2 HALAY, MIRA URSIR
173, [Ruy w1l udal o172 AUE- $UL ASHE 9 sAUNL 2ud 87

@isucu (B) RA%U AL

(C) -au -l HR2 x4 AIR AH (D) 204l $i5 [Ruw -l

-

174, suRdla Rad s g g0 wusla A A 21 Qi U4 54 aa?
@ uair qnami cuy 2 veal.
(B) 1% £u1 H2L3L AL AHIRL A A3 69,
(C) G-I AHAML ALY €2 AU,
(D) el el Al il @diq Wl ol |ion A4 cudla Rad 6l Wi amsl.

175. MIRd U2 cuel ed suidl ad as?
(A) [A2ell u5121 widl (B) id1)u Audlu Aenil il
(C) [A2arut 22 tromRinie @~ 11 (B) vid
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168.

169.

170.

171.

172.

173.

174.

175.

Monetary Policy Committee of the Reserve Bank of India (RBI) consists members.
(A) 2 (B) 3 @:- (D) 9

Which of the following is/are quantitative instrument(s) of monetary policy?
(A) Credit rationing (B) Bank rate
(C) Open market operations .Both (B) and (C)

To lift the economy out of recession, what will the government do from the below given options?
(A) Increase tax rates and decrease its expenditure
.Decrease tax rates and increase its expenditure
(C) Increase both the tax rates and its expenditure
(D) Decrease both the tax rates and its expenditure

Which one of the following statement is true with respect to the monetary policy of Reserve Bank

of India (RBI)?

.To control inflation Reserve Bank of India (RBI) will increase repo rate and sell government
securities in open market

(B) To control inflation Reserve Bank of India (RBI) will decrease repo rate and purchase
government securities in open market

(C) To control inflation Reserve Bank of India (RBI) will increase repo rate and decrease reverse
repo rate

(D) To control inflation Reserve Bank of India (RBI) will decrease repo rate and increase reverse
repo rate

Who prepares the Union Budget in India?
(A) Department of Commerce (B) Department of Finance
.Department of Economic Affairs (D) Department of Budget

According to the rule, where is the budget presented first?
@0k sabha

(B) Rajya Sabha

(C) Anywhere depending on the discretion of finance minister
(D) There is no such rule

‘Accommodative’ monetary policy stance of the Reserve Bank of India (RBI) means which one of
the following?

.Interest rate will fall in coming times
(B) Interest rate may be cut down or increased
(C) Interest rate will increase in coming times

(D) Reserve Bank of India (RBI) will accommodate all the demands of commercial banks for
additional loans

From where can Government of India borrow external debt?
(A) Foreign governments

(B) International financial institutions

(C) Foreign stock markets

@soth (») and (B)
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176.

177.

178.

179.

180.

181.

182.

183.

MU AR §A SUML $UL USRI 2l ALl Hiel 5101 972

@:ialzs 2 (B) bugl 2 (C) [a2al &4 (D) 584 43 &
BUHUA Al Hddl 2Uas USRI 61%2 AL SUL VAU £ sl 6 697

(A) 18y viig, @0 vy

(C) -uRusla ving, (D) BURlisd salda sidul

QuRdAHE -wensla Hllag you qz g 92
(A) alg exui atRl (B) ul AU, A%
@< Razall viad (D) RR1A €2 Ruad vudd)

A2 2udauidl 59 suoidl Al 8 3 % e [Buer AMlA (The Public Accounts Committee) 4 %8R
18l u+ll AlAld (The Committee on Public Undertakings) &at-Hi & €9,

(A) 28R 2148 (B) 18R e4
4
[ CREREE (D) dg, 249 Al $2 (GST)

A2l W 59 215 (A 09 697
(A) 1aHi 36 4512+ A sifly vig Ul a2l 25 251 g2dl .
(B) Ry sidlu raeigld] i o1y Aa1en 5196l (FRBM Act) 200441 VAR Yl gdl.

@2011-12-1 A2 AR 612 USRS HEYA VL L VAL R0 SUNE UL Sell.
(D) ‘4l A3 ivs v vsau[aA0’ (WMA) dlog-il ad 197741 a3 a8 edl.

RURAHL Glsinl s ARl DA 2uden WA sy [ 0 97
@ 19504 & Gisig dlusw ay

(B) 196941 15 tisid Asdlus0 2y

(C) S1ani (idui 22 %24l Asdlugd G5l &

(D) A¥)use) tudui GilFsordl amm Anzul sa a8 6.

A1 U £y [Qann wig 97?

(A) Yoot AU 815, 5121 6ivs ir 615 28 61R131 21 AR 08 &xtHl 6lsl 69,

(B) HDFC ti~s [a[®23, ICICI 6i+s [A2s 24 AXIS tirs [Alf23s 2 cudui vurdll &l oisi 69,
@00 Aol Gl usR 121 Rl sreumi 204 8.

(D) [Qesll &at-l eisi Rasd oirs 2iis SlRsun gil [R[Rd scumi 2ud 9.

56 AMRA[A2 asdl 5[ 217 wdlw [As1 s (National Bank for Agriculture and Rural Development)
AL HIZ MAmeL 531 8dl?

@ 212wl (B) R[Rsn uA
(C) 2o ulAld (ERENERIRIR
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176. Which type of debt constitutes a major part in Indian Government’s total debt?

.Internal debt (B) External debt
(C) Foreign debt (D) Difficult to say
177. Income earned by selling an asset is to be entered in which account of the budget of the government?
(A) Revenue account .Capital account
(C) Financial account (D) Any of these

178. What is the chief goal of monetary policy in India?
(A) Increasing the growth rate
(B) Generating full employment

.Ensuring price stability -
(D) Ensuring exchange rate stability

179. Which of the following is/are matter(s) that The Public Accounts Committee & The Committee on
Public Undertakings look into?

(A) Public revenue (B) Public borrowing
.Public expenditure (D) Goods and Services Tax (GST)

180. Which one of the following statement is true?
(A) Currently fiscal deficit of the Central Government is around 25% of GDP.
(B) Fiscal Responsibility and Budget Management (FRBM) Act was passed in 2004.
.The idea of effective revenue deficit was introduced in the budget of 2011-12.
(D) The Ways and Means Advances (WMA) scheme was started in 1977.

181. Which one of the following statements is true with respect to nationalization of banks in India?
.Six banks were nationalized in 1980
(B) Fifteen banks were nationalized in 1969
(C) Presently there are 22 nationalized banks in India
(D) Nationalization has solved all the problems of banking in India

182. Which one of the following statement is incorrect?
(A) Punjab National Bank, Canara Bank and Bank of Baroda are public sector banks in India.
(B) HDFC Bank Ltd., ICICI Bank Ltd. and Axis Bank Ltd. are private sector banks in India.
.Private sector banks are regulated by the government.
(D) Foreign banks are regulated by the Reserve Bank of India (RBI).

183. Which committee recommended the setting up of National Bank for Agriculture and Rural
Development (NABARD)?
.Sivaraman Committee (B) Narasimham Committee
(C) Rangarajan Committee (D) Kasturirangan Committee

[ASP-2]
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184.

185.

186.

187.

188.

189.

cuRdHi tisi-i [l 200 DNA-unidd sy [Qa/laa-l /87
(el 12 2uden [Aseulnid) i [Asew uwie 52U

. 2020 Hi £+l 6isg [Aau 615 s ARAINHT SAUHUL 0,

11. 2016 Wi cudla uldan 6is Al [y 222 oi-s 25 S[Fsuni s 20y
[11. 1993 Hi =Y 5 25 SlFuinl [Aau uomer daqa Sisui s 2ucl.
IV. 2020 4l 2l ciwsil [dau 2udfaud2us ciesui s 2ucl.

(A) (1) 244 (11) [ DESYUD! (C) (111) 244, (1V) (D) (1) 244 (1V)
.......... A Audla A Y3 uisan-l »uaudl Yai (MUDRA) tiss<l 22iu-L sai »udl €97
@z Gailoll (B) @ 247 M, 5511 Gelloll

(C) Hi2l se- Gelloll (D) (B) 241 (C) b

MIRAUL YA -2 oirsl 2AoiAd DA-umidl sy/5u0 Qay/Qanl /0 9. [l A 2uda [@asaiuid
a1 [Aseu-l uiedll su.
I U2 ol=sl d-il A8 514 (B di 20 asdl 4l

N

11 UH~2 oiesl d-l A8 51 WAl aua s as 6.

A

1. Q-2 oi5t 3[B12 518 2udl as 9.
IV, QHr2 oi-gl 3032 518 2udl asdl Al

(A) (1) 244 (11) (B) (11) &4 (111)

(©) (1, (1) @=L (1) @), (1, = v

aM 20024 1R 58 AR Mennw u SARFAESI $1ugl @) sul?

(A) Bl v vl (@R afl (C) vt Al (D) A, . anl wld

auRdi wels wHlv 6ist (RRBs) 2491 l-unisdl sy/sun [Qaqy/Qsnl iy 9. [@Qun 2 2uda
[Aseulniol 2 [Asen Al uaieoll 52l

1. €igll ulAla-Dl crnma ur wels ardla Glsi(RRBS) Al 2a0u-i s 2udl gdl.
1. e s e sist Al 2au-i ad 197541 sl 2udl edl.

. e s ueilor sis0 2y Hlel [t e il cisidl Raleaia ami vl d Raleie
&R sa-ll Gl sraumi 2udl edl.

IV we s aule elsi wiae e Geiloll A aiou duvurl did Mgid 53 69,

A (1), (22 v) @ A any (C) (111) 11 (1V) (D) (1) 21 (11)

MRAHL M8 &l vilrsoir el AA-umidl sy/su [Qumy/fda- wey wen 8. DA 2
[ascuinidl 2= oo |l uigall s:l.

I. 222 bivs 2is Slrsur N8R &l oo Alddl Hidl 6is ¢,

1. Brsidan Rasdi- amzu 24 08 axdl oisi Hl M Alauws a1z 6.

111, 28R &l Gl5IHL A1 214 AUl R 615 bin git (A= i .

IV. adl 2021-22+ 612 Hi U512 N8R &l oisid virdllse sa-l omdud 530 6.

(A) (11, (1) 244 (1V)  (B) (111) 244 (1V) @) A (1) (D) (1) 244 (1V)
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184.

185.

186.

187.

188.

189.

Which of the following statement(s) regarding merger of banks in India is/are true?
Select the correct option from the alternatives given below the statements.

I. Bank of Baroda was merged with Dena Bank in 2020.

I1. Bharatiya Mahila Bank was merged with the State Bank of India (SBI) in 2016.
I11. New Bank of India was merged with Punjab National Bank in 1993.

IV. Axis Bank was merged with ICICI Bank in 2020.

(A) (1) & (1) @z (©) (1) & (1V) (D) (1) & (1V)
MUDRA Bank has been set up with an objective of providing monetary help to
.Micro enterprises (B) Small and medium scale enterprises
(C) Large scale enterprises (D) Both (B) and (C)

Which of the following statement(s) regarding payments banks in India is/are true? Select the
correct option from the alternatives given below the statements.

I. they cannot give loans to its customers

I1. they can accept deposits from its customers

I11. they can issue debit cards

IV. they cannot issue credit cards

(A) (1) & (IN) (B) (I & (1)

(C) (D), (1) & (111) .(I), (1, (rn & (1v)

On the recommendation of which committee did the government implement SARFAESI Act in the
year 20027

(A) Urjit Patel Committee .Narasimham Committee

(C) Khan Committee (D) M S Verma Committee

Which of the following statement(s) regarding Regional Rural Banks (RRBs) in India is/are true?
Select the correct option from the alternatives given below statements.

I. Regional Rural Banks (RRBs) were set up on the recommendation of Doshi committee.
I1. Regional Rural Banks (RRBs) were established in 1975.

I11. Regional Rural Banks (RRBs) were established with an objective of addressing limitations of
public sector banks in rural areas.

IV. Regional Rural Banks (RRBs) advance long-term loans to large scale enterprises.

(A) (D, (1) & (1V) .(II) & (1) (©) (1) & (1V) (D) (1) & (1)

Which of the following statement(s) with respect to public sector banking in India is/are true?

Select the correct option from the alternatives given below statements.

I. State Bank of India (SBI) is the second largest public sector bank

I1. A very significant problem facing public sector banks is that of non-performing assets (NPAS).

I11. Public sector banks are regulated by both the government and the Reserve Bank of India
(RBI).

IV. In the Union Budget of 2021-22 the government has announced privatization of three public
sector banks

(A (I, (1) & (V) (B) (111) & (1V) @ sy D) () & (1V)

[ASP-2] E



GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


190.

191.

192.

193.

194.

MRAHL AWl ols AL el DAl sy/sa R/l a0 9. Qanid DA 2t
[aseuiniall i [Aseu Al urigall 521,

1. 65l -2l el 2 o812 Wil asdl =ell, udg dil v U a5 ©

1. A [Buami 3uidlRd sal uldad v 19 a3 2invami 2ud 8.

1, Akl 6lst gL wru < 2ARRd aHu e 01y 8 8.

IV, A58 UHA UHIAHE AHIR] G5 G121 A At A% 8213 6.

@), 1nxiav) (B) (1) 244 (11)

(C) (11) 21 (1V) (D) (11), (111) 24 (1V)

auRdHi quidl eilr5o A dedHl curdla Rad ols (@l A il sy/sa [Qany [@Qanl = 97
(Al AL DA 2uten [Aseuinidd i [Aseu uwie 2.

I Rl 6irs 25 SF3UL (RBI) itHd UHRLAL 3UHD d-ll Wl 2-iHd U Al Gsl 1 518 ey
uudl 4l

1. Rared 65 215 SIRA(RBI)U 52A%uld 617U €9 5 1009 A4UAS A 53l nHIR 12513 ll-lld-u
23U i gl A,

1. R o5 25 SlFsu1 uladl 422 uidl 2 d tlsg asdluse 53 a5 ©.

1V. 1992 ugl AeilAs A 53l UHRAHL U 82131 SAUML A1l 89,

(A) (1) 4 (111) @) v

(C) (11) 244 (111) (D) (111) &A1, (1V)

Gi[F5o1- AE UL CBS 2i2d ...

(A) Central Banking System .Core Banking Solution
(C) Core Banking System (D) Circular Banking System

GURART RYAA 53 A58 AU NEL 5l Nan d2a 56 ¢dl?

(A) SBI 44 53 (B) PNB 4414 §3

(C) 311 G- AGISEL WA §3 @Rz 222 viis Sz (UTH)

Aia 2aRll ylaw (Marginal Standing Facility) 24 ul 22 [ag Dadumidl sy/su [Qusy

([Qtu-l = 97
[@QaAl Al D2 2uden [Qseinio 0l [@seu urie 3.

I AlHid 220 ylawd 4, 20119 @y sl >udl sdl.

1. AHid 220l ylam Sson dwidl visl R oiws 2is Slsur wAl adi Ul 22 5L 215 251 AR Y
G ad us 8.

[11. 34l 32 24 1% €2 8 3 B R [l 6ivs wils SlRsun carwid) sist wiidd) U & 6,
IV, 3ul 2ui atuuel Ayl As3dL a8 8,

(A) (1) 24 (1V) (B) (1) 241 (111)

(©) (1) 2 (1V) @) 2 ()
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190. Which of the following statement(s) with respect to commercial banking is/are true?
Select the correct option from the alternatives given below the statements.
I. Banks cannot print and issue currency but they can create credit.
I1. The process of converting deposits into loans is known as credit creation.
I11. Credit creation by commercial banks continues indefinitely.
IV. Increase in cash reserve ratio decreases credit creation by banks.

@ maav) (B) (1) & (1)
©) 1) &(1v) (D) (1, (1) & (1V)

191. Which of the following statement(s) about RBI with respect to commercial banking in India
is true?

Select the correct option from the alternatives given below the statements.

I. Reserve Bank of India (RBI) pays no interest to commercial banks on their reserves with it in
the form of Cash Reserve Ratio (CRR)

I1. Reserve Bank of India (RBI) has made it mandatory that hundred percent Statutory Liquidity
Ratio (SLR) should be in the form of government securities

I11. Reserve Bank of India (RBI) can nationalize any bank at its discretion
IV. Statutory Liquidity Ratio (SLR) has been drastically reduced since 1992

(A) (1) & (1) @nsav
(C) (1) & (M) (D) (1) & (1V)
192. CBS in context of banking refers to
(A) Central Banking System .Core Banking Solution
(C) Core Banking System (D) Circular Banking System

193. Which was the first institution to offer mutual fund investment services in India?
(A) SBI Mutual Fund
(B) PNB Mutual Fund
(C) Canara Bank—Robeco Mutual Fund
.Unit Trust of India (UTI)

194. Which of the following statement(s) about Marginal Standing Facility (MSF) and repo rate is/are
correct? Select the correct option from the alternatives given below the statements.

I. Marginal Standing Facility (MSF) was implemented from May, 2011.

Il. Under Marginal Standing Facility (MSF), commercial banks can borrow from the Reserve
Bank of India (RBI) at the interest rate 1 % higher than the current repo rate.

I11. Repo rate is the interest rate at which RBI borrows money from commercial banks.
IV. Increase in repo rate increases liquidity in the economy.

(A) () & (IV) (B) (1) & (1)

(C) (1) & (1V) @) s )
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195.

196.

197.

198.

199.

200.

M IBETNECTE IR RIERCIR
I. 5as Al sennaia 22 14502 4l wels wdle oisl viaad oiy sy,
1. 2ABa 2020 Y GuRdHi 53 ey arilal sist (RRBs) stid sdl.
111, 222 6ivs i S 21 Gudrl uam nd &l oivs 6,
IV. 1991+ a1 eue uam vl ols ylRe 222 s Slrsan (UTI) ols sdl.
e [Qa-imiddl sy/sa Quy/fa- viigmian 92 Al 2uda [asenidl il orais uie su.
(A) (1) 21 (1V) (B) (1), (11), 24 (111)
(C) = (11) @Gz 2uic Rea-inid 6 R

Flud 2154 Al Aedd-2’ (RTGS) «l Guaiol s 112 20H 2] 2l 2511 QIR Slal ASH?
(A) 3[R 1 cm @z 2 am (C) 3Mau 3 cum (D) 3[4 cm

D2Aunmiol cuRaui s/su1 S Glrsu/i SiReaus/SiRal «2l?

(A) AA8IRAAL WAHL B2131 (B) caasiidl ulzai-ll aulani a2isi
(C) YR A 51l Avan-Al e1rd) @~ 11 (B) vin

A% UL [AAHL (SFCs) WU vvenrevenerenenes HIS Al UEL 42 ¢97

@ a2 Resdl wdlea w2 (B) stlelet yd) 2uvan wi

(C) MR et ysaa W2 (D) st (B w2

Rl ellgyes Al viesiqu Aeeini NaA-unidll 53 2is (A w2y 97
(A) 2Mgyes duidl oisA (il Aod oieg ora o [RuHld wad sadl o3 .

AN

(B) elgyes Awidl eivsil A4S As3dl WHIRL (SLR)U 1€l ud A58 SUHA UHIR (CRR) L HIRRiA
S NEECTIREZN

NN "\

@05 Audl ai-s) A A G4 8 3 cudla Dased ols wRL-1934- el wquRME ulae 8.

Y NN

(D) llgyes Al 651 A AUl 6isl 8 % cudla Axsd ols [Run- wRl-1949 ollen wqyRni uwlae ©.

A

A crvuizil ui Al 2 duidl 56 uval wiél © d vinvi.

(A) 61 22 (Base rate) — d idl 1o €2 69 %+l 41 2llgyes dwidl oisi d-i s siq [Bee 2l as 8.

(B) vieant o2l e — ciedla Ao ols g1 wa sromuisdl 42519 aHloldd daw s Wil

@<zl 2l 22- A 2Adll cuyr €2 B F Al G5l cudla Dosel Ghrg AL 121 st duou 12 Hila B
u Ysd 69,

(D) 615 32 — d lal o £ 89 % Al elsi didla Aod 6ls wAdl dami 2uddl aiououousl dig w2

QuRdld Foel GisA »sa 69,
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195.

196.

197.

198.

199.

200.

Consider the following statements —

I. Government stopped opening new Regional Rural Banks (RRBs) based on the suggestions of the
Kelkar Committee

11. By April 2020, there were 53 Regional Rural Banks (RRBs) operating in India
I11. State Bank of India (SBI) is the first public sector bank in India
IV. The first private bank after the reforms of 1991 was the UTI Bank
Which of the above statement(s) is/are incorrect? Select the correct answer from the options

given below:
(A) () & (IV) (B) (1), (1) & (111)
(C) (1N only .none of the statements given above

What is the minimum amount of transaction required to use Real Time Gross Settlement System
(RTGS)?
(A) Rs. 1 lakh @rs. 2 1akh (C) Rs. 3 lakh (D) Rs. 4 lakh

Which of the following is/are not a disadvantage(s) of e-banking in India?
(A) decrease in cost of transactions

(B) increase in the speed of processing transactions

(C) presence of security and legal risk

@ooth (») and (B)

State Finance Corporations (SFCs) mainly provide loans for

.purchasing fixed assets (B) purchasing working capital
(C) paying labor wages (D) financing exports

Which one of the following statements with respect to scheduled commercial banks in India
is true?

(A) Scheduled commercial banks need not obey all rules of the Reserve Bank of India (RBI).

(B) Scheduled commercial banks have to follow the norms of Cash Reserve Ratio (CRR) but not
of Statutory Liquidity Ratio (SLR).

.Scheduled commercial banks are those that are included in the second schedule of the RBI
Act, 1934.

(D) Scheduled commercial banks are those that are included in the second schedule of the RBI
Banking Regulation Act, 1949.

Consider the following definitions and identify which one of it is incorrect?

(A) Base Rate — it is the interest rate below which scheduled commercial banks do not lend to its
customers.

(B) Open Market Operations — sale or purchase of government securities to/from the market by
the Reserve Bank of India (RBI).

.Reverse Repo Rate - it is the interest rate that commercial banks pay to the RBI on their
short-term borrowings from it.

(D) Bank Rate — it is the interest rate that commercial banks have to pay to the Reserve Bank of
India (RBI) for the long-term loans borrowed from it.

[ASP-2] a
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